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CHEMISTRY

BOOKS - GRB CHEMISTRY (HINGLISH)

PERIODIC TABLE

A.Development of Periodic Table, Period, Group and Block

1. According to Moseley, a straight line graph is obtained on plotting:

A. the frequencioes of characteristic line graph

B. the square of the frequencies of characteristic X-rays of elements

against their atomic numbers

C.the square root of the frequencies of characteristis X-rays of

elements against their atomic numbers.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_6zunhq5DXi5O

D.the reciprocal of the frequencies of characteristic X-rays of

elements against their atomic numbers

Answer: C

° Watch Video Solution

2.The atomic volume was chosen as the basis of periodic classification of

elements by:

A. Niel Bohr

B. Mendeleev

C. Lother Meyer

D. Newland

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_6zunhq5DXi5O
https://dl.doubtnut.com/l/_CcPNkPGCwbZE
https://dl.doubtnut.com/l/_zRbYfip7XD3n

3. Element in periodix table with electronic configuration as [Ar]'®3d°4s
is placed in:

A. 1A;s-block

B. VIA;s-block

C. VIBs-block

D. ViB,d-block

Answer: D

o Watch Video Solution

4. In a given energy level, the order of penetration effect of different

orbitals is

Af<d<p<s

Cs<p<d<f


https://dl.doubtnut.com/l/_zRbYfip7XD3n
https://dl.doubtnut.com/l/_Wq0SMqvu6wYJ

D.p>s>d>f

Answer: A

° Watch Video Solution

5. Atomic number of Ag is 47. in the same group, the atomic number of

elements placed above and below Ag will be:

A. 37,67

B. 29,79

C. 39,69

D. 18,28

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Wq0SMqvu6wYJ
https://dl.doubtnut.com/l/_W9wkfmmm55b6

6. In the periodic table, where are non-metals located?

A. Between groups IIA and IIIA

B. On the lower left hand side

C. On the upper left hand side

D. On the upper right hand side

Answer: D

o Watch Video Solution

7. Which of the following statements is wrong for the transition
elements?

A. Transition elements are placed from 3rd to 6th period

B. Last electron enters in (n — d)d subshell

C. Exhibits variable valency

D. General electronic configuration is (n — 1)d' ~ns' ~2.


https://dl.doubtnut.com/l/_oPCPs8ZNGCTB
https://dl.doubtnut.com/l/_0zJeC0suhXAN

Answer: A

o Watch Video Solution

8. The first element of a group in many ways differ from the heavier
memebers of group. This is due to a)the small size b)the high
electronegativity c)high ionisation potential d)the unavailability of d-
orbitals

A. the small size

B. the high electronegativity and high ionisation potential

C. the unavailability of d-orbitals

D. all of the above

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_0zJeC0suhXAN
https://dl.doubtnut.com/l/_ULQ0TdFpCXeH

9. The statement that is not correct for the periodic classification of
elements is : a)The properties of elements are the periodic functions of
their atomic numbers. b)non-metallic elements are lesser in number than
metallic elements. c)the first ionisation energies of elements along a
period do not vary in a regular manner with increase in atomic number.
d)for transition elements the d — subshells are filled with electrons
monotonically with increase in atomic number.
A.the properties of elements are the periodic functions of their
atomic numbers
B. non-metallic elements are lesser in number than metallic elements
C.the third period contains 8 elements and not 18 as 4th period
contains

D. for transition elements the d-subshells are filled with electrons

monotonically with increase in atomic number

Answer: D



https://dl.doubtnut.com/l/_AdTgfgsUdHm9
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10. Which of the following statement is not correct regarding hydrogen

atom?

A. It resembles halogens in some properties

B. It resembles alkali metals in some properties

C. It can be placed in 7th group of periodic table

D. It cannot be placed in first group of periodic table

Answer: D

° Watch Video Solution

11. According to modern periodic law the elements with similar chemical
and physical properties repeat at regular intervals when the elements are

arranged in order of :

A. decreasing atomic number


https://dl.doubtnut.com/l/_AdTgfgsUdHm9
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https://dl.doubtnut.com/l/_sEu4b38PMFQN

B. increasing atomic weight

C.increasing atomic number

D. decreasing atomic weight

Answer: C

o Watch Video Solution

12. Which one of the following statements related to the modern periodic

table is incorrect?

A.The p-block has 6 columns, because a maximum of 6 electrons can

occupy all the orbitals in a p-subshell

B. The d-block has 8 columns, because a maximum of 8 electrons can

occupy all the orbitals in a d-subshell

C. Each block contains a number of columns equal to the number of

electrons that can occupy that subshell.


https://dl.doubtnut.com/l/_sEu4b38PMFQN
https://dl.doubtnut.com/l/_SubbZDFIepaQ

D. The block indicates value of azimuthal quantum number (I) for the

last subshell that received electrons in building up the electronic

configuration.

Answer: B

° Watch Video Solution

13. Which set does not show correct matching ?

A. 8¢t [Ne|3s%3p° zero group
B. Fe* " [Ar]3d° 8th group
C.Cr[Ar]3d°4s' 6th group

D. All of the above

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_SubbZDFIepaQ
https://dl.doubtnut.com/l/_XYMBaXUAMUTc
https://dl.doubtnut.com/l/_Hjh0OebjzO1A

14. The atomic numbers of the metallic and non-metallic elements which

are liquid at room temperature respectively are:

A. 55,87

B. 33,87

C.35,80

D. 80,35

Answer: D

o Watch Video Solution

15. Total number of elements in 6th period are:

A 8

B.18

C.32

D. 28


https://dl.doubtnut.com/l/_Hjh0OebjzO1A
https://dl.doubtnut.com/l/_MC6IgnlMDdap

Answer: C

° Watch Video Solution

16. Atomic number of 15, 33,51 represents the following family:

A. carbon family

B. nitrogen family

C. oxygen family

D. none of these

Answer: B

° Watch Video Solution

17. The element with atomic number Z = 118 will be categorised as a:

A.noble gas


https://dl.doubtnut.com/l/_MC6IgnlMDdap
https://dl.doubtnut.com/l/_zEmMpHw3WLa9
https://dl.doubtnut.com/l/_6nufSE0LsOKF

B. transition metal

C. alkali metal

D. alkaline earth metal

Answer: A

° Watch Video Solution

18. The places that were left empty by Mendeleev were for:

A. aluminium and silicon

B. gallium and germanium

C. arsenic and antiomny

D. molybdenum and tungsten

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_6nufSE0LsOKF
https://dl.doubtnut.com/l/_PHYnzeBGrADB
https://dl.doubtnut.com/l/_TYNKzBsZZnJT

19. In which group all the elements do not have same number of valence

electrons?

A. zero

B. second

C. first

D. seventh

Answer: A

o Watch Video Solution

20. The elements which exhibit both vertical and horizontal similarities

are:

A.inert gas elements

B. representative elements

C. transition element


https://dl.doubtnut.com/l/_TYNKzBsZZnJT
https://dl.doubtnut.com/l/_3Y7ap2cqwR5t

D. rare earth element

Answer: C

° Watch Video Solution

21. Which of the following is the atomic number of a metal?

A. 35
B.34
C.36

D.38

Answer: D

o Watch Video Solution

22.In which element shielding effect is not possible ?


https://dl.doubtnut.com/l/_3Y7ap2cqwR5t
https://dl.doubtnut.com/l/_SFaCNG6szPcF
https://dl.doubtnut.com/l/_rkSLccjnDSA0

A H

B. Be

C.B

D.N

Answer: A

o Watch Video Solution

23. Which of the following is true about the element .33 As?

A. It is 5th period element

B. It is p-block element

C. It belongs to 16th group

D. It is the member of VIA group

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_rkSLccjnDSA0
https://dl.doubtnut.com/l/_r4iGMDZApUUc

24. Chalcogens are elements of:

A. group 16
B. p-block

2,4 :
C.ns“np" configuration

D. all are correct

Answer: D

o Watch Video Solution

25. Electronic configuration of M> " is [Ar]3d'%4s?, it belongs to

A. s-block
B. p-block

C.d-block


https://dl.doubtnut.com/l/_r4iGMDZApUUc
https://dl.doubtnut.com/l/_hTDnLd3Jh5Ii
https://dl.doubtnut.com/l/_3npuqJqEuQrh

D. f-block

Answer: B

° Watch Video Solution

26. Of the following pairs, the one containing examples of metalloid

elements in the periodic table is:

A.Na and K

B.Fand Cl

C.Cu and Ag

D. As and Sb

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_3npuqJqEuQrh
https://dl.doubtnut.com/l/_4KpmWUupb3G0

27. Which group of elements is analogous to the lanthanides?

A. Halides

B. Actinides

C. Chalcogenides

D. Borides

Answer: B

o Watch Video Solution

28. Principle of modern periodic table was given by:

A. Moseley

B. Mendeleev

C. Doberenier

D. Newland


https://dl.doubtnut.com/l/_SfMFrmsVTLIs
https://dl.doubtnut.com/l/_bL7mCrTudg5Y

Answer: A

° Watch Video Solution

29.In the Lother Meyer graph, AB,C,D and E elements are:

Atomic Weight_

A. halogens

B. alkaline earth metals

C. alkali metals

D. transition metals

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_bL7mCrTudg5Y
https://dl.doubtnut.com/l/_rsWGaI6zdXvm

30. Most of the d block elements are known as:

A. alkali metals

B. alkaline earth metals

C.innertransition elements

D. transition elements

Answer: D

o Watch Video Solution

31. Which of the following represents the electronic configuration of a
transition element?

A. 152, 252 205 3s%, 3p°, 4s*

B. 152, 252, 2p%, 352, 3p°3d?, 45>

C.1s%,25%2p%, 35%3p%3d 10, 45%4p?


https://dl.doubtnut.com/l/_rsWGaI6zdXvm
https://dl.doubtnut.com/l/_ISNwSKCg7wM3
https://dl.doubtnut.com/l/_3bvoosDGq1BJ

D.1s%, 25%2p%, 3523p%3d°, 4524p!

Answer: B

° Watch Video Solution

32. As applied to periodic table, which of the following sets include only

magic number?

A. 2,8,8,18,19,32

B. 2,8,18,32

C. 8,8,18,18

D. 2,18,18,32

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_3bvoosDGq1BJ
https://dl.doubtnut.com/l/_OcAXCeb5jiaG

33. The number of elements which should be theoretically present in gth
period of the modern long from of periodic table, is

A.32

B.40

C.50

D. 48

Answer: C

o Watch Video Solution

34.If an orbital can have maximum 4 electrons then, how many elements
can be present in 8th period?

A.100

B.75

C.128


https://dl.doubtnut.com/l/_c8zwdfYIhTBh
https://dl.doubtnut.com/l/_tLSpk064rewz

D. 64

Answer: A

° Watch Video Solution

35. which of the following number for the element Unbiunnium is

A.120

B. 121

C. 12

D. 122

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tLSpk064rewz
https://dl.doubtnut.com/l/_3zHY0N9x3KBY

36. Elements A,B,C,D and E have following electronic configuration.
(A) 152, 2522p', (B)1s2, 25°2p%, 35%3p’
(C) 152, 2522p5, 3523p° (D) 152, 2522p%, 35%3p°
(E) 132, 2322p6, 3323p6
Which among the belongs to same group in the periodic table. ?
A.Aand C
B.Aand D

C.Aand E

D.Aand B

Answer: D

o Watch Video Solution

37.If Aufbau rule is not followed, K-19 will be placed in

A. s-block


https://dl.doubtnut.com/l/_u1pmuVRIsBEP
https://dl.doubtnut.com/l/_29tgDNJscPce

B. p-block

C.d-block

D. f-block

Answer: C

° Watch Video Solution

38. In the Lother Meyer, which of the following option is incorrect.

A. Alkali metals occupied peak position at curve

B. Halogens occupied ascending position at curve

C. Alkaline earth elements descendings position at curve

D. Alkali metals are in the lower curve of graph

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_29tgDNJscPce
https://dl.doubtnut.com/l/_7yygpOeMGatX
https://dl.doubtnut.com/l/_Nd9GTOlblL9m

39.If AB and C are the three elements of Dobereiner's Traid and atomic

weight of A and B are 7 and 15 respectively then the atomic weight of C is:

Al

C.23

D. 25

Answer: C

o Watch Video Solution

40. According to the Lother Meyer's curve which of the following

statements is incorrect?

A. The element having similar properties will occupy the same position

in the curve

B. Alkaline earth metals are at the peaks of the curve


https://dl.doubtnut.com/l/_Nd9GTOlblL9m
https://dl.doubtnut.com/l/_PDRG0gNm723C

C. Halogens are at ascending part of the curve

D.The atomic volume of the elements in a period initially decreases

and then increases

Answer: B

° Watch Video Solution

41. If the atomic number of an element is 33, it will be placed in the

periodic table in the ____

A. first group

B. third group

C. fifth group

D. seventh group

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_PDRG0gNm723C
https://dl.doubtnut.com/l/_OWCvItdk4iQI

42. Eka-aluminium and Eka -silicon are known as :

A. gallium and germanium

B. aluminium and silicon

C.iron and sulphur

D. proton and silicon

Answer: A

o Watch Video Solution

43. The electronic configuration of gadolinium (Atomic number 64) is

A. [Xe]4f35d°6s
B.[Xe]4f 5d%6s
C.[Xe]4f"5d 65>

D. [Xe]4f35d°6s>


https://dl.doubtnut.com/l/_OWCvItdk4iQI
https://dl.doubtnut.com/l/_8BjP2JlUrB8O
https://dl.doubtnut.com/l/_YsAPY53oMMWZ

Answer: C

o Watch Video Solution

44. The statement that is not correct for periodic classification of

elements is

A.The properties of elements are periodic function of their atomic

numbers

B. Non metallic elements are less in number than metallic elements

C. For transition elements, the 3d-orbitals are filled with electrons

after 3p-orbitals and before 4s-orbitals

D.The first ionisation enthalpies of elements generally increase with

increase in atomic number as we go along a period..

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_YsAPY53oMMWZ
https://dl.doubtnut.com/l/_0bHwRzDFtOGT

45. Which of the following is not an actinoid?

A. Curium (Z = 96)
B. Californium (Z = 98)
C.Uranium (Z = 92)

D. Terbium (Z = 65)

Answer: D

o Watch Video Solution

46. Which of following is not correctly matached?

A. d-block element : electronic configuration is ns’~%(n — 1)d*~*°

B. p-block element: electronic configuration is ns! ~2np! ¢

C. s-block element: electronic configuration is ns' 2

D. Ce: f-block's first member


https://dl.doubtnut.com/l/_FE3kqjWQeJz2
https://dl.doubtnut.com/l/_E2q4cZL3Ku9C

Answer: B

° Watch Video Solution

47.Newland's law of octave applies to which of the following set elements

?
A.Na,K, Rb
B. F,CI,Br
C.Be,Mg,Ca
D. B,Al,Ga
Answer: C

° Watch Video Solution

48. Which are correct match?

(i) Eka silicon-Be (ii) Eka aluminium -Ga


https://dl.doubtnut.com/l/_E2q4cZL3Ku9C
https://dl.doubtnut.com/l/_aCMp3UlLp7N4
https://dl.doubtnut.com/l/_rl1haiNV9ppJ

(iii) Eka mangenese-Tc (iv) Eka scandium-B

A. (ii) and (iii)

B. (i),(ii) and (iv)

C. (i) and (iv)

D. All of these

Answer: A

o Watch Video Solution

49. In Lother Meyer plot, the peaks are occupied by

A. alkali metals
B. highly electropositive elements
C. elements habing large atomic volume

D. all of the above

Answer: D


https://dl.doubtnut.com/l/_rl1haiNV9ppJ
https://dl.doubtnut.com/l/_kWOLprS3dMW2

° Watch Video Solution

50. In Mendelev's modified periodic table, there are vertical

column called groups.

A 8

B.9

C.18

D.12

Answer: B

o Watch Video Solution

51. The elements of group 1, 2, 13, 14, 15, 16, 17, 18 are collectively called

A.noble gases

B. representative or normal elements


https://dl.doubtnut.com/l/_kWOLprS3dMW2
https://dl.doubtnut.com/l/_lLGeobVOQaWt
https://dl.doubtnut.com/l/_IOEyBBW5Sijh

C. transition elements

D. inner transition elements

Answer: B

° Watch Video Solution

52. Which of the following is known as the bridge element of 2nd group

in Mendeleev's table?

A.Zn

B. Sr

C. Mg

D. Hg

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_IOEyBBW5Sijh
https://dl.doubtnut.com/l/_P1gNI3OdSW3C
https://dl.doubtnut.com/l/_KxMBApt2q9RF

53. Which pair is different from the others?

A Li — Mg
B.B— St
C.Be — AT
D.L: — Na
Answer: D

o Watch Video Solution

54. Atomic number of 15, 33,51 represents the following family:

A. carbon family

B. nitrogen family

C. oxygen family

D. none of these


https://dl.doubtnut.com/l/_KxMBApt2q9RF
https://dl.doubtnut.com/l/_EsOuwcNxlPRb

Answer: B

° Watch Video Solution

55. Three elements X,Y,Z are following Dobereiner's Triad rule. If the
atomic weight of X and Y are 10 and 26 respectively, then atomic weight

of Z will be:

A. 34
B.40
C.42

D.18

Answer: C

° Watch Video Solution

56. Which of the following numbers are called magic numbers?



https://dl.doubtnut.com/l/_EsOuwcNxlPRb
https://dl.doubtnut.com/l/_7alAG0Vaz2TR
https://dl.doubtnut.com/l/_PfSGAekK7jtt

A. 2,8,20,28,82,126

B. 2,8,8,18,18,32

C.2,2,8,8,18,32

D. 2,8,18,18,32,32

Answer: B

o Watch Video Solution

57.In the general electronic configuration :
(n—2)f' ¥ (n —1)d* 'ns?, if the value of n = 7, then the
configuration will be of :

A. lanthanides

B. actinides

C. transition elements

D. none of these


https://dl.doubtnut.com/l/_PfSGAekK7jtt
https://dl.doubtnut.com/l/_AX5kX6dcas3C

Answer: B

° Watch Video Solution

58.In lanthanum (Z = 57), the 5th electron enters in a:

A. 6p orbital
B. 5d orbital
C. 6s orbital

D. 4f orbital

Answer: B

° View Text Solution

59. Atomic number is the basis of :
(p) Lother Meyer curve

(g) Newland octave rule


https://dl.doubtnut.com/l/_AX5kX6dcas3C
https://dl.doubtnut.com/l/_QPLhB2Pljjig
https://dl.doubtnut.com/l/_K6KtX6znHFeT

(r) Modern periodic table
(s) Dobereiner triad rule

(t) Long form of periodic table

A. (p){q)y(s)

B. (r),(t)

C.(p)(s)

D. (p)(n),(t)

Answer: B

o Watch Video Solution

60. It each orbital can hold a maximum of three electrons, the number of

elements in 9th period of periodic table (long form) are:

A. 48

B. 162

C.50


https://dl.doubtnut.com/l/_K6KtX6znHFeT
https://dl.doubtnut.com/l/_tQLGcbvd8wNn

D.75

Answer: D

° Watch Video Solution

61. The electronic configuration of an element is 1s22522p%, 3523p°. The
atomic number of element present just below the above element in
periodic table is:

A. 34

B.35

C.36

D.30

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tQLGcbvd8wNn
https://dl.doubtnut.com/l/_lL3Hid0QKTmX
https://dl.doubtnut.com/l/_brZqkodMYIcl

62. The number of elements known at that time when Mendeleev

arranged them in the periodic table was:

A.63

B. 60

c.7

D. 65

Answer: A

o Watch Video Solution

63. Find the odd element from the given electronic configuration.

A 15223221)6351
B. 1s%2s*
C. 15%25%2p%35%3p!

D. 15225%2p%35%3p%4s!


https://dl.doubtnut.com/l/_brZqkodMYIcl
https://dl.doubtnut.com/l/_VTSBUcaiLhMv

Answer: C

o Watch Video Solution

64. Which of following is not correctly matched?

A. d-block element : electronic configuration is ns®~*(n — 1)d*~1°

B. p-block element : electronic configuration is ns' ~2np! ~°

1-2

C.s-block element : electronic configuration is ns

D. Ce: f-block's first member

Answer: B

o Watch Video Solution

65. The period number in the long form of the periodic table is equal to

A. magnetic quantum number of any element of the period


https://dl.doubtnut.com/l/_VTSBUcaiLhMv
https://dl.doubtnut.com/l/_xUYnOjjPGTaa
https://dl.doubtnut.com/l/_ubM8UgOFPvKc

B. atomic number of any element of the period

C. maximum principal quantum number of any element of the period

D. maximum azimuthal quantum number of any element of the period

Answer: C

o Watch Video Solution

66. The elements in which electrons are progressively filled in 4f-orbitals

are calleD:

A. actinoids

B. transition elements

C.lanthanides

D. halogens

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ubM8UgOFPvKc
https://dl.doubtnut.com/l/_mQVqa46pLq79

67. Which of the following relation is correct for boron element? Here P =
period number of boron
N = number of valence electrons is boron

A(P+1) >N

B.(P+1) <N

C(P+1)=N

D.P=N

Answer: C

o Watch Video Solution

68. Maximum value of n 4 [ + m for the last unpaired electron in an

element present in 17th group and 4th period of periodic table:

A 4


https://dl.doubtnut.com/l/_mQVqa46pLq79
https://dl.doubtnut.com/l/_VSMsPKvhLDDC
https://dl.doubtnut.com/l/_CrrrdPOmNiqq

B.5

C.6

D.7

Answer: C

° Watch Video Solution

69. IUPAC name for the element with Z = 117 is and its symbol

is

A. Uuo

B. Uus

C.Uuh

D. Uun

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_CrrrdPOmNiqq
https://dl.doubtnut.com/l/_rhr6ms63aIAi

70. Had three electrons been possible to be placed in an orbital, the block

of potassium in periodic table would be:

B.p
Cc.d

D.f

Answer: B

o Watch Video Solution

71. Which element has chemical properties most similar to those of P?
AN
B. Al

C.S


https://dl.doubtnut.com/l/_rhr6ms63aIAi
https://dl.doubtnut.com/l/_pjN0iVElzJXY
https://dl.doubtnut.com/l/_dnBnWj6nTPOM

D. As

Answer: D

° Watch Video Solution

72. Which list gives nonmetals that are found in their elemental forms in

nature?

A. neon, phosphorus, flourine

B. helium, hydrogen, iodine

C. nitrogen, oxygen, sulphur

D. oxygen, chlorine, phosphorus

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_dnBnWj6nTPOM
https://dl.doubtnut.com/l/_o1bYIyxCQckh

73.The most abundant noble gas in the atmosphere is

A . He

B. Ne

C. Ar

D. Rn

Answer: C

° Watch Video Solution

74. In which set are both elements metalloids?

A. Cr and Mo

B. Ge and As

C.Sn and Pb

D. Se and Br


https://dl.doubtnut.com/l/_wTtrkVlQKH1V
https://dl.doubtnut.com/l/_1cIoiP3pUNSq

Answer: B

° Watch Video Solution

75. Which existing element would the chemistry of element 119 most

resemble?
A.Rn(Z = 86)
B. Fr(Z = 87)
C. Ra(Z = 88)
D. Ac(Z = 89)

Answer: B

° Watch Video Solution

76. Which element has the greatest electrical conductivity?


https://dl.doubtnut.com/l/_1cIoiP3pUNSq
https://dl.doubtnut.com/l/_TKcjbldyOFkP
https://dl.doubtnut.com/l/_P1ZbrGltQMEU

A. As

B. Ge

C.P

D. Sn

Answer: D

o Watch Video Solution

77. Which element in a liquid at 25° C and 1 atm?

A. Fluorine

B. Chlorine

C.Bromine

D. lodine

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_P1ZbrGltQMEU
https://dl.doubtnut.com/l/_E6BYo38iowHi

78. The material used in solar cells contains

A. As

B. Ge

C.P

D.Si

Answer: D

° Watch Video Solution

79. Which pair of symbols identifies two elements that are metalloids?

A. Si and Ge

B. Mg and Si

C.Pand As


https://dl.doubtnut.com/l/_E6BYo38iowHi
https://dl.doubtnut.com/l/_Veyl9Pjuk0EU
https://dl.doubtnut.com/l/_vE4zuvSGeuKe

D.Tiand V

Answer: A

° Watch Video Solution

80. All of the following possess complete d shells except:

A Agt
B.Cu’™
C.Ga**

D. Zn2™

Answer: B

° Watch Video Solution

81. Which element is a gas at 25° C and 1 atm pressure?


https://dl.doubtnut.com/l/_vE4zuvSGeuKe
https://dl.doubtnut.com/l/_agYOycLOWgjx
https://dl.doubtnut.com/l/_F6BnokCe5oW2

A. Chlorine

B. Phosphorus

C.Silicon

D. Sulphur

Answer: A

° Watch Video Solution

82. Which element has the greatest electrical conductivity?

A. Ge

B. Se

C.Sn

D.Te

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_F6BnokCe5oW2
https://dl.doubtnut.com/l/_QHzOV7hxoPSh

8. Select the option in which all the information about element (

Z = 113) are correct:

A Block group Period Valence shell configuration

S 2 7 75>
B Block group Period Valence shell configuration
‘p 13 7 7s27pt
c Block group Period Valence shell configuration
‘p 13 6 6526p*
5 Block group Period Valence shell configuration
d 12 6 65°
Answer: B

° Watch Video Solution

84. An element z has electronic configuration:

ns’np®(n — 1)d'°(n — 2) £**. Which value of n is not possible?

A.6

B.3


https://dl.doubtnut.com/l/_QHzOV7hxoPSh
https://dl.doubtnut.com/l/_jGE2FreWeP65
https://dl.doubtnut.com/l/_7aXzPL0eqnsx

C.5

D. Both (b) and (c)

Answer: D

° Watch Video Solution

85. Which of the following statements is wrong?

A. No inert gas is present in 7th period

B. 3rd period contains 18 elements

C. 1st period contains two non metals

D. In p-block, metal, non-metal and metalloids are present

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_7aXzPL0eqnsx
https://dl.doubtnut.com/l/_Bd9s9enNUD5k

86. Which substance is stored in contact with water to prevent if from

reacting with air?

A. Bromine

B. Lithium

C. Mercury

D. Phosphorus

Answer: D

o Watch Video Solution

87. Stannic chloride is a molecule in which central metal atom belongs to
carbon family. What is the period and atomic number of this metallic
element?

A.5,50

B. 4,40


https://dl.doubtnut.com/l/_HpqhOqRt6vT1
https://dl.doubtnut.com/l/_5Rchh4m8Eojx

C. 6,60

D. 7,70

Answer: A

o Watch Video Solution

88. Which element has an outer electron configuration os s*pt?

A. Ca
B.Cr
C.Ge

D. Se

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_5Rchh4m8Eojx
https://dl.doubtnut.com/l/_FIJYjPV77T5w

89.In the long form of periodic table all the non-metals are placed under

A. s-block

B. p-block

C.d-block

D. f-block

Answer: B

o Watch Video Solution

90. Each period in the periodic table starts with a subshell of the new

shell and ends with:

A. same subshell

B. different subshell of the same shell

C. the subshell of next higher shell

D. p-subshell of the same new shell


https://dl.doubtnut.com/l/_7UwGsnUbHmd7
https://dl.doubtnut.com/l/_dJpcFnL42XRL

Answer: D

o Watch Video Solution

91. In the long form of the periodic table the valence shell electronic
configuration of 5s25p* corresponds to the element present in:

A. group 16 and period 5

B. group 17 and period 6

C. group 17 and period 5

D. group 16 and period 6

Answer: A

o Watch Video Solution

92. Atomic number of the inert gas of 7th period = 118. Which is correct

IUPAC name of last element of halogen family in 7th period?


https://dl.doubtnut.com/l/_dJpcFnL42XRL
https://dl.doubtnut.com/l/_pqQT6MZiFgYN
https://dl.doubtnut.com/l/_w8ulW24Cjcww

A. Ununoctium

B. Ununnilium

C. Ununennium

D. Ununseptium

Answer: D

o Watch Video Solution

93. The valence shell of the element X contains 1 electron in 5s subshell

and below that shell, 4 electrons in 4d subshell. The element belongs to

which group (IUPAC) of periodic table?

A. 4th group

B. 5th group

C. 6th group

D. 7th group


https://dl.doubtnut.com/l/_w8ulW24Cjcww
https://dl.doubtnut.com/l/_zbEa5PuKFPer

Answer: B

° Watch Video Solution

94. According to Moseley, a straight line graph is obtained on plotting:

Where, v is frequency and Z is atomic number.

A vusZ

B.v2 usZ

C.ﬁusz

1
D.—usZ

Answer: C

° Watch Video Solution

95. Which pair of atomic numbers represent s-block elements?


https://dl.doubtnut.com/l/_zbEa5PuKFPer
https://dl.doubtnut.com/l/_kltpkMRYPiQ7
https://dl.doubtnut.com/l/_SeihZgfq5GtZ

A. 3,12

B. 6,12

C.917

D. 715

Answer: A

o Watch Video Solution

96. Suppose an orbital may accommodate three electrons, then estimate

the number of elements in 2nd period:

A3

B.6

C.8

D.12

Answer: D



https://dl.doubtnut.com/l/_SeihZgfq5GtZ
https://dl.doubtnut.com/l/_XhWgkEqBaYrk

| o Watch Video Solution

97. Maximum number of quantum numbers which can be equal for last
electron of two elements of same group of periodic table (group does
not contain any element having exeptional electronic configuration):

A.2

B.3

C.4

D.1

Answer: B

o Watch Video Solution

98. Unniltrium belongs to which block and group of the periodic table?

A. d-block, group -10


https://dl.doubtnut.com/l/_XhWgkEqBaYrk
https://dl.doubtnut.com/l/_EP9UdKLrHHjr
https://dl.doubtnut.com/l/_JwJMAEmODSvS

B. f-block,group 3

C. p-block, group-13

D. d-block,group-11

Answer: B

° Watch Video Solution

99. The element having the lowest atomic number and a ground state
electronic configuration of (n — 1)d®ns? is placed in:

A. fifth period

B. fourth period

C. sixth period

D. third period

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_JwJMAEmODSvS
https://dl.doubtnut.com/l/_euC23Qe7mcgi

100. Representative elements or main group elements are called:

A. s-block element

B. p-block element

C.both (a) and (b)

D. none of these

Answer: C

o Watch Video Solution

101. The elements Z = 117 and 120 have not yet have been discovered, In
which family /group would you place these elements and also give the
electronic configuration in each case.

A.group 17, [Rn)5f*, 6d'°, 7s*7p°

B.group 1, [Rn]7s’


https://dl.doubtnut.com/l/_euC23Qe7mcgi
https://dl.doubtnut.com/l/_3N2O9bapdJok
https://dl.doubtnut.com/l/_52vzH9W5qPrv

C.group 17, [Rn]7s*7p’

D. group 1, [Rn]8s

Answer: A

° Watch Video Solution

102. Select the incorrect statement regarding LotherMeyer curve:

A. alkali metals occupy the peak position of curve

B. alkali earth metals are at the ascending part of curve

C. halogens are at the ascending part of curve

D. atomic volume of an element is not the volume of an atom of that

element

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_52vzH9W5qPrv
https://dl.doubtnut.com/l/_YurdXaKSNI2I
https://dl.doubtnut.com/l/_zWlKJxyayDG4

103. The elements after uranium are called:

A. transuranic elements

B. lanthanides

C. transition elements

D. none of the above

Answer: A

o Watch Video Solution

104. Which orbitals are filled in given order in 5th period of periodic

table?

A.5s — 4d — 5p

B.5s — 4d — 5d

C.4s — bd — 4p

D.5s — 3d — 4p


https://dl.doubtnut.com/l/_zWlKJxyayDG4
https://dl.doubtnut.com/l/_UrdkqlNgaaMc

Answer: A

° Watch Video Solution

105. Which of the following is not f-block elements?

A.Th

B. Ce

C.Lu

D. None of these

Answer: D

° Watch Video Solution

106. Consider the following 3 elements. Fe, Cu, ZN

Choose the incorrect option.


https://dl.doubtnut.com/l/_UrdkqlNgaaMc
https://dl.doubtnut.com/l/_AlEOvTWgyN1a
https://dl.doubtnut.com/l/_2hLvSropujnt

A. Only 2 are paramagnetic

B. Number of d-electron: Fe < Cu < Zn

C. All are transition elements

D. All are less metallic than s-block elements of same period

Answer: C

o Watch Video Solution

107. Which of the following is not d-block elements?

A.Cu

B.Zn

C.Fe

D. Sn

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_2hLvSropujnt
https://dl.doubtnut.com/l/_vOtYFxs3WYbm

108. The electronic configuration:

1s2, 2s22p%, 3s23p%, 3d10, 4524p%4d'°, 55 is for:
A. f-block element
B. d-block element
C. p-block element

D. s-block element

Answer: B

o Watch Video Solution

B.Atomic and lonic Radius

1. Select correct statement about radius of an atom:


https://dl.doubtnut.com/l/_vOtYFxs3WYbm
https://dl.doubtnut.com/l/_WWzBcu0H6qcl
https://dl.doubtnut.com/l/_0FC5q8TL6xBj

A. Values of van der Waal's radii are larger than those of covalent radii

because the van der Waal's forces are much weaker than the forces

operating between atoms in a covalently bonded molecule.

B. The metallic radii are smaller than the van der Waal's radii, since the

bonding forces in the metallic crystal lattice are much stronger

than the van der Waal's forces.

C. Both are correct

D. None is correct

Answer: C

o Watch Video Solution

2. Which of the following order of radii is correct?

A Li < Be < Mg

BH" <Lit < H™


https://dl.doubtnut.com/l/_0FC5q8TL6xBj
https://dl.doubtnut.com/l/_ib0CLxnpyzad

C.O < F < Ne

D.Nat > F~ > 0?*"

Answer: B

o Watch Video Solution

3. Which of the following is not isoelectronic series?
ACI=,P3 , Ar
B.N3~, Ne, Mg*"
C.B3",He, Li*

D.N3~, 8%, CI"-

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ib0CLxnpyzad
https://dl.doubtnut.com/l/_iC7yibFi9RU8

4. Which of the following order of atomic /ionic radius is not correct?

Al >I>1I"
B.Mg>"™ > Na™ > F~
C.Pt < p3t

D.L: > Be > B

Answer: B

o Watch Video Solution

5.The radii of N, N>, O and O*~ are in the order of:

AO>” >N~ >0>N
B.O>” > N> >N>0
CN* >0’ >N>0

D.O*>” >0 >N >N


https://dl.doubtnut.com/l/_eFZOvE5hmLKa
https://dl.doubtnut.com/l/_nvhuLlwrkbEH

Answer: C

° Watch Video Solution

6. Atomic radii of F & Ne in Angstrom are respectively given by : A)

0.72,1.60 B)1.60, 1.60 C)0.72, 0.72 D)1.60, 0.72

A.0.72,1.60

B. 1.60,1.60

C.0.72,0.72

D. 1.60,0.72

Answer: A

° Watch Video Solution

7.Which one of the following is the smallest in size?


https://dl.doubtnut.com/l/_nvhuLlwrkbEH
https://dl.doubtnut.com/l/_nf3DIdgLEeCu
https://dl.doubtnut.com/l/_fuW2FY05Cizz

C.F~

D. Na™

Answer: D

° Watch Video Solution

8. Which one of the following is correct increasing order of size ?

A. Mg < Na™ < O*~ < AI
B.Nat < AI < Mg < O*~
C.Nat < 0* < AI < My

D.Nat < 0O?~ < Mg < AI

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_fuW2FY05Cizz
https://dl.doubtnut.com/l/_rorzrpPJ7572

9. When the following five anions are arranged in order of decreasing
ionic radius , the correct sequence is :

A.Se*~, I ,Br ,0® ,F~

B.I ,Se’ ,0* ,Br ,F~

C.Se?", I ,Br ,F ,0°"

D.I~,Se?",Br ,0* ,F~

Answer: D

o Watch Video Solution

10. Which of the following isoelectronic species has the largest radius?

AKT
B.Ca’t

c.p3-



https://dl.doubtnut.com/l/_rorzrpPJ7572
https://dl.doubtnut.com/l/_5kX0amKaYn6g
https://dl.doubtnut.com/l/_Hi32s1XjcX9I

Answer: C

° Watch Video Solution

1. The correct decreasing order of atomic size among the following
species is :
Ar,K*,Cl”, 8%, Ca®*

ACa®t >K* > Ar>Cl™ > 8§

B.K' > Ca®" >Cl” > Ar > §*~

C.S8" >Cl” >Ar > K" > Ca®"

D.S2~ > Ar >Cl~ > Ca®" > K™+

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Hi32s1XjcX9I
https://dl.doubtnut.com/l/_gC1dZwSnQLw3
https://dl.doubtnut.com/l/_VRXuou5CTzfm

12. lonic radii of :

ATi*t < Mn™*

B.CI~ < J3"CI™

CK'>cCI™

D.P3t > p5+

Answer: D

° Watch Video Solution

13. The correct order of radii is:

AN < Be < B

B.F~ <0’ < N3~

C.Na < Li <K

D.Fe3t < Fe?t < Fett


https://dl.doubtnut.com/l/_VRXuou5CTzfm
https://dl.doubtnut.com/l/_mcoatE5d3tDf

Answer: B

° Watch Video Solution

14. Arrange Ce* ", La®> ", Pm®™ and Yb*" in increasing order of their
size -

AYbT? < Pm™? < Ce™® < La*®

B.Ce™ < Yb"? < Pm™® < La™®

CYb™ < Pm™® < La™® < Ce™®

D.Pm*3 < La®™ < Ce™ < Yb*?

Answer: A

° Watch Video Solution

15. Which one of the following ions has the highest value of ionic radius?


https://dl.doubtnut.com/l/_mcoatE5d3tDf
https://dl.doubtnut.com/l/_gPaR9UHjAbgR
https://dl.doubtnut.com/l/_EhohVYcoYucY

AO*~

B.B3 T

C.Lit

D.F~

Answer: A

° Watch Video Solution

16. The set representing the correct order of ionic radius is

A.-Na® > Li"™ > Mg** > Be?*
B.Li" > Na©™ > Mg*" > Be*"
C.Mg*" > Be?t > Lit > Na™

D.Li"™ > Be?™ > Na™* > Mg**

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_EhohVYcoYucY
https://dl.doubtnut.com/l/_k9e47X6lqnpx

17. Which of the following statement is incorrect for the isolectronic
species?

A. They have same number of electrons

B. They may have different number of protons

C.Their ionic radii decrease with increase in nuclear charge

D. None of the above

Answer: D

° Watch Video Solution

18. lonic radii are

A. inversely proportional to effective nuclear charge
B. inversely proportional to square of effective nuclear charge

C.directly proportional to effective nuclear charge


https://dl.doubtnut.com/l/_k9e47X6lqnpx
https://dl.doubtnut.com/l/_Po3E51fSppxG
https://dl.doubtnut.com/l/_E7dTpygd3Sg0

D. directly proportional to squate of effective nuclear charge

Answer: A

° Watch Video Solution

19. The correct order of radii is:

AN < Be < B
B.Mg¢>" < Lit < N3~
CNa<Li<K

D.Fet?® < Fe?t <« Fett

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_E7dTpygd3Sg0
https://dl.doubtnut.com/l/_l4ISvdbJxzux

20. K*,CI~,Ca*", 8% ions are isoelectronic. The decreasing order
of other size is:

AS* >CI~ > K" > Ca®*

B.Ca’" > K" >CI~ > 8*

CK"™ >CI™ >Cd*" > 8§

D.CI~ > 8% >Ca®" > K™

Answer: A

o Watch Video Solution

21.Li resembles Mg due to diagonal relationship which is atributed to:

A. nearly same atomic and ionic size
B. same value of electron affinity
C. penetration of sub-shells

D. identical effective nuclear charge


https://dl.doubtnut.com/l/_l8chMycskBJU
https://dl.doubtnut.com/l/_VoHT2vvZBY70

Answer: A

o Watch Video Solution

22.Select the correct statement.

A.Across a transition series (from Cr to Cu), there is only a small
decrease in atomic radius from one element to another due to very
small increase in effective nuclear charge

B. The rate of decrease in the size across the lanthanide series is less
than that across the first transition series

C. Both are correct statements

D. None of the statement is correct

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_VoHT2vvZBY70
https://dl.doubtnut.com/l/_qOZTaeFI0yfY
https://dl.doubtnut.com/l/_eOVAf6e5FjpG

23. Among the following species the highest radius is of:

A APRT

B.F~

C.Na™t

D. N3~

Answer: D

o Watch Video Solution

24. In which of the following compound size of cation to anion ratio is

minimum?

A . CsF

B. Lil

C.LiF

D.CsI


https://dl.doubtnut.com/l/_eOVAf6e5FjpG
https://dl.doubtnut.com/l/_JwEPyD9QTqmw

Answer: B

° Watch Video Solution

25. Choose the incorrect ionic radius order.

AAPT < LiT

B.O?>™ > C*~

C.CI- < 8%~

D.Nat >Li" >HT"

Answer: B

° Watch Video Solution

26. Choose the correct order of atomic/ionic radii.

A.Sce <Y < La


https://dl.doubtnut.com/l/_JwEPyD9QTqmw
https://dl.doubtnut.com/l/_ClaGRXAnO7Hp
https://dl.doubtnut.com/l/_Xlk6JJwvBbuj

B.Fe < Co < Ni
C.Be?t < Mg*t < AT

D.Tit < Pb¥?T < B3+

Answer: A

° Watch Video Solution

27. Correct order of radius among the following
F~,APBP" Na™ are

A AI’* = Na* =F~

B.AI*" > Na©™ > F~

C. APt =Na* > F~

D.AI*t < Nat < F~

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Xlk6JJwvBbuj
https://dl.doubtnut.com/l/_qoBxYod3dOLV

28. Which of the following is correct regarding atomic radius?

A Fe ~ Co~ Ni
BN~O~F
C.O~ S~ Se

D.B ~ Al ~ Ga

Answer: A

o Watch Video Solution

29. The correct order of radii is:

A Fet > Fe?t > Fett
B.B>C > 1Ii
C.Mg*>" > AI*" > Na™

DF~ >0% > N3~


https://dl.doubtnut.com/l/_qoBxYod3dOLV
https://dl.doubtnut.com/l/_HHsOQ2Ka0WWC
https://dl.doubtnut.com/l/_PV0mbDTHQaE0

Answer: A

° Watch Video Solution

30. Select the correct order of ionic radii.

ATe? > 8e?2~ > 8% > 0%~

B.te?™ < Se?” < 8% < 0O*~

C.Te2™ = Se?~ > 8%~ = 0*~

D. None of the above

Answer: A

° Watch Video Solution

31. Consider the isoelectronic species, Na™, Mg*"  F~ and O*". The

correct order of increasing length of their radii is:


https://dl.doubtnut.com/l/_PV0mbDTHQaE0
https://dl.doubtnut.com/l/_ZW43kruIqd3S
https://dl.doubtnut.com/l/_as4KqxuYKrqd

AF~ <0 < Mg*" < Na*
B.Mg?’" < Na™ < F~ < O*~
C.O> < F~ < Na" < Mg*"

D.O*” < F~ < Mg** < Na™

Answer: B

o Watch Video Solution

32. Which one of the following is correct order of the size of iodine

species ?

AlI>T >1TI%

BIT >T >1

CI>I">1I"

D.I- >I>1"

Answer: D



https://dl.doubtnut.com/l/_as4KqxuYKrqd
https://dl.doubtnut.com/l/_GSAzGucoNHr1

| o Watch Video Solution

33. Which statement about the radii of atoms and their ions is correct?

A. Cations are smaller than their atoms, anions are larger.

B. Cations and anions are both smaller than their atoms.

C. Cations and anions are both larger than their atoms

D. Cations are larger than their atoms, anions are smaller.

Answer: A

o Watch Video Solution

34. The order of magnitude of ionic radii of ions Na ™, Mh®*, A" and

SitT s

A-Na™ < Mg*" < Ai3T < Si*t

B.Mg>"™ > Na™ > AI*T > Si*+



https://dl.doubtnut.com/l/_GSAzGucoNHr1
https://dl.doubtnut.com/l/_cYN1TORpAsgz
https://dl.doubtnut.com/l/_uhxn9ws2Co5D

C.APT > Nat > Sitt > Mg**

D.Na™ > Mg®>" > AI*" > §i**

Answer: D

o Watch Video Solution

35. Which ions has greatest radius in the following?

AH™

B.F ™~

C.Br—

D.I~

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_uhxn9ws2Co5D
https://dl.doubtnut.com/l/_324psLT05AAN

36. In the isoelectronic species the ionic radii of N3~ 02_,F are
respectively given by

A.1.36, 1.40, 1.71

B.1.36, 1.71, 1.40

C.1.71, 1.40, 1.36

D.1.70, 1.36, 1.40

Answer: C

o Watch Video Solution

37.The Lanthanide contraction is responsible for the fact that

A. Zr and Y have almost the same radius

B. Zr and Nb have similar oxidation state

C. Zr and Hf have almost the same radius

D. Zr and Zn have the same oxidation state


https://dl.doubtnut.com/l/_Jroew0GcNzUz
https://dl.doubtnut.com/l/_G7biJy4ujRuh

Answer: C

° Watch Video Solution

38. Mg, Mg>", AI and AI®" are arranged in decreasing order of size
1 > 2 > 3 > 4. Species which are present at 1 and 4 position respectively
are:

A AL, Mg> ™

B. Mg, AI®*

C.Mg>", AI

D. Mg?*+, A3+

Answer: B

° Watch Video Solution

39. Which of the following order of radii is incorrect?


https://dl.doubtnut.com/l/_G7biJy4ujRuh
https://dl.doubtnut.com/l/_b8sG3KVtbBjO
https://dl.doubtnut.com/l/_ZcoXb3RTeEE0

A.Sce <Y < La

B.Ti < Zr ~ Hf

C.AI =~ Zn

D.He < Ne < Ar

Answer: C

o Watch Video Solution

40. Size of which elements are respresented as non-bonded radii?

A. Halogen

B. Chalcogens

C. Noble gas

D. Pnictogens

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ZcoXb3RTeEE0
https://dl.doubtnut.com/l/_bYAf2Yh69UnU

41. Which gas-phase atom has the largest radius?

A. Na
B.K
C. Mg

D.Ca

Answer: B

° Watch Video Solution

42. For which pair of species are the radii most similar?

A. Li and Na
B. Na and Mg

C.Mn and Fe


https://dl.doubtnut.com/l/_bYAf2Yh69UnU
https://dl.doubtnut.com/l/_Uu0wdffgstPK
https://dl.doubtnut.com/l/_ctAKvb9gjLlR

D. Fe?t and Fe3 ™

Answer: C

° Watch Video Solution

43.The ions below are listed in order of increasing radii except:

A AP < Mg?>t < Na™
B.KT < CI~ < Se*~
CCI <Br <I™

D. Fe?t and Fe3 ™

Answer: D

o Watch Video Solution

44.Which atom has the largest atomic radius?


https://dl.doubtnut.com/l/_ctAKvb9gjLlR
https://dl.doubtnut.com/l/_xuD2JcDkrrON
https://dl.doubtnut.com/l/_vRnTibpuADi4

A S

B.CI

C. Se

D. Br

Answer: C

o Watch Video Solution

45. In which list are atoms of the elements Be, B, Mg and AI arranged

from smallest to largest atomic radius?

A.Be < B< Mg < AI

B.Mg < Be < AI < B

C.B < Be < AI < Mg

D.AI < Mg < B < Be

Answer: C



https://dl.doubtnut.com/l/_vRnTibpuADi4
https://dl.doubtnut.com/l/_pa0FRJeOSvu1

| ° Watch Video Solution

46. KT, CI~,Ca®", 5% ions are isoelectronic. The decreasing order
of other size is:

AS* Br ,K',Ca®*

B.Br—,S8% ,K",Ca®"

C.K*',Ca®>", 8% ,Br-

D.Ca®>*,K*,8% ,Br-

Answer: B

° Watch Video Solution

47.The radius of which is closest to that of the Li * ions?

A Na™*

B. Be’™


https://dl.doubtnut.com/l/_pa0FRJeOSvu1
https://dl.doubtnut.com/l/_qzbJSnb2t2GQ
https://dl.doubtnut.com/l/_GbmPGgYZZHCJ

C.Mg>™"

D.AI®"

Answer: C

o Watch Video Solution

48. For which pair of species is the difference in radii the greatest?

A.Liand F

B.Li" and F ~

C.LiT and 0%~

D.O> and F~

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_GbmPGgYZZHCJ
https://dl.doubtnut.com/l/_2tYwfsntDVpn

49. In which choice are the species listed in order of increasing radius?

A Na®, Mg*" AP

B.CI ,S5% , pP3

CAr,K* CI-

D.CI ,Ar,K*
Answer: B

o Watch Video Solution

50. In which list are the ions arranged in order of increasing size?

AF~ <8 < AI*" < Mg*"
B.F~ < 8% < Mg*>" < AI*"
CMg*"™ <F~ < APP" < §%~

D.AI’" < Mg** < F~ < 8*~


https://dl.doubtnut.com/l/_V1zjDrH7b91k
https://dl.doubtnut.com/l/_ZyyYhYNf1vnn

Answer: D

° Watch Video Solution

51. In which series are the species listed in order of increasing size ?

AN,O,F
B. Na, Mg, K
C.Cr,Cr**, Cr3t

D.CI,CI,S*"

Answer: D

° Watch Video Solution

52. When the atoms: Ba, C's, Mg, Na are arranged in order of increasing

size, what is the correct order?



https://dl.doubtnut.com/l/_ZyyYhYNf1vnn
https://dl.doubtnut.com/l/_TJ2eS9J19EdD
https://dl.doubtnut.com/l/_h8SxXrxn8auR

A.Cs < Na < Mg < Ba

B.Mg < Na < Ba < Cs

C.Mg < Ba < Na < Cs

D.Ba < Mg < Na < Cs

Answer: B

° Watch Video Solution

53. Which element has the largest atomic radius?

A. Br

B.K

C. Mg

D. Na

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_h8SxXrxn8auR
https://dl.doubtnut.com/l/_rOeOpbEOEI6j

54. When the atoms, P(Z = 15), S(Z = 16) and As(Z = 33), are
arranged in order of increasing radius, what is the correct order?

A P,S As

B.As, S, P

C.S, P, As

D.P, As, S

Answer: C

o Watch Video Solution

55. Which property decreases from left to right across the periodic table

and increases from top to bottom?

A. Atomic radius

B. Electronegativity


https://dl.doubtnut.com/l/_rOeOpbEOEI6j
https://dl.doubtnut.com/l/_ByPEX0raEtfL
https://dl.doubtnut.com/l/_Fs43IqJF5TQJ

C. lonization energy

D. Melting point

Answer: A

° Watch Video Solution

56. Consider the ions Li", Na™, Be’™ and Mg?". Which two are
closest to one another in size?

A.Li" and Na ™

B. Be?" and Mg* ™"

C.Be?t and Li T

D.Li " and Mg?*

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Fs43IqJF5TQJ
https://dl.doubtnut.com/l/_OxDEFcRIKnFo
https://dl.doubtnut.com/l/_7czj3fR5niTv

57. Which pair of elements have chemical propeties that are the most

similar ?

A.Be and B

B. Al and Ga

C.Co and Cu

D.F and |

Answer: B

o Watch Video Solution

58. When the atoms Li, Be, B and Na are arranged in order of

increasing atomic radius, what is the correct order?

A B, Be, Li, Na

B. Li, Be, B, Na

C.Be, Li, B, Na


https://dl.doubtnut.com/l/_7czj3fR5niTv
https://dl.doubtnut.com/l/_oBdUui6fu4yR

D. Be, B, Li, Na

Answer: A

° Watch Video Solution

59. Which property of an element is most dependent on this shielding

effect?

A. Atomic number

B. Atomic mass

C. Atomic radius

D. Number of stable isotopes

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_oBdUui6fu4yR
https://dl.doubtnut.com/l/_UYupdtn4XYy1

60. Which element has the largest atomic radius?

A.Li

B.K

C.As

D.Br

Answer: B

o Watch Video Solution

61. The atomic radius of elements of which of the following series would

be nearly the same

A Na, K, Rb, C's

B. Li, Be, B, C

C.Fe,Co, Ni

D.F,CI, Br,I


https://dl.doubtnut.com/l/_G7di7p8TWhUl
https://dl.doubtnut.com/l/_a4saldgHb0kn

Answer: C

° Watch Video Solution

62. The radii of F, F ~—, O and O 2 are in the order of

AO)> >F  >F>0
B.F~ >0 >F>0
CO 2 >0>F >F

DO’>" >F~ >0>F

Answer: D

° Watch Video Solution

63. Which of the following case the size ratio is minimum?

ALi~ /Li


https://dl.doubtnut.com/l/_a4saldgHb0kn
https://dl.doubtnut.com/l/_ewbuizn4fUlC
https://dl.doubtnut.com/l/_J6Ht7XWPXa8M

B.H /H
C.Na~ /Na

D. Can not be predict

Answer: C

o Watch Video Solution

64. For the element X, student Surbhi measured its radius as 102nm, Mr.
Gupta as 113 nm and Mr. Agarwal as 100nm using same apparatus. Their
teacher explained that measurements were correct by saying that
recorded values by three students were

A. crystal, van der Waal's and covalent radii

B. covalent, crystal and van der Waal's radii

C.van der Waal's ionic and covalent

D. None is correct


https://dl.doubtnut.com/l/_J6Ht7XWPXa8M
https://dl.doubtnut.com/l/_ERQIdm0g7R9z

Answer: A

° Watch Video Solution

65. The species having smallest ionic radius is:

A AT
B. Ba’™
CKT

D. Mg?+

Answer: A

° Watch Video Solution

66. In the crystals of which of the following ionic compounds would you

expect maximum distance between the centres of the cations and anion?



https://dl.doubtnut.com/l/_ERQIdm0g7R9z
https://dl.doubtnut.com/l/_vmRg4Oodl0r7
https://dl.doubtnut.com/l/_u597W1JNT2bM

A.CsF

B.CsI

C. Lil

D.LiF

Answer: B

o Watch Video Solution

67. CONSEQUENE OF LANTHANIDE CONTRACTION

A. Contraction of atom of lanthanum element due to poor shielding d-

subshell electron

B. Contraction of atom of lanthanum element due to high shielding of

d-subshell electron

C. Contraction of atom of elements after lanthanum due to poor

shielding of f-subshell electron


https://dl.doubtnut.com/l/_u597W1JNT2bM
https://dl.doubtnut.com/l/_j1RYsKQElLua

D. Contraction of atom of elements before lanthanum due to poor

shielding of f-subshell electron.

Answer: C

° Watch Video Solution

68. Which of the following have total 18 electrons and it is larger than

CI?

AK™T

B.Ca’t

C.Br—

D. None of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_j1RYsKQElLua
https://dl.doubtnut.com/l/_Pte35mZYhqIv
https://dl.doubtnut.com/l/_5Mumn7Wt6QC5

69. The size of isoelectronic species F'®, Ne,and Na " affected by

A. nuclear charge (2)
B. valence principal quantum number (n)
C. electron-electron interaction in the outer orbitals

D. none of the factors because their size is the same

Answer: A

o Watch Video Solution

70. Which of the following order of ionic-radius is correct?

AF~ >0 > N3
B.Na® > Mg"%? > A3
CH >H<HT

D.Fe < Fet? < Fe™?


https://dl.doubtnut.com/l/_5Mumn7Wt6QC5
https://dl.doubtnut.com/l/_03wnoNm0x2fq

Answer: B

° Watch Video Solution

71. Covalent radius of Ci si 99 pm. Select best representation for CI,

molecule:
(@ °‘°
249.5:
A i pm |
® e‘a
198 pm
B.
198 pma!
C. ! :
(d a‘ﬂ
.::"-99 pm—»%
D.

Answer: C


https://dl.doubtnut.com/l/_03wnoNm0x2fq
https://dl.doubtnut.com/l/_h4euoqGYp3el

° Watch Video Solution

C.onisation Energy

1. The values of IE(I),IE(II), IE(III) and IE(IV) of an atom are

respectively 7.5eV, 25.6eV,48.6eV and 170.6eV. The electronic
configuration of the atom will be :

A.1s% 25%2p%, 3s!

B. 152, 2522p%, 3s23p!

C. 152, 2322p6, 3323p3

D.1s?, 2322p6, 3s?

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_h4euoqGYp3el
https://dl.doubtnut.com/l/_l9xrwEmfmdpC

2. IE, and IE, of Mg are 178 and 348kcalmol ~!. The energy required
for the reaction Mg — Mg*" + 2e is

A. 4170 kcal

B. + 526 kcal

C. —170 kcal

D. — 526 kcal

Answer: B

o Watch Video Solution

3. Which represents alkali metals (ie., 1 group metals) based on (IE); and

(IE), values?

(IE), (IE),
Y 100 110
(IE), (IE),
Y 95 120
(IE), (IE),

Z 95 500


https://dl.doubtnut.com/l/_DH5A98IfvCy3
https://dl.doubtnut.com/l/_8cWph1RUm9hA

o B, (B),
"M 200 250

Answer: C

° Watch Video Solution

4. Which is most similar for the elements in a group in the periodic table?

A. Physical state

B. Melting point

C. First ionization energy

D. Ground state electronic configuration

Answer: D

o Watch Video Solution

5. The first ionisation potential of Al is smaller than that of Mg because:



https://dl.doubtnut.com/l/_8cWph1RUm9hA
https://dl.doubtnut.com/l/_w7mWNU0aqC2J
https://dl.doubtnut.com/l/_REphsmNQG4q6

A. the atomic size of Al > Mg

B. the atomic size of Al < Mg

C. Al has one unpaired electron in 3p — orbital

D. Mg has incompletely filled 3s — orbital

Answer: C

o Watch Video Solution

6. Which of the following gaseous atoms has the highest value of

ionisation enthalpy?

A P

B.Si

C. Mg

D. Al

Answer: A



https://dl.doubtnut.com/l/_REphsmNQG4q6
https://dl.doubtnut.com/l/_coqdIziNN2dx

| ° Watch Video Solution

7. The first ionisation potential of Na, Mg, Al and S% are in the order

A.Na < Mg > AI < Si

B.Na > Mg > AI > Si

C.Na < Mg < AI < Si

D.Na > Mg > AI < Si

Answer: A

° Watch Video Solution

8. The first ionisation potential in electron volts of nitrogen and oxygen

atoms are respectively given by

A 14.6, 13.6

B.13.6, 14.6


https://dl.doubtnut.com/l/_coqdIziNN2dx
https://dl.doubtnut.com/l/_zUhLki5aoprO
https://dl.doubtnut.com/l/_i16zP2vDcile

C.13.6,13.6

D. 14.6, 14.6

Answer: A

° Watch Video Solution

9. Which of the following relation is correct with respect first (I) and
second (Il) ionisation of sodius and magnesium?

Ay, = Iy,

B. Ing > Ing

C. IIMg > Iy,

D. Iy, > IIMg

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_i16zP2vDcile
https://dl.doubtnut.com/l/_toAfgReVdkt9
https://dl.doubtnut.com/l/_adSnZkil8u9l

10. The ionization energy will be higher when the electron is removed

from ....... if other factors being equal.

A. s-orbital

B. p-orbital

C. d-orbital

D. f-orbital

Answer: A

o Watch Video Solution

11. Which of the following isoelectronic ion has the lowest 1st ionization
energy?

A Na*

B.F~

C.Mg*™"


https://dl.doubtnut.com/l/_adSnZkil8u9l
https://dl.doubtnut.com/l/_X6Mlzdc11qSO

D.O> and F~

Answer: D

° Watch Video Solution

12. A large difference between the third and fourth ionization energies

indicates the presence of:

A. 4 valence electrons in an atom

B. 5 valence electrons in an atom

C. 3 valence electrons in an atom

D. 8 valence electrons in an atom

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_X6Mlzdc11qSO
https://dl.doubtnut.com/l/_qU1G6wxpQuOI

13. The second ionisation enthalpies of elements are always higher than
their first ionisation enthalpies because:

A. the cation is smaller than its parent atom

B. it is easier to remove electron from cation

C.ionization is an ednothermic process

D. cation formed always have stable half filled or completely filled

valence shell electron configuration

Answer: A

o Watch Video Solution

14. Which of the following is the correct order of ionisation energy?
A0 <F~ < Na" < Mg**

B.F~ <0 < Na' < Mg*"

C.O*” < Na™ < F~ < Mg*"



https://dl.doubtnut.com/l/_f3ayXjTrfg3f
https://dl.doubtnut.com/l/_eFdgByGQzHFL

D.Mg?>t < Na™ < F~ < O*”

Answer: A

° Watch Video Solution

15. The peaks in ionisation potential curves are occupied by

A. alkali metals

B. alkaline earth metals

C. noble gas elements

D. halogens

Answer: C

o Watch Video Solution

16. Which metal is the most reactive?


https://dl.doubtnut.com/l/_eFdgByGQzHFL
https://dl.doubtnut.com/l/_inpw7Q3p7nXt
https://dl.doubtnut.com/l/_4utiJBu1bUYq

A. Silver

B. Lead

C.lron

D. Caesium

Answer: D

o Watch Video Solution

17. The five successive energies of an element are 800, 2427, 3658, 25024
and 32824kJmol ~ ! respectively. The number of valence electron is

A3

B.5

C.1

D.2

Answer: A



https://dl.doubtnut.com/l/_4utiJBu1bUYq
https://dl.doubtnut.com/l/_LRjKAi4sT1Ke

| ° Watch Video Solution

18. Which has maximum first ionization potential?

A.C

B.N

C.B

D.O

Answer: B

° Watch Video Solution

19. Values of IE;, IE; and IE3 of an element are 9.31,18.21 and

553.83eV. What informations do these data convey?

A. The element has two electrons in the valence shell

B. The element has two p-electrons in the valence shell



https://dl.doubtnut.com/l/_LRjKAi4sT1Ke
https://dl.doubtnut.com/l/_K36zYvtZzhJV
https://dl.doubtnut.com/l/_8d8cfhpOiJuO

C.(a) and (b) both

D. None of the two

Answer: A

° Watch Video Solution

20. Which of the following is the correct order of ionisation energy?
(1) Be™ > Be(2) Be > Be™
(3)C > Be (4) B > Be

A 23

B.3,4

c.13

D. None of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_8d8cfhpOiJuO
https://dl.doubtnut.com/l/_A89n7XV0Gfrj

21. The incorrect statement Among the following is A)The first ionisation
potential of Al is less than the first ionisation potential of Mg. B)The first
ionisation potential of Na is less than the first ionisation potential of Mg.
C)The second ionisation potential of Mg greater than the second
ionisation potential of Na D)The third ionisation potential of Mg greater
than the third ionisation potential of Al

A.the I E, of Al is less than I E; of Mg

B.the I E5 of Mg is less than I E, of Mg

C.the IE; of Nais less than I E; of Mg

D.the IE5 of Mg s less than I E3 of Al

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_A89n7XV0Gfrj
https://dl.doubtnut.com/l/_zKLeft64wlhl

22.The set representing the correct order of the first ionisation potential

is

A.K > Na > Li

B.Be > Mg > Ca

CB>C>N

D.Ge > Si > C

Answer: B

o Watch Video Solution

23.The increasing order of the first ionization enthalpies of the elements

B,P,S and F (lowest first) is:

AF<S<P<B

BP<S<B<PF

CB<P<S<VF


https://dl.doubtnut.com/l/_DYTH6RubMdPR
https://dl.doubtnut.com/l/_SqIM4V0TPruw

DDB<S<P<PF

Answer: D

° Watch Video Solution

24. Which of the following is the result of f-orbital contraction effect?

A. Similarity in the size of Al and Ga

B. Similarity in the properties of Li and Mg

C. High ionization energy of Tl as compared to In

D. Decrease in atomic size of '3d' series elements

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_SqIM4V0TPruw
https://dl.doubtnut.com/l/_QR8l70EVUBxv

25. Which of the following magnetic moment values will correspond to
the highest ionisation energy for the element which is placed in 4th

period and 7th group of long form of periodic table?

A 22
B. /15
C. /35

D. /24

Answer: A

o View Text Solution

26. Which of the following s-block metals has the lowest first ionisation

energy?

A. Mg

B. Be


https://dl.doubtnut.com/l/_SRzG2PD6N0ew
https://dl.doubtnut.com/l/_tOT7gn2MhLYg

C.Na

D. Li

Answer: C

° Watch Video Solution

27. Hydrogen has high ionization energy than alkali metals, due to its:

A. large size

B. small size

C. higher nuclear charge

D. more penetration power of s-subshell electrons

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_tOT7gn2MhLYg
https://dl.doubtnut.com/l/_ZNQcl1mAf6S2

28. Which of the following element has maximum, first ionisation

potential?

AV

B.Ti

C.Cr

D. Mn

Answer: D

o Watch Video Solution

29. An element having high first ionization energy in a given period is:

A.inert gas

B. transition element

C.representative element

D. inner transition element


https://dl.doubtnut.com/l/_LNCftNK6vm3U
https://dl.doubtnut.com/l/_hhuSdM58QdQr

Answer: A

° Watch Video Solution

30. lonisation enthalpy of Na would be same as

A. electron affinity of Na ™
B. electronegativity of Na ™
C. electron affinity of He

D. ionisation potential of Mg

Answer: A

° Watch Video Solution

31. Which element having the following electronic configuration has

minimum ionisation potential?


https://dl.doubtnut.com/l/_hhuSdM58QdQr
https://dl.doubtnut.com/l/_BMO9m0sY4rsh
https://dl.doubtnut.com/l/_Sv7zAUyUoI4X

A 132, 232, 2p5
B. 152, 2522p5, 3523p?
C. 152, 2322p6, 3s!

D. 1s%, 25%2p°

Answer: C

o Watch Video Solution

32.Select correct statement.

A. Atomic size of the same group elements of 3d and 4d-series are

almost similar

B. First ionisation energies of 5d-series elements are smaller than that

of 3d and 4d-series elements

C. Both are correct

D. Both are incorrect


https://dl.doubtnut.com/l/_Sv7zAUyUoI4X
https://dl.doubtnut.com/l/_XVTuxSzdfMxL

Answer: D

° Watch Video Solution

33. Which option is correct?

A3rdI.E. of C > N

B.2nd .LE.of N < O

C.1stLE.of F > O

D. All of these

Answer: D

° Watch Video Solution

34. Which one of the following electronic configuration of an atom has

the highest ionisation energy?


https://dl.doubtnut.com/l/_XVTuxSzdfMxL
https://dl.doubtnut.com/l/_WyNh9jqIJgx3
https://dl.doubtnut.com/l/_BnhvNpW7RAMQ

A 132, 2322p3
B. 132, 2322p6, 3st
C. 152, 2322p6

D.1s2, 25%2p°

Answer: C

° Watch Video Solution

35. Identify the incorrect order of first ionization energy.

A Li > Na > K

B.F >CI >1

CBe<B<C(C

DO< N < F

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_BnhvNpW7RAMQ
https://dl.doubtnut.com/l/_zjN6RZZsmviS

36. Amongst the following elements whose electronic configuration are
given below, the one having the highest enthalpy is

A.[Ne]3s23p*

B. [Ne]3s?3p®

C. [Ne]3s?3p?

D. [Ar]3d " 4s%4p®

Answer: B

° Watch Video Solution

37. Which of the following ion of an element E (E belongs to 2nd period)
having 1s22s°, 2p° electronic configuration in ground state? For the
element E following data is given:

IE; of E = 800kJ /molel Es of E = 1428kJ /mole

IE; of E = 2394kJ /molel E; of E = 25020kJ / mole


https://dl.doubtnut.com/l/_zjN6RZZsmviS
https://dl.doubtnut.com/l/_R4TBUzlOlzRR
https://dl.doubtnut.com/l/_kurjXniUhx7E

AET

B.ETT

CETtT

DETTH+

Answer: C

o Watch Video Solution

38. Higher values of ionisation energies of the 5d-transition elements are

consistent with the:

A. relative smaller effective nuclear charge

B. relative smaller size of their atoms

C. relative smaller penetration

D. all are correct

Answer: B



https://dl.doubtnut.com/l/_kurjXniUhx7E
https://dl.doubtnut.com/l/_OO6Z3iCBcNlc

| o Watch Video Solution

39. Metallic nature increases moving down the group because:

A. nuclear charge decrease

B. shielding increases

C.(a) and (b) both

D. none of these

Answer: B

° Watch Video Solution

40. Select the correct statement.

A. More active metals are on the left side of the periodic table

B. Less active metals are on the left side of the periodic table


https://dl.doubtnut.com/l/_OO6Z3iCBcNlc
https://dl.doubtnut.com/l/_gG8n2aOYIKRt
https://dl.doubtnut.com/l/_W6wruEbCXPrJ

C.Reducing power of alkali metals (g) decreases moving down the

group

D. Metallic character decreases down the group

Answer: A

° Watch Video Solution

41. Which of the following sequence regarding the first ionisation

potential of coinage metal is correct?

A Cu > Ag > Au

B.Cu < Ag < Au

C.Cu > Ag < Au

D.Ag > Cu > Au

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_W6wruEbCXPrJ
https://dl.doubtnut.com/l/_xsVrpcvpoDmN

42. The ionisation energy for 'Sc,, 'Y' and 'La' are xy and z kcal/mol

respectively. Choose the correct relationship between them.

Az>zz =~y

Bx>y>z

Cz>zruy

Dz<y>z

Answer: B

o Watch Video Solution

43. Select proper graph of 13th group ionization energy us. Its elements.

i |
A B Al Ga In TI


https://dl.doubtnut.com/l/_xsVrpcvpoDmN
https://dl.doubtnut.com/l/_UxRAJUHjCIZa
https://dl.doubtnut.com/l/_ryc63XvHXLIa

m ™

B Al Ga In T

B.
© IE
C é Al G‘a Ir; Tl
@ IE
D. B Al Galn T
Answer: C

° Watch Video Solution

44.Second ionisation potential of Li, Be, B is in the order:

A.Li > Be > B

B.Li > B > Be

C.Be>Li>B

D.B > Be > C


https://dl.doubtnut.com/l/_ryc63XvHXLIa
https://dl.doubtnut.com/l/_36UhTK62Vo2u

Answer: B

° Watch Video Solution

45. Select correct graph, which is plotted between ionisation energy of

2nd period elements and their atomic number.

A Atomic number

345678 910
()

IE
(c)

345678910
C. Atomic number

345678910

@
D.


https://dl.doubtnut.com/l/_36UhTK62Vo2u
https://dl.doubtnut.com/l/_ZZxI3hKzDEOE

Answer: A

° Watch Video Solution

46. For metal M, first ionisation energy is equal to 38 kcal/mole. Which of
the following can be a possible value of ionisation enthalpy of M * ion in
kcal.mole at 400K. [Given: R = 2cal /mole kelvin]

A. 38kcal /mole

B. 40kcal /mole

C. 39kcal /mole

D. 45kcal /mole

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_ZZxI3hKzDEOE
https://dl.doubtnut.com/l/_ZXmp8QfiWRuj

47. The ionisation enthalpy of lithium is much lower than that of helium

despite the fact that the nuclear charge of lithium is +3 and that of

helium is + 2. It is due to:

A. 2s electron in lithium is more strongly bound to the nucleus than

the 1s electron in He

B. 2s electron in lithium is equally bound to the nucleus than the 1s

electron in He

C. 2s electron in lithium is less strongly bound to the nucleus than the

1s electron in He

D. Atomic size of He is more than Li

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ZF3JwBgf19zm

48. The first ionisation enthalpy (AiH"_) values of the third period
elements, Na, Mg and Si are respectively 496, 737 and 786kJmol ~'.
Predict whether the first A, H°~ value for Al will be more close to 575 or
760k Jmol ~1? Justify your answer.

A. 350

B. 860

C. 575

D. 1125

Answer: C

o Watch Video Solution

49. Correct order of I E; are:
(PPLi < B<Be<(C(QO<N<F

(R) Be < N < Ne


https://dl.doubtnut.com/l/_amPyDt5Cptyy
https://dl.doubtnut.com/l/_nqH7lvjneFBF

A.PQ

B.Q only

C.PR

D.POR

Answer: D

o Watch Video Solution

50. If “
X(g) — X(9)

Then find AH,, of X.

A. —250kJ
B. —1550kJ
C. 250kJ

D. +1550kJ

Answer: A

X(g9)” — X(9)° + 3e-

AH; = 900kJ
AH> = 650kJ



https://dl.doubtnut.com/l/_nqH7lvjneFBF
https://dl.doubtnut.com/l/_aXu9ou7x2mSg

° Watch Video Solution

51. The correct order of the second ionisation potential of carbon,

nitrogen, oxygen and fluorine is

AC<N<O<PF

BC<O<N<PF

CC<N<F<O

DC<O<F<N

Answer: C

o Watch Video Solution

52. Sodium forms Na ™ ion but it does not form Na ™2 because -

A. Very low value of (I. E. ); and (I. E. ),

B. Very high value of (I. E. ), and (I. E),


https://dl.doubtnut.com/l/_aXu9ou7x2mSg
https://dl.doubtnut.com/l/_ggbxanmxp9ER
https://dl.doubtnut.com/l/_ifYh6lhMzlFE

C. High value of (I. E. ), and low value of (I. E),

D. Low value of (I. E. ), and high value of (I. E. ),

Answer: D

° Watch Video Solution

53. One method for calculating Z, ¢ is to use the equation:

_ (E)(n?)
Zesf = \/ 1312kJ /mole

where E is the energy necessary to remove an electron from an atom and

n is the principal quantum number of the electron. Use this equation to
calculare Z.f; value for the highest energetic electron in potassium.
E = 418.8kJ /mole

A.2.86

B.2.26

C.3.26

D. 2.00


https://dl.doubtnut.com/l/_ifYh6lhMzlFE
https://dl.doubtnut.com/l/_LkrkIWHSDk1A

Answer: B

o Watch Video Solution

54. Atomic nitrogen has a higher ionization energy than atomic oxygen.

This is best explained by:

A. by lower electron-electron repulsion in nitrogen

B. the greater effective nuclear charge of nitrogen

C. the fact that the electron ionized in N is from the 2s subshell, while

that ionized from O is from the 2p subshell

D. the fact that N has an odd number of electron while O has an even

number.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_LkrkIWHSDk1A
https://dl.doubtnut.com/l/_fRQXL93REafJ
https://dl.doubtnut.com/l/_mLKTOvHIAEza

55. Which elemenet has the smallest first-ionization energy?

A Mg

B. AI

C. 5%

D. P

Answer: B

o Watch Video Solution

56. Which set is expected to show the smallest difference in IE; ?

A. He, Ne, Ar
B.B,N, O
C. Mg, Mg+, Mgz+

D. Fe, Co, Ni

Answer: D


https://dl.doubtnut.com/l/_mLKTOvHIAEza
https://dl.doubtnut.com/l/_9RtkVOcN8rR2

° Watch Video Solution

57. When the elements carbon, nitrogen and oxygen are arranged in

order of increasing ionization energies, what is the correct order?
A.C,N,O
B.O,N,C
C.N,C,0

D.C,O, N

Answer: D

o Watch Video Solution

58. Which has the highest ionization energy for the removal of the

second electron?

AF



https://dl.doubtnut.com/l/_9RtkVOcN8rR2
https://dl.doubtnut.com/l/_M3Pxv9p06KR9
https://dl.doubtnut.com/l/_g2QcHXce9TRq

B. Ne

C.Na

D. Mg

Answer: C

° Watch Video Solution

59. In which list are the elements arranged in order of increasing first

ionization energy?

A Li, Na, K

B.S,O0, F

C.Na, Mg, AI

D. F, Ne, Na

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_g2QcHXce9TRq
https://dl.doubtnut.com/l/_BgWiIa3GVUhl

60. Which atom has the smallest first ionization energy?

A.Na
B.K
C. Mg

D.Ca

Answer: B

o Watch Video Solution

61. Which element has the largest first ionization energy?

A Li
B.B
C.N

D. Na


https://dl.doubtnut.com/l/_BgWiIa3GVUhl
https://dl.doubtnut.com/l/_6wIRwufxIhCA
https://dl.doubtnut.com/l/_QWqTiSYTHU5I

Answer: C

° Watch Video Solution

62. Which list gives the symbols of the element in the order of increasing

first ionization energy?

A . F, Ne, Na

B.AI, Mg, Na

C.Sr,Ca, Mg

D.CI, Br, I

Answer: C

° Watch Video Solution

63. Which equation represents the first ionization of calcium?


https://dl.doubtnut.com/l/_QWqTiSYTHU5I
https://dl.doubtnut.com/l/_Zo4HaTFYSNP8
https://dl.doubtnut.com/l/_62OWMAOeyQvv

A.Ca(s) — Ca™(g) +e
B.Ca(g) — Ca™(g) + e
C.Ca"(g) +Ca* (g) +e”

D.Ca*" (g) +e~ — Ca™(g)

Answer: B

o Watch Video Solution

64. Which process release the most energy?
A Mg*" (g) +e — Mg (g)
B.Mg*(g9) +e~ — Mg(s)
C.Na®>*(g) +e~ — Na™(g)

D.Na'(g) + e~ — Na(g)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_62OWMAOeyQvv
https://dl.doubtnut.com/l/_Z4gW2t1fDanw

65. Which element exhibits the successive ionization energies given in the

table?

Ionization EnergykJ x mol ™~

1st 738
2nd 1451
3rd 7733
4th 10540
5th 13628

A. Na

B. Mg

C.AI

D. S7

Answer: B

o Watch Video Solution

66. Which element has the highest first ionization energy?


https://dl.doubtnut.com/l/_Z4gW2t1fDanw
https://dl.doubtnut.com/l/_a1sNVAJgW4Z4
https://dl.doubtnut.com/l/_oTLJvNF0B8QR

A Al

B. Si

C.P

D.S

Answer: C

o Watch Video Solution

67. The removal of an electron from which gaseous atom requires the

greatest amount of energy?

A. Na

B.CI

CK

D. Br

Answer: B



https://dl.doubtnut.com/l/_oTLJvNF0B8QR
https://dl.doubtnut.com/l/_GZBoQ1j8zMYs

| o Watch Video Solution

68. Properties of the alkaline earth metals that increase from Be to Ba
include which of the following?
(P) Atomic radius (Q) lonization energy
(R) Nuclear charge
A.Pand Q only
B.Pand R only

C.Q and R only

D.PQandR

Answer: B

° Watch Video Solution

69. Of the atoms listed, which has the largest third ionization energy?


https://dl.doubtnut.com/l/_GZBoQ1j8zMYs
https://dl.doubtnut.com/l/_yZX8ORmFZWRG
https://dl.doubtnut.com/l/_QuKSFAtl6dqL

A.Ca

B. Mg

C.AI

D. St

Answer: B

o Watch Video Solution

70. The successive ionization energies (in kJ/mol) for an element are

shown below.

E, Ey, E3 Ey E;
577 1820 2740 11600 14800

What is the electron configuration of this element?

A 1322.922p63s1
B. 15225221)63523p1
C. 15%25%2p°35%3p°

D. 15*25%2p%35%3p%3d3


https://dl.doubtnut.com/l/_QuKSFAtl6dqL
https://dl.doubtnut.com/l/_7jHfxFiQplSZ

Answer: B

° Watch Video Solution

71. Of the elements listed, which has the highest first ionization energy?

A Li
B. Be
C.Na

D. Mg

Answer: B

° Watch Video Solution

72. lonization energies vary from left to right across the periodic table.
Factors that contribute to this variation include which of the following?

(P) Changes in the nuclear charge



https://dl.doubtnut.com/l/_7jHfxFiQplSZ
https://dl.doubtnut.com/l/_7uzJnVfIqZEz
https://dl.doubtnut.com/l/_6QP1EE2AcRIt

(Q) Differences in shielding by valence electrons

(R) Differences in shielding by core electrons

A.Ponly

B.R only

C.Pand Q only

D.PQandR

Answer: C

o Watch Video Solution

73. Which group best illustrates the transition from non-metallic to

metallic behavior with increasing atomic numbers?

A.Be, Mg, Ca, Sr

B.N, P, As, Sb

C.F,CI,Br,T


https://dl.doubtnut.com/l/_6QP1EE2AcRIt
https://dl.doubtnut.com/l/_qYxxOP8OdbGb

D. Fe, Ru,Os, Hs

Answer: B

° Watch Video Solution

I 1T
74.Process Na’". — Na' . — Na
(9) (9) (9)

A.In (1) energy is released, (Il) energy is absorbed
B. In both (1) and (Il) energy is absorbed
C.In both (1) and (ll) energy is released

D.In (1) energy is absorbed, (Il) energy is released

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_qYxxOP8OdbGb
https://dl.doubtnut.com/l/_fT4izPN4PIql

75. How does th reducing ability of the elements vary across the period

from N to At? It:

A. decreases steadily

B. increases steadily

C.decreases then increases

D. increases then decreases

Answer: A

o Watch Video Solution

76. Of the elements given, which has the lowest ionization energy?

A.N

B.P

C.S

D.dl


https://dl.doubtnut.com/l/_VOuseuLz0PFH
https://dl.doubtnut.com/l/_LeIs54uwfbky

Answer: C

o Watch Video Solution

77. Three elements X , Y and Z have atomic numbers 19 , 37 and 55

respectively . Then the correct statements (s) is / are

A.Their ionisation potential would increase with the increasing

atomic number

B. Y would have an ionisation potential in between those of X and Z

C.Z would have the highest ionisation potential

D. Y would have the highest ionisation potential

Answer: B

o Watch Video Solution

78. Which element has the lowest first ionization energy?


https://dl.doubtnut.com/l/_LeIs54uwfbky
https://dl.doubtnut.com/l/_0geXLgVnl6YG
https://dl.doubtnut.com/l/_RZVvGEOLHMeB

A.B

B.C

C. Al

D. Si

Answer: C

o Watch Video Solution

79. If we move from centre towards end points through three different
paths (P),(Q),(R) in following figure, then which path is correct increasing

order of IE;?


https://dl.doubtnut.com/l/_RZVvGEOLHMeB
https://dl.doubtnut.com/l/_mhzlqbpW9nwq

[N, S, C, O, P, Sirepresent various elements of periodic table]

A.Ponly
B.QandR
C.Ronly

D.PandR

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_mhzlqbpW9nwq

80. First, second and third I.P. values are 10eV, 15eV and 150eV. Element

can be:

A. Be

B.B

C.F

D. Na

Answer: A

o Watch Video Solution

81. The third ionisation energy will be maximum for:

A. nitrogen

B. boron

C. phosphorus

D. aluminium


https://dl.doubtnut.com/l/_sjEsi7LTOUOu
https://dl.doubtnut.com/l/_33zhBzTauJK1

Answer: A

° Watch Video Solution

82. Find the highest ratio of IP values of given pair of elements:

A. He: Ne

B. Ne: Ar

C.He: Xe

D. Kr: Xe

Answer: C

° Watch Video Solution

83. Given the correct order of initials T (true) of F (false) for following
statement.

(I) Top positions of Lother-Mayer's atomic volume curve are occupied by


https://dl.doubtnut.com/l/_33zhBzTauJK1
https://dl.doubtnut.com/l/_beNeQmELFiX5
https://dl.doubtnut.com/l/_x7rUuFhgHuAA

Alkali metals
() Number of elements presents in the fifth period of the periodic table
are 32.
() 2"¢I. P. of Mg is less than the 2™ L.P. of Na.
(IV) A p-orbital can take maximum of six electrons.
A . TFTF
B. TFFT

C.FFTF

D. TTFF

Answer: A

o Watch Video Solution

84. Which of the following transitions involves maximum amount of

energy?

AM (90— M(g) +e


https://dl.doubtnut.com/l/_x7rUuFhgHuAA
https://dl.doubtnut.com/l/_1FFpM5XFmqkw

B.M(g) - M™"(g) +e
CMT(g) - M*%(g) +e

D.M+2(g) — M+3(g) +e

Answer: D

° Watch Video Solution

85. The first five inization energies of an element are 9.1, 16.2, 24.5, 35
and 205.7eV respectively then, number of valence electrons in the atom
is:

A 2

B.3

C.4

D.5

Answer: C

[ - ]


https://dl.doubtnut.com/l/_1FFpM5XFmqkw
https://dl.doubtnut.com/l/_XnU0HKNKAXGY

| @J Watch Video Solution

86. The incorrect option out of the following is:

A IP, of Li > IP, of Be

B.FA; of F > EA; of Br

C.IP, of Pb < IP; of Sn

D. N,O5 > CO, (acidic nature)

Answer: C

° Watch Video Solution

87.The third ionization energy is least for:

A. nitrogen

B. phosphorus

C. aluminium


https://dl.doubtnut.com/l/_XnU0HKNKAXGY
https://dl.doubtnut.com/l/_3xQ9N9rZlDWy
https://dl.doubtnut.com/l/_O10AeizUMRDI

D. boron

Answer: C

° Watch Video Solution

88. lonisation energy is highest for:

A F

B.CI™

C.Be™

D.S~

Answer: A

° Watch Video Solution

89. lonisation energies of CI ~, CI and CI " are respectively (in kJ/mol):


https://dl.doubtnut.com/l/_O10AeizUMRDI
https://dl.doubtnut.com/l/_b4UvUiWXQooB
https://dl.doubtnut.com/l/_gYQV6vQRhTvn

A. 1251, 349, 2300

B. 2300, 349, 1251

C. 349, 1251, 2300

D. 349, 2300, 1251

Answer: C

o Watch Video Solution

90. Which of the following order is correct for indicated property?

A. Il > B’I"Q > CI2 > F2 (Reactivity)
B. Li(aq) > Na(aq) > K " (aq) (electrical conductivity)
C. Na > Mg > Cu (Electropositive character)

DN 3>0"?%> MgJr2 > Na™ (lonic size)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_gYQV6vQRhTvn
https://dl.doubtnut.com/l/_kTw6Jhsycc7a

91. Mg cannot exhibit + 3 oxidation state, because its:

AIE; < < IE,

BIEl ~ IE2

C.IE; > > IE,

D.IE; = 0

Answer: C

o Watch Video Solution

92. Electronic configuration of valence shell of four elements, A, B, C
and D are?

(A) nsz, an (D) ns2, np3

(B) nsz, np4 (D) ns2, np5

Arrange them in increasing order of I Es:


https://dl.doubtnut.com/l/_kTw6Jhsycc7a
https://dl.doubtnut.com/l/_zFKKU29phwuH
https://dl.doubtnut.com/l/_02FMMsbMdPjr

AA<B<C<D

BBA<B<D<C

CB<A<D<C

DDB<A<C<D

Answer: B

o Watch Video Solution

93. Which of the following order is incorrect?

A.Cd < Hg(IE))
C.Y < La(IE,)

D. None of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_02FMMsbMdPjr
https://dl.doubtnut.com/l/_5XLx3UIdfTSL

D. Electron Gain Enthalpy (Electron Affinity)

1. The correct order of electron affinity is:

ABe<B<(C<N

B.Be< N<B<C(C

CN<Be<(C<B

D.N < (C < B < Be

Answer: B

° Watch Video Solution

2. Which of the following will have the most negative electron gain

enthalpy and which the least negative? P, S, Cl, F'. Explain your answer.

AF,CI


https://dl.doubtnut.com/l/_5XLx3UIdfTSL
https://dl.doubtnut.com/l/_OhGhnA6iDmPr
https://dl.doubtnut.com/l/_IS5smALI248o

B.CI, F

c.CIL, S

D.CI, P

Answer: D

° Watch Video Solution

3.Arrange S, O and Se in acending order of electron affinity?

AO >8> Se

B.S > Se >0

C.Se>0>S

D.S > O > Se

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_IS5smALI248o
https://dl.doubtnut.com/l/_2uJSBafm1xfo
https://dl.doubtnut.com/l/_0ANw41A39Zcc

4. Fluorine has the highest electronegativity among the ns’np® group on
the Pauling scale, but the elctron affinity of fluorine is less than that of
chlorine because :
A. the atomic number of fluorine is less than that of chlorine
B. fluorine being the first member of the family behaves in an unusual
manner
C.chlorine can accommodate an electron better than fluorine by
utilising its vacant 3d-orbital
D.of small size, high electron density and an increased electron
repulsion makes addition of an electron to fluorine less favourable

than that in the case of chlorine in isolated stage

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_0ANw41A39Zcc

5. Which one of the following arrangements represents the correct order

of electron gain enthalpy of the given atomic species?

AS<O<CI<F

BO<S<F<C(CI

CCI<F<S8<O

DF<CI<O<S

Answer: B

o Watch Video Solution

6. For the process
X(g) +e~ — X (9),AH = z and
X (9) — X(g9) + e, AH = ySelect correct alternate :

A.ionisation energy of X ~ (g) isy

B. electron affinity of X(g) is x


https://dl.doubtnut.com/l/_cRMR8grgPqIr
https://dl.doubtnut.com/l/_Of9aHpaYz2oX

C. electron affinity of X(g) isy

D. all are correct statements

Answer: D

° Watch Video Solution

7. Considering the elements F', CI, O and S, the correct order of their

electron affinity values is:

AF>CI>0>S

B.F>I1I>CI>S

CCI>F>S8>0

D.O>F > S>CI

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Of9aHpaYz2oX
https://dl.doubtnut.com/l/_Ou5yhoZpvRin
https://dl.doubtnut.com/l/_wFIzxzerBGjo

8. Which will have the maximum value of electron affinity O*, OY, O [xy

and z respectively are 0, — 1 and —2]?

A O*
B. 0¥
C.O?

D. All have equal

Answer: A

o Watch Video Solution

9.The electron gain enthalpies of halogens are as given below:
F= —332,CI= —349,Br = — 324, 1 = — 295kJmol . The less
negative value for F as compared to that of Cl is due to:

A. string electron-electron repulsions in the compact 2-p sub shell of F

B. strong electro-electron repulsion in the bigger 3-p sub shell of CI


https://dl.doubtnut.com/l/_wFIzxzerBGjo
https://dl.doubtnut.com/l/_mi9XNjI7b8rH

C. higher electronegativity value of Cl

D. higher effective nuclear charge of F

Answer: A

° Watch Video Solution

2

10. The formation of the oxide ion O(;) requires first an exothermic and

then an endothermic step as shown below.

O(g)+e :O(g)AH = — 142kJmol

O(_g) +e = 02(;) AH®° = 844kJmol ! This is because of :

A.O~ ion will tend to resist the addition of another electron of
account of same charge

B. Oxygen has high electron affinity

C. Oxygen is more electronegative

D. O ion has comparatively larger size than oxygen atom.


https://dl.doubtnut.com/l/_mi9XNjI7b8rH
https://dl.doubtnut.com/l/_45I62H4gc65n

Answer: A

° Watch Video Solution

1. For the electron affinity of halogens (with —wve sign), which of the

following is correct?

A.Br > F

B.F' > CI

C.Br >1

D.F~ >1

Answer: C

° Watch Video Solution

12. Which of the following has minimum electron affinity?


https://dl.doubtnut.com/l/_45I62H4gc65n
https://dl.doubtnut.com/l/_8PLiVqWYVCd5
https://dl.doubtnut.com/l/_J632M4vt5PQR

A.O

B.S

C. Se

D.Te

Answer: A

o Watch Video Solution

13. The correct order of electron affinity is:

AN>P>S8>CI

B.P>N>S8>CI

CCI>N>P>S

D.CI >S5 >P >N

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_J632M4vt5PQR
https://dl.doubtnut.com/l/_JbRXB7cnFwIf

14. Which of the following statement is wrong?

A. van der Waals' radius of iodine is more than its covalent radius.

B. All isoelectronic ions belong to same period of the periodic table

C.LE (1) of N is higher than that of O while LE (ll) of O is higher than

that of N

D. The electron affinity of N is less than that of P

Answer: B

o Watch Video Solution

15. Which one of the following statements is incorrect?

A. Greater is the nuclear charge, greater is the negative electron gain

enthalpy


https://dl.doubtnut.com/l/_JbRXB7cnFwIf
https://dl.doubtnut.com/l/_RJfqpY65bDvi
https://dl.doubtnut.com/l/_1Y8BM8bAxIZW

B. Nitrogen has almost zero electron gain enthalpy

C. Negative electron gain enthalpy decreases from fluorine to iodine

in the group

D. Chlorine has highest negative electron gain enthalpy

Answer: C

o Watch Video Solution

16. Which of the following electron affinity order is incorrect?

AC <N

B.Nat > Li™

CO" <8t

D. All of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_1Y8BM8bAxIZW
https://dl.doubtnut.com/l/_wkhce4Hq7jIm

17. Select the equation is endothermic in nature?

A.Na™"(g) + CI ™ (g) — NaCI(s)
B.Li " (9) + (ag) — Li" (aq)
CN (9 +N— (g9ge

D.S (g9) +e~ — S %(g)

Answer: D

o Watch Video Solution

18. Which one of the following statements is correct?

A. The elements like F,CI,Br,0 etc. having high values of electron affinity

act as strong oxidising agent.


https://dl.doubtnut.com/l/_wkhce4Hq7jIm
https://dl.doubtnut.com/l/_aCu2QD1XYNO8
https://dl.doubtnut.com/l/_lQCkakv4C5rU

B. The elements having low values of ionisation energies act as strong
reducing agent
C. The formation of S~ (g) is an endothermic process

D. All of the above

Answer: D

o Watch Video Solution

19. Electron affinity of first element in which of the following pairs is

higher?

A.CIF

B. Se, S

C.O,F

D.S,CI

Answer: A



https://dl.doubtnut.com/l/_lQCkakv4C5rU
https://dl.doubtnut.com/l/_Ov3XnAEIVvAz

| ° Watch Video Solution

20.The least stable in amongst the following is :

A Li~

B. Be ™

C.B~

D.C~

Answer: B

° Watch Video Solution

21.In which of the following arrangements the order is NOT according to

the property indicated against it ?

A Ai*T < Mg*" < Na™ < F~ increasing ionic size

B.B < C < N < O < Princreasing first ionisation enthalpy


https://dl.doubtnut.com/l/_Ov3XnAEIVvAz
https://dl.doubtnut.com/l/_z6rCIWpxj7fC
https://dl.doubtnut.com/l/_JIbseA3OsqM2

C.I < Bt < F < Clincreasing electron gain enthalpy (with negative

sign)

D.Li < Na < K < Rb-increasing metallic radius

Answer: B

° Watch Video Solution

22. Electron gain enthalpy is positive when:

A. O~ is formed form O

B. 0% is formed from O~

C.O™" is formed form O

D. electron affinity is always a negative value

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_JIbseA3OsqM2
https://dl.doubtnut.com/l/_UWBDpTpbz8u0
https://dl.doubtnut.com/l/_QDkFDuV7rna4

23. Following are the values of the electron gain enthalpy (in kJ mol_l)
of the formation of O~ and O®~ from O:

A —142, — 744

B. —142, 744

C. 142,744

D. — 142, — 142

Answer: B

° Watch Video Solution

24. Electron addition would be easier in:

A S

B.S™

c.S™

D. 5%+


https://dl.doubtnut.com/l/_QDkFDuV7rna4
https://dl.doubtnut.com/l/_YLjcWb03E3XN

Answer: D

° Watch Video Solution

25.The electron affinities of N, O, S and Cl are such that:

AN<O<S<C(CI

BO<N<CI<S

CO=CI=N=S§

DO<S<CI<N

Answer: A

° Watch Video Solution

26. Consider the following statements.
Statement-1: Fluorine does not form any polyhalide as it has low F-F bond

energy.



https://dl.doubtnut.com/l/_YLjcWb03E3XN
https://dl.doubtnut.com/l/_btWqXvVcCyT0
https://dl.doubtnut.com/l/_oxW8ztSWZHpq

Statement-2: The chlorine has the most negative electron gain enthalpy.
Statement-3: The first ionization potentials of N and O atoms are 14.6 and
13.6eV respectively.
Which of the above statements are correct?

A. Statements 1,2 and 3

B. Statement 1and 2

C.Statement 1and 3

D. Statements 2 and 3

Answer: A

o Watch Video Solution

27. In which of the following process, maximum amount of energy

involved?

ACI — CI™

B.Br~ — Br


https://dl.doubtnut.com/l/_oxW8ztSWZHpq
https://dl.doubtnut.com/l/_QVve3jhUigSN

CF — F

D.I — 1

Answer: A

o Watch Video Solution

28.The increasing order of electron affinity is

AN<O<CI< AI

B.O< N < AI < CI

CAI<N<O<C(CI

D.CI< N<O<AI

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_QVve3jhUigSN
https://dl.doubtnut.com/l/_u73MxpiJp2xa

29. Which of the following has least first electron affinity ?

A.O

B.S

C.F

D.Cl

Answer: A

° Watch Video Solution

30. Which of the following processes is endoergic in nature?

AO +e— 0O*

B.CI+e— CI™

CS+e— S~

DEF+e— F~


https://dl.doubtnut.com/l/_O3DUntuwvJU8
https://dl.doubtnut.com/l/_O9DXNlCVzPBV

Answer: A

° Watch Video Solution

31. Which of the following is not the correct arrangement according to
the property indicated against it ?

A. Li < Na < K < Cs (metallic radius)

B.I < Br < F < (I (electron affinity)

C.B < C < N < O (first ionisation energy)

D. Ai® < Mg?>* < Na®™ < F~ (ionic radius)

Answer: C

o Watch Video Solution

32. Electronic configuration of four elements p,q,r and s are given below

(p) 1s225%2° (q) 1s%2s22p?


https://dl.doubtnut.com/l/_O9DXNlCVzPBV
https://dl.doubtnut.com/l/_L1INJg70O8ay
https://dl.doubtnut.com/l/_9yRMjqBxzPDl

(r) 1s225%3s' (s) 15%2s22p°

Correct order of increasing tendency of gain electron is
AA<C<B<D
BA<B<C<D
CD<B<C<A

DDD< A< B<C(C

Answer: A

o Watch Video Solution

33. Among halogens, the correct order of amount of energy released in

electron gain (electron gain enthalpy) is:

AF>CI>Br>1

BEF<(CI<Br<lI

CF<CI>Br>1


https://dl.doubtnut.com/l/_9yRMjqBxzPDl
https://dl.doubtnut.com/l/_tYj3ZpGUSR3D

DF<CI<Br<lI

Answer: C

° Watch Video Solution

34. The first ionisation potential of Na is 5.1eV. The value of eectrons
gain enthalpy of Na ™ will be

A. —2.55eV

B.—5.1leV

C.—10.2eV

D. 2.55eV

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_tYj3ZpGUSR3D
https://dl.doubtnut.com/l/_LR0TBHsReDij

35. The incorrect statement is :

A. The formation of 0%~ (g) from O(g) is exothermic process
B. Phosphorous has more electron affinity than nitrogen
C. Ne has larger radius than N

D.|AH,, of Na®| = |I. E. of Na|

Answer: A

o Watch Video Solution

36. Which of the following atom has towest negative electron gain

enthalpy?

A.O

B.S

C.Se

D.Te


https://dl.doubtnut.com/l/_3EnZbybBZFM2
https://dl.doubtnut.com/l/_AFFhtXI8VOoF

Answer: A

° Watch Video Solution

37. Which of the following series correctly match relationship between

elements as indicated

A— B

A.F — IFEA decreases

B.C — F' 2nd IE increases

C. He — Xe noble character decreases

D. Sc — Zn atomic radii decreases regularly

Answer: C

° Watch Video Solution

38. Select the incorrect order about halogen.


https://dl.doubtnut.com/l/_AFFhtXI8VOoF
https://dl.doubtnut.com/l/_GjlPZXk6lzFz
https://dl.doubtnut.com/l/_kIDRt4qJ2Mbo

AE.A =CI>F >Br>1

B.B.E. =CI, > Fy > Bry > I,

CIE =F>CI>Br>1

D. Oxiding strength = Fy, > CI, > Bry > I,

Answer: B

o Watch Video Solution

39. Most easily Fe? " jons can be produced from Fe atom be absorbing
energy from which of the following process. Consider equal no of given
species.

A. Formation of O~ from O-atom

B. Formation of '~ from F-atom

C. Formation of C'I = from Cl-atom

D. Formation of S~ from S-atom


https://dl.doubtnut.com/l/_kIDRt4qJ2Mbo
https://dl.doubtnut.com/l/_A2dZ7iTKQrwq

Answer: C

° Watch Video Solution

40. Which of the following process is associated with best possibility of

the energy release?

AL > LT +e

B.O +e — O

CCIt +e —CI

D.Be + e — Be™

Answer: C

° Watch Video Solution

41.The correct order of electron affinity for the different families is:


https://dl.doubtnut.com/l/_A2dZ7iTKQrwq
https://dl.doubtnut.com/l/_v0zh9CZJuJ4h
https://dl.doubtnut.com/l/_IoMCfbmaHILF

A.Halogen > carbon > nitrogen > oxygen

B.Halogen > oxygen > nitrogen > carbon

C.Halogen > nitrogen > carbon > oxygen

D.Halogen > oxygen > carbon > nitrogen

Answer: D

o Watch Video Solution

42. N, /2 atoms of X(g) are converted into Xt (g) by energy E;. Ny /2
atoms of X(g) are converted into X~ (g) by the energy E, . Hence

ionisation potential and electron affinity of X(g) are :

2E1 2(E1 - E2)

AL
Ag Ap
2B 28
Ay’ Ay
C (Ey — E») 2B,
Ay A

D. none of these


https://dl.doubtnut.com/l/_IoMCfbmaHILF
https://dl.doubtnut.com/l/_M1EDlJUTOTf4

Answer: B

° Watch Video Solution

43. Which of the following statements is correct?

A. Mg ™% has greater ionic radius than Li "
B. Shielding constant value for us and 3de ~ is same in scandium
C. H ™ is the smallest anion in periodic table

D.F has highest negative AH, ()

Answer: B

° Watch Video Solution

44. Which of the following process is exothermic?

AF — F


https://dl.doubtnut.com/l/_M1EDlJUTOTf4
https://dl.doubtnut.com/l/_xTEyUzTSDJZD
https://dl.doubtnut.com/l/_Xl81MlVYlevy

B.N — N2~
C.O— 0>~

D. 2CI+ — CI2

Answer: D

° Watch Video Solution

45. Which of the following processes is exothermic?

AO— O

B.O™ — 0%~

C.S™ — §%

D.Li — Li™

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Xl81MlVYlevy
https://dl.doubtnut.com/l/_Y6CkRD7j62tX
https://dl.doubtnut.com/l/_D2MUtsoI336S

46. Arrange N,O and S in order of increasing electron affinity.

AS<O<N

BN<S<O

CN<O<S

DDO<N<S

Answer: C

o Watch Video Solution

47. Which of the following statements is incorrect?

A. AH_, value of noble gases are negative
B. Si is diagonally related to B
C.The element which have higher —AH,, act as strong oxidising

agent.


https://dl.doubtnut.com/l/_D2MUtsoI336S
https://dl.doubtnut.com/l/_pOdpQsyQPgzE

D.H* and Cs™ are the smallest and largest cation in periodic table

respectively

Answer: A

° Watch Video Solution

48. Which enthalpy is not associated with following change ?

Elemental chlorine — chloride ion

A. Bond dissociation enthalpy

B. First ionisation enthalpy

C. First electron gain enthalpy

D. None of the above

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_pOdpQsyQPgzE
https://dl.doubtnut.com/l/_0W4wonlASXtp
https://dl.doubtnut.com/l/_8Mnnk7943SZ7

49. Consider the electronic configuration of 2 elements:
(P) 152, 2522p°, 35%3p* (Q) 152, 2522p5, 3523p*
Choose the incorrect option:

A. (P) has more IE than (Q)

B. (P) has more EA than (Q)

C. Electron addition would be easier in (Q) than (P)

D. Removal of electron would be easier in (Q) then (P)

Answer: B

o Watch Video Solution

50. Which of the following would require least energy?

A Si"(g) — Si(g) + e
B.P (g) = P(g9) + e~

C.S (g9) — S(g) + e~


https://dl.doubtnut.com/l/_8Mnnk7943SZ7
https://dl.doubtnut.com/l/_2CuHrbx8Gx4S

D.CI (g) — CI(g) + e~

Answer: B

° Watch Video Solution

E.Electronegativity

1. The electronic configuration of the outemost shell of the most

electronegative element is
A. 25%2p°
B. 3s23p°
C. 4s%4p°

D. 5s%5p°

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_2CuHrbx8Gx4S
https://dl.doubtnut.com/l/_4yt7SpgDAtvm

2. Following the Mulliken scale, what parameters are required to evaluate

electronegativity ?

A. Only electronegativity

B. Only electron affinity

C. Electron affinity and ionization energy

D. lonic potential and electronegativity

Answer: C

o Watch Video Solution

3.The electronegativity values of the elements are useful in predicting:

A. bond energy of a molecule

B. polarity of a molecule

C. nature of an oxide

D. all of the above


https://dl.doubtnut.com/l/_gu10FYWiFyv9
https://dl.doubtnut.com/l/_UH3LcJHc2fIf

Answer: D

o Watch Video Solution

4.In C, N, O and F the electronegativity

A. increase from carbon to fluorine

B. decrease from carbon to fluorine

C.increase up to oxygen and is minimum at fluorine

D. is minimum at nitrogen and then increase continuously

Answer: A

o Watch Video Solution

5. If xy and z are Mulliken electronegativity, ionisation potential and
electron-affinity respectively. Then the electron affinity (z) in the terms of

electronegativity (x) and ionisation potential (y) will be:


https://dl.doubtnut.com/l/_UH3LcJHc2fIf
https://dl.doubtnut.com/l/_rYgaHLZZCgI1
https://dl.doubtnut.com/l/_0ZBP4LEIwDQF

2
r—y
B.z =
z 2
2 2
r- =y
C.z=
z 2
D.z =2z —y
Answer: D

o Watch Video Solution

6. The EN of the elements C, N, St and P increases in the order of

AN<P<(C<St

B.B>C>Si>P

CN=P>C=S5i

DDN>C>P>Si

Answer: D



https://dl.doubtnut.com/l/_0ZBP4LEIwDQF
https://dl.doubtnut.com/l/_GuocC787BcLS

| ° Watch Video Solution

7. If electro negativity of x be 3.2 and that of y be 2.2 , the percentage

ionic character of xy is

A.19.5

B.18.5

C.95

D. 295

Answer: A

° Watch Video Solution

8. Which of the following relation is correct-

A2IP-FEA—-EN=0

B.2EN —IP-FEA =0


https://dl.doubtnut.com/l/_GuocC787BcLS
https://dl.doubtnut.com/l/_Amwo7ySHYWFU
https://dl.doubtnut.com/l/_3R1ZUi84Aem6

C2EA—-IP—-FEA=0

D.EN —IP—-FEA =0

Answer: B

° Watch Video Solution

9. As one moves down the group from top to bottom then which of the

following will not be observed?

A. lonisation energy increases

B. Electron affinity decreases

C. Electronegativity decreases

D. Atomic radii increase

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_3R1ZUi84Aem6
https://dl.doubtnut.com/l/_60kIKkwgOnZO
https://dl.doubtnut.com/l/_FkSTGblqPFTD

10. Which is a true statement?

A. Larger is the value of ionisation energy easier is the formation of
cation

B. Larger is the value of electron affinity easier is the formation of
anion

C. Larger is the value of ionisation energy as well as electron affinity
the smaller is the electronegativity of atom

D. Larger is the Z, ;s larger is the size of atom

Answer: B

o Watch Video Solution

11. The correct order of electronegativity is:

AF>CI>Br>1

B.F >0>N>C(C


https://dl.doubtnut.com/l/_FkSTGblqPFTD
https://dl.doubtnut.com/l/_MVzDWsJJbqn1

CS<O< Se<Te

D. All of these

Answer: AB

° Watch Video Solution

12. The electronegativity of the following elements increases in the order

A.C, B, Si, P

B.N,St,C, P

c.Si, P,C,N

D. P, Si, N, C

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_MVzDWsJJbqn1
https://dl.doubtnut.com/l/_fTVaMni84b0y

13. Fluorine is more electronegativity than nitrogen. The best explanation
is that:
A. the valency electrons in F are on the average, a little farther to the
nucleus than in N
B. the charge on a F nucleus is +9, while that on N nucleus is +7
C.the nitrogen has half filled valence shell electron configuration,
ns*np® where as fluorine has partially filled electron configuration
ns’np’
D. the electronegativity decreases from top to bottom in each of the

group as the effect nuclear charge remains constant.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_G7gC8qdEVws7

14. Consider the following statements.
(P) IE(I) of nitrogen atom is ore than I E(I) of oxygen atom.
(Q) Electron affinity of oxygen is less than sulphur atom.
(R) Electronegativity of an atom has no relation with its ionization
enthalpy and electron gain enthalpy.
Which of the above statements are correct?
A.PQ
B. PR

C.QS

D.PQandR

Answer: A

o Watch Video Solution

15. Choose the incorrect statement.



https://dl.doubtnut.com/l/_sVe7Q8LSQuFK
https://dl.doubtnut.com/l/_FYSo7n83hUlH

A. H " is the smallest size cation in the periodic table.

B. H ~ is the smallest size anion in the periodic table,

C.F is the most electronegative element on the Pauling scale in the
periodic table.

D. [He] has highest IL.E. in the periodic table.

Answer: B

o Watch Video Solution

16. With respect to oxygen maximum oxidation state is shown by:

A. halogen family

B. oxygen family

C. nitrogen family

D. boron family

Answer: A


https://dl.doubtnut.com/l/_FYSo7n83hUlH
https://dl.doubtnut.com/l/_8hU1Scr7XiWG

o Watch Video Solution

17. Which of the following statements is incorrect?

A.The tendency to attract bonded pair of electron in case of
hybridorbitals follow the order: sp > sp? > sp®

B. Alkali metals generally have negative value of electron gain
enthalpy

C. The average oxidation number of S in NayS,Og is greater than in
the case of Nay550s.

D. The electronegativity values for 2p-series elements is less than that
for 3p-series elements on account of small size and high inter

electronic repulsions.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_8hU1Scr7XiWG
https://dl.doubtnut.com/l/_hcrtyjl75P9E

18. The group state electronic configuration of some elements,
P,Q,R,S and T (these symbols represent the some of the known
elements given in the periodic table) are as follows. Itbr. (P)
: 15225%2p53523p?

(Q) : 15225%2p°3523p%4s?

(R) : 15223221)63523191

(S) : 15225%2p3523p%3d 45!

(T) : 1322322pA 3523p?351045% 47"

Match the electronic configurations of the elements with the properties
given below and select the correct sequence by choosing the correct
codes given.

(i) Element forms a cation which is isoelectronic with P3~.

(ii) Element which in its compounds can show a maximum oxidation state
of 46 and that is coloured too.

(iii) Element has largest atomic radius and highest first ionisation energy
in the respective period.

(iv) Element which has intermediate value of electronegativity and its

oxide forms salts with strong acids and bases.


https://dl.doubtnut.com/l/_c4WoXTK0hBXm

A.QRTP

B.QSTR

C.QRST

D.PQRS

Answer: B

o Watch Video Solution

19. In which case bond length is shortened?

A. When miltiplication occurs between atoms

B. When electronegativities are different

C. In both cases

D. In none of the cases

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_c4WoXTK0hBXm
https://dl.doubtnut.com/l/_9lsPuYadzbl3

20. Which of the following is incorrect?

A.EN.of F > CI

B.EA.of S > O

C.EAof O > Se

D. Atomic radius of Li > Be

Answer: C

o Watch Video Solution

21. Calculate the % ionic character for molecule AB when E.N. different is

2.0:

A. 46 %

B. 36 %

C.30 %


https://dl.doubtnut.com/l/_9lsPuYadzbl3
https://dl.doubtnut.com/l/_tYPZIgXr4ps1
https://dl.doubtnut.com/l/_QkKLIWd3TZq7

D. 50 %

Answer: A

o Watch Video Solution

22. A student went to meet his friend, where he saw that his friend was
doing the study of a particular chemistry book. But he could not find the
theoretical value of bond length in H-F but the found that ry and ry are
0.37A and 0.72A respectively and electronegativity of F and H are 4.0 and
21 respectively. what is bond length of H-F bond?

A.1.09

B.1.784

C.0.92

D. 0.46

Answer: C

| o Watch Video Solution


https://dl.doubtnut.com/l/_QkKLIWd3TZq7
https://dl.doubtnut.com/l/_kgeA7Uv2oe41

23. Which of the following options is incorrecr?

A. Ist ionisation potential : Na < Mg < Si < P
B. Electron affinity: N < C < O < F < CI
C. Hydrated radius : Ba’" (aq) < Sr*" (aq) < Mg*" (aq)

D.Polarityorderr N - H < Sb— H < As— H<P—-H

Answer: D

o Watch Video Solution

24. Calculate the % ionic character for metal fluoride where the

electronegativity of electropositive element is 2.1:

A.43.03 %

B.56.8 %


https://dl.doubtnut.com/l/_kgeA7Uv2oe41
https://dl.doubtnut.com/l/_FLSo7T5aV9C8
https://dl.doubtnut.com/l/_dCHQ9vFhj11j

C.50 %

D.12 %

Answer: A

° Watch Video Solution

25. The most predominantly ionic compounds will obtianed from the

combination of elements belonging to

A.land VI

B. Il and VI

C.IVand Vil

D.llland V

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_dCHQ9vFhj11j
https://dl.doubtnut.com/l/_cXiQOWnukjKT
https://dl.doubtnut.com/l/_07Yg53I4E7Xd

26. The electronegativity of H and Cl are 2.1 and 3.0 respectively. The

correct statement (s) about the nature of HCT is/are:

A. HCI is 177% ionic

B. 83% ionic

C. 50% ionic

D. 100% ionic

Answer: A

o Watch Video Solution

27. Which of the following set has the strongest tendency to form

anions?
A.Ga, In, Fe
B. Na, Mg, AI

C.N,O,F


https://dl.doubtnut.com/l/_07Yg53I4E7Xd
https://dl.doubtnut.com/l/_PGl5FuBpSs9e

D.V,Cr, Mn

Answer: C

o Watch Video Solution

28. Which of the following is correct option?

(p) Same number of electron in d-subshell (Mn, Cr)
(q) Same value of Z,;;(Li ", B")

(r) Same value of o, shielding constant (Li ™, Be2+)
(s) Same value of electronegativity (PH)

(t) Same value of electron affinity (F,Cl)

A. (p)(n)t)
B. (),(s),(t)
C. (p)r)s)

D. All are correct statement

Answer: C


https://dl.doubtnut.com/l/_PGl5FuBpSs9e
https://dl.doubtnut.com/l/_fyHiy0g0Ak5B

o Watch Video Solution

29. The correct relation given by Pauling to calculate electronegativity of

an element X is (with respect to hydrogen). Given EN of X > EN of H

A.EN(X) — EN(H) = 0.208\/BEH_X — /BEx, X BEy _x

B. EN(X) — EN(H) = 0.102\/BEH_X — /BEx_x x BEg_g

C.EN(X) — EN(H) = 0.102\/BEH_ x — /BEx_x x BEg_g
where bond energies (BE) are in kj/mole.

D. Both (a) and (c) are correct

Answer: C

o Watch Video Solution

30. I Ef_ — E§+ bond has given polarity, which of the following is/are
correct about polarity? (Electronegativity of By = 2.4,Q = 3.1, R = 2.6

respectively)


https://dl.doubtnut.com/l/_fyHiy0g0Ak5B
https://dl.doubtnut.com/l/_r56AC3ZmsSxV
https://dl.doubtnut.com/l/_rIya8RkfLiLp

AE) — @

B. QJ— . R5+
5 5—
C.R'" — Ej
5 5—
Answer: B

o Watch Video Solution

31. % lonic character in the covalent bond A-B is: (Given that
X4 =2,Xp=23)

A 125%

B.30 %

C.19.5%

D. data is insufficient

Answer: C



https://dl.doubtnut.com/l/_rIya8RkfLiLp
https://dl.doubtnut.com/l/_qycPuZMLm0NL

| ° Watch Video Solution

32. Which of the following does not represent the correct order of the

properties indicated?

A.F > CI > Br > I(EN)
B.Sc®t > Ti®* > Cr!'™ > Mn (size)
CO<S>Se>Te(EA)

D. Fe’t > Co®t > Ni?t > Cu?™ (unpaired electron)

Answer: B

° Watch Video Solution

33. Which element's electronegativity is closest to that of S?

A.O

B.P


https://dl.doubtnut.com/l/_qycPuZMLm0NL
https://dl.doubtnut.com/l/_zyK4BOP0yFmC
https://dl.doubtnut.com/l/_52nzZujNY9xZ

C.dl

D. Se

Answer: D

o Watch Video Solution

34. Which atom has the highest electronegativity?

A. Na

B.P

c.CI

D. Br

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_52nzZujNY9xZ
https://dl.doubtnut.com/l/_3CNZpMIRspgN

35. Which family of elements has solid, liquid and gaseous members at
25°C and 1 atm pressure?

A. Alkali metals (Li — C's)

B. Phinctogens (N — Bi)

C. Chalcogens (O — Te)

D. Halogens (F' — I)

Answer: D

o Watch Video Solution

36. In which molecule does the chlorine have the most positive partial

charge?

A.HCI

B. BrCI

C.O0CI,


https://dl.doubtnut.com/l/_yhcwtaiyLo44
https://dl.doubtnut.com/l/_FFdqRyksRzOT

D. SCI,

Answer: C

o Watch Video Solution

37. Electronegativities change both down a group and across a period. In

general these changes are to:

Down a group Across a period from legt to right

A increase increase

8 Down a group Across a period from legt to right
increase decrease

c Down a group Across a period from legt to right
decrease increase

5 Down a group Across a period from legt to right
decrease decrease

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_FFdqRyksRzOT
https://dl.doubtnut.com/l/_R6uXoxSB8Jpy

38. Which has the largest bond dissociation energy?

AH-F
B.H-CI
C.H — Br
DH -1
Answer: A

o Watch Video Solution

39. Which of these properties increase across the period from N to CI?

(P) Atomic radius

(Q) Density

(R) Electronegativity

A.Ponly

B.R only


https://dl.doubtnut.com/l/_X7yz78BN0yHx
https://dl.doubtnut.com/l/_yD8nnviMAnX3

C.Pand Qonly

D.Q and R only

Answer: D

° Watch Video Solution

40. What is the correct order when the substances O,, H,O, OF, and
H,0, are arranged in order of increasing oxidation number for oxygen?
A. Oy, H,O, OF,, H,O,
B. H,O, Hy,0O,, Oy, OF,
C. H,0,, Oy, H,O, OF,

D. OF,, Oy, HyOy, HyO

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_yD8nnviMAnX3
https://dl.doubtnut.com/l/_TCDSfxCmSPMD
https://dl.doubtnut.com/l/_BjG3iFV24Gs7

41. Which list includes elements in order of increasing metallic character?
A S, P, S
B.As, P, N
C. Al Ge, Sb

D. Br, Se, As

Answer: D

o Watch Video Solution

42. Which bond is expected to be the least polar?

AO-—-F
B.P—-F
C.Si— N

D.B—-CI


https://dl.doubtnut.com/l/_BjG3iFV24Gs7
https://dl.doubtnut.com/l/_y4odZgYBHUiO

Answer: A

° Watch Video Solution

43. Which of these elements has the greated electronegativity?

A. Br
B.N
c.O

D.S

Answer: C

° Watch Video Solution

44.Select the group where EN increases down the group

A.Ca, Sr, Ba


https://dl.doubtnut.com/l/_y4odZgYBHUiO
https://dl.doubtnut.com/l/_rPmS1NBSKfD6
https://dl.doubtnut.com/l/_vdVSZAmhlGx1

B.Zn,Cd, Hg

C.F,CI, Br

D. Li, Na, K

Answer: B

o Watch Video Solution

45. Which of the following is incorrect?

A.An element which has high electronegativity always has higher
electron gain enthalpy

B. Electron gain enthalpy is the property of an isolated gaseous atom

C. Electronegativity is the property of bonded atom

D. Both electronegativity and electron gain enthalpy are generally
directly related to nuclear charge and inversely related to atomic

size


https://dl.doubtnut.com/l/_vdVSZAmhlGx1
https://dl.doubtnut.com/l/_bRMu3TDAx9SJ

Answer: A

° Watch Video Solution

46. The pair of elements which on combination is most likely to form an

ionic compound is:

A.Na and Ca

B.K and O,

C. 02 and CIQ

D. Al and I,

Answer: B

° Watch Video Solution

47.Two elements A and B have values of electronegativity respectively as

4 and 1.2, then the compound A-B will be:


https://dl.doubtnut.com/l/_bRMu3TDAx9SJ
https://dl.doubtnut.com/l/_0tX3UbDgYLF4
https://dl.doubtnut.com/l/_uXpUWX49ZYYE

A. predominantely covalent

B. predominantely ionic

C. % covalent character less than 50%

D. both (b) and (c)

Answer: D

o Watch Video Solution

48. |dentify the only incorrect statement.

A. Fe® ' has greater electron affinity than Fe® "

B.Between F and Cl, formation of CI ™~ is more exothermic than
formation of F' ~

C.IE, of CI ™ = electron affinity of Cl

D. Electronegativity depends only on electron affinity

Answer: D


https://dl.doubtnut.com/l/_uXpUWX49ZYYE
https://dl.doubtnut.com/l/_CdmEkorVfRBV

o Watch Video Solution

49. According to theory of electronegativity, most suitable name for F,O

molecule will be:

A. oxygen fluoride

B. difluorine oxide

C. oxygen difluoride

D. both (b) and (c)

Answer: C

o Watch Video Solution

50. Define the general formula of non-polar compound on the basis of
given information, where the electronic configuration of valence shell for

A and B are as follows (a) ns2np3 (b) nsznpsz


https://dl.doubtnut.com/l/_CdmEkorVfRBV
https://dl.doubtnut.com/l/_z22VkB8RX7aj
https://dl.doubtnut.com/l/_jwIaseMJMI0k

(P) AB; (Q) ABy

(R) AB; (S) AB;
A POR
B.QRS
C.RS,P

D.S,PQ

Answer: B

o View Text Solution

51. Using the periodic table predict the formula of compound which
might be formed by the following pair of elements: silicon and bromine
A. SiB’l"Q
B. S’iB’I"4

C. SiyBrg~


https://dl.doubtnut.com/l/_jwIaseMJMI0k
https://dl.doubtnut.com/l/_AoR2DJI5GDRn

D. S’L3B’I"§ N

Answer: B

° Watch Video Solution

52. In which of the following compound Mn shows maximum radius?

A. Mn02
B. KMTLO4
C. MnO

D. K3[Mn(CN),]

Answer: C

o Watch Video Solution

53. Which one is not correct statement?


https://dl.doubtnut.com/l/_AoR2DJI5GDRn
https://dl.doubtnut.com/l/_gWPAa5oPyDDN
https://dl.doubtnut.com/l/_033vY6Hs3lKO

A. IE(I) of He is maximum among all elements.
B. E,(I) for noble gases is zero/positive
C. Electronegativity is maximum for fluorine

D. IE(I) for nitrogen is less than that of oxygen.

Answer: D

o Watch Video Solution

54. Which of the following is affected by the stable electron configuration
of an atom?
(P) Electronegativity (Q) lonisation energy (Q) Electron affinity
Correct answer is:
A. only electronegativity
B. only ionisation potential

C. electron affinity and ionisation energy both

D. all of the above


https://dl.doubtnut.com/l/_033vY6Hs3lKO
https://dl.doubtnut.com/l/_uWlpc2H4IG26

Answer: C

° Watch Video Solution

F.Acidic-Basic Character, Hydration etc.

1. The order of basic character of given oxides is:

A. NasO > MgO > CuO > Si0O,
B. MgO > S5i0Oy > CuO > NayO
C.Si0y > MgO > CuO > NayO

D.CuO > NasO > MgO > Si0O,

Answer: A

° Watch Video Solution

2. Amphoteric behaviour is shown by the oxide of:


https://dl.doubtnut.com/l/_uWlpc2H4IG26
https://dl.doubtnut.com/l/_4fvs1AcyXAyE
https://dl.doubtnut.com/l/_sEFEWbl0EPN2

A. Al and Ca

B. Pb and Ba

C.Cr and Mg

D.Sn and Zn

Answer: D

o Watch Video Solution

3. An element X occurs in short period having configuration ns?np'. The

formula and nature of its oxide is:

A. X O3, basic
B. X O3, acidic
C. X503, amphoteric

D. X503, basic

Answer: C



https://dl.doubtnut.com/l/_sEFEWbl0EPN2
https://dl.doubtnut.com/l/_DOhWqq476EFK

| o Watch Video Solution

4. Aqueous solution of two compounds M; — O — H and M, — O — H
are prepared in two different beakers . If electronegativity of
M, =34, My =12,0= 3.5 and H = 2.1, then the nature of two
solution will be respectively

A. acidix, basic

B. acidic, acidic

C. basic, acidic

D. basic, basic

Answer: A

° Watch Video Solution

5. which one of the following oxides is neutral?


https://dl.doubtnut.com/l/_DOhWqq476EFK
https://dl.doubtnut.com/l/_lDrFhhuFJkeg
https://dl.doubtnut.com/l/_u4zMEDGFpxW7

A.CO

B. Sn0O,

C. ZnO

D. S0,

Answer: A

° Watch Video Solution

6. The correct order of acidic strength is

A CLO; > 503 > P,0Oq

B.COy > NyOs > SO;

C. NayO > MgO > AIQOg

D. K;0 > CaO > MgO

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_u4zMEDGFpxW7
https://dl.doubtnut.com/l/_7TMPxKtFCisJ

7. Identify the correct order of acidic strength of CO,, CuO, CaO and

H,0.

A.CaO < CuO < H,0 < CO,

B. H,O < CuO < CaO < CO,

C.CaO < Hy,0 < Cu0 < CO,

D. H,O < COy < CaO < CuO

Answer: A

o Watch Video Solution

8. Which one of the following is an amphoteric oxide?

A. ZnO

B. NCL2O

C. SO,


https://dl.doubtnut.com/l/_7TMPxKtFCisJ
https://dl.doubtnut.com/l/_E4aqEOmmTHqF
https://dl.doubtnut.com/l/_3J13zyW5f3v3

D. BgOg

Answer: A

° Watch Video Solution

9. Which of the following is the most acidic in nature?

A. 5i0,

B. P4010

C.CO,

D. SO3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_3J13zyW5f3v3
https://dl.doubtnut.com/l/_V9i4Ze1STKnU

10. Among Al,Os, Si0,y, P,O3 and SO, the correct order of acidic

strength is:

A. AI203 < S5i09 < 805 < P,O4

B.Si0y < SO5 < ALL,O3 < P,0O4

C.S0;3 < P,O3 < 510y < AL,Og

D. ALLO3 < S§i0y < P,O3 < SO5

Answer: D

o Watch Video Solution

11. Which of the following oxides is amphoteric in nature?

A.CaO

B.CO,

C. 570,

D. S’I’L02


https://dl.doubtnut.com/l/_YpZjT65nDCOi
https://dl.doubtnut.com/l/_aXvOgwtZ0AeO

Answer: D

o Watch Video Solution

12. In which of the following arrangements, the sequence is not strictly

according to the property written against it?

A.HF < HCI < HBr < HI: increasing acid strength

B.NH; < PH3; < AsH3 < SbHj: increasing basic strength

C. B < C < O < Nz:increasing first ionization enthalpy

D.CO, < 510y < Sn0Oy < PbOs: increasing oxidising power

Answer: B

o View Text Solution

13. Find the incorrect acidic strength order:


https://dl.doubtnut.com/l/_aXvOgwtZ0AeO
https://dl.doubtnut.com/l/_tSAjLNtod4AD
https://dl.doubtnut.com/l/_qnVpnwVGjGuQ

A. KQO > RbQO > 0820

B. NyO < NOy < Ny,O5

C. LZzO < BeO < N205

D.CLL,0O; > P,O5 > SiO,

Answer: B

o Watch Video Solution

14. The correct order of acidic nature of the oxides of chlorine is

A CLO < CIOy < CI,0O4 < CL,04

B.CIO; < CI,0 < CL0Og¢ < CLL,0,

C.CLO < CIOy < CI,0O7 < CI,04

D.CL0O; < CI,0O4 < CIOy < CLL,O

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_qnVpnwVGjGuQ
https://dl.doubtnut.com/l/_WIpkhE2YLeT7

15. The most acidic oxide is:

A. S04

B. P,Os

C.CLO;

D. P203

Answer: C

° Watch Video Solution

16. The correct order of basic nature is

A. B2O3 < AIQOg < In203 < TIQO

B. 3203 > AIzO3 > In203 > TIzO

C.B,03 < TILO < ALLO3 < Iny0O4


https://dl.doubtnut.com/l/_WIpkhE2YLeT7
https://dl.doubtnut.com/l/_5d9EXQQKMsAh
https://dl.doubtnut.com/l/_qguySA2l4kWy

D. B,O3 < InyO3 < TI,O < AL, O4

Answer: A

° Watch Video Solution

17. Select the amphoteric oxide.

A. NCL20

B. AL,Os

C.CLO;

D.CO

Answer: B

° Watch Video Solution

18. Select the correct statement.


https://dl.doubtnut.com/l/_qguySA2l4kWy
https://dl.doubtnut.com/l/_5vW4ZMHU2H1O
https://dl.doubtnut.com/l/_iVqrnHtcY8cR

A.EN. of atom X is 2.5 on Pauling scale if IE of X is 2eV EA of X is 3eV
B.|IE of X(g)| = |EA of X(g) |
C.F (aq) < CI (aq) < Br (aq) < I (aq) (ionic mobility)

D.Li" (ag) < Na™ (aq) < K " (ag) < Rb™ (aq) (size)

Answer: C

o Watch Video Solution

19. Which of the following option is incorrect

A List — I List — I1
" Istlonisation potential Na < Mg < Si < P
B List — 1 List — I1
" Electron affinity N <C <O < F <CI
List — 1 List — I1
¢ Hydrated radius Ba?" (aq) < Sr*™ (aq) < Mg?* (aq)
5 List — I List — I1

" Polarityorder N - H < Sh— H< As— H<P-H

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_iVqrnHtcY8cR
https://dl.doubtnut.com/l/_1zuv1DOIrAW7

20. What property of the oxygen atom is represented by the equation
O(9) +e — O (g)?

A. Electronegativity

B. First electron affinity

C. First ionization energy

D. Lattice energy

Answer: B

o Watch Video Solution

21. Which element forms a compound with the formula H3 XO,?

A As
B.CI

C.N


https://dl.doubtnut.com/l/_1zuv1DOIrAW7
https://dl.doubtnut.com/l/_uwdo86JgX8aW
https://dl.doubtnut.com/l/_bAdaBWdFuM0y

D.S

Answer: A

° Watch Video Solution

22. Which forms the most alkaline solution when added to water?

A ALOs

B. B203

C.CO,

D. §70,

Answer: A

° Watch Video Solution

23. The oxide of which element is the most ionic?


https://dl.doubtnut.com/l/_bAdaBWdFuM0y
https://dl.doubtnut.com/l/_Sb1iZtkEd7ih
https://dl.doubtnut.com/l/_Ow2PzbEwlgNB

A AT

B.B

C.C

D. Si

Answer: A

o Watch Video Solution

24.The incorrect statement among the following is:

A.density increases across the period from left to right while

decreases down the group

B. ionization energy depends upon the type of orbital (of same energy

level) from which electron is being removed

C. generally electron affinity decreases down the group


https://dl.doubtnut.com/l/_Ow2PzbEwlgNB
https://dl.doubtnut.com/l/_gPxCJ11rtUTD

D. moving diagonally, the charge to size ratio remains nearly same for

2 and 3rd period elements upto 14th group.

Answer: A

° Watch Video Solution

25. Which of these compounds is amphoteric ?
(P) AI(OH), (Q) Ba(OH),

(R) Zn(OH),

A.Ponly

B.Q only

C.Pand Ronly

D.Q and R only

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_gPxCJ11rtUTD
https://dl.doubtnut.com/l/_WOBBSWzsUYnF

26. Which oxide produces the most acidic solution when 0.1 mol is added

to 1L of H,O?

A. BaO

B. BG,O2

C. S50,

D. SO;

Answer: D

o Watch Video Solution

27. Element P,Q, R and S belong to the same group. The oxide of P is
acidic, oxide of Q and R are amphoteric while the oxide of S is basic.

Which of the following elements is the most electropositive ?

A.R


https://dl.doubtnut.com/l/_WOBBSWzsUYnF
https://dl.doubtnut.com/l/_twrkao0VcTx0
https://dl.doubtnut.com/l/_JJ57chWZJ9jf

B.Q

C.P

D.S

Answer: C

° Watch Video Solution

28. Increasing order of basic character of NO3y K50 and ZnO is

B. K20 < ZnO < NQO,

C.NOy < K70 < ZnO

D. K;0 < NOy < ZnO

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_JJ57chWZJ9jf
https://dl.doubtnut.com/l/_VA4rZoPbk2hL
https://dl.doubtnut.com/l/_XQHwJhRQvN0l

29. Which of the following options is correct regarding periodic
properties?

A.lonicradiiorder CI~ > H ™

B. Electropositivity order of elements Li > Na > K > Rb

C. Zeff order L1 < Na < K < Rb

D. Hydration energy order Fe ™% > Fe™? > Fe™*

Answer: D

o Watch Video Solution

30. Condition suitable for high solubility of ionic compound in solvent

should be:

A. High lattice energy and low hydration energy

B. Low lattice energy and high hydration energy

C. Lattice energy must be equal to hydration energy


https://dl.doubtnut.com/l/_XQHwJhRQvN0l
https://dl.doubtnut.com/l/_vmFxnE7p0Ch3

D. Solubility is independent of lattice or hydration energy

Answer: B

° Watch Video Solution

31. Find out the value of (P) in the following cycle:

NH.(g) + HCl(e) ™, NH! C1 ()
D

H(g) + Clg) Sthe

u:{ lm.‘

NH,(g) + H*(g) + Clg) ——— NH; (@) + Cr (@)

Given
AH; = —400kJ,I. E. = +50kJ,D = + 50kJ, AH.y, = — 30kJ
lattice energy — — 100kJ

A. —400kJ

B. —300kJ

C.—370kJ


https://dl.doubtnut.com/l/_vmFxnE7p0Ch3
https://dl.doubtnut.com/l/_H7mEEJHx1OxW

D. —310kJ

Answer: C

° Watch Video Solution

32. Which terms are exothermic for the formation of NaF(s)?
(P) Na(g) — Na™(g) + e~
(Q F(g) +e = F~(9)

(RYNa™(g) + F~(g) — NaF(s)

A.Ponly
B.Q only
C.Pand Ronly

D.Q and R only

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_H7mEEJHx1OxW
https://dl.doubtnut.com/l/_flNE2tkd5HYh

33.In order to calculate the lattice energy of NaCI using a Born-Haber
cycle, which value is not needed?

A. enthalpy of sublimation of Na(s)

B. first ionization energy of CI(g)

C. bond dissociation energy of CI,(g)

D. enthalpy of formation of NaCI(s)

Answer: B

o Watch Video Solution

34. Which of the following represent correct of hydration energy released

in aqueous state?

AN3>02%>F-

B.F  <(CI < Br <I™

CLit <K' <Cs*


https://dl.doubtnut.com/l/_3AzVfQcwhyNm
https://dl.doubtnut.com/l/_98ux9w611aRz

D.AI™® > Mg™2 > Na™

Answer: D

o Watch Video Solution

35.The following order are given along with their metioned properties:
(P) Mg < Na < Sr < Ba [order of atomic size]

Q Mt > M*?> M+3[M = hypothetical element, order of IP; of
respective ion]

(R) F' > CI > Br > I [order of electronegativity]

(S) AI,O3 < P,O5 < Sos3 < CI,0Oy [order of basic nature]

(TY F~ >CI~ > Br >1" [order of ionic mobility in aqueous
solution]

Which option represents group incorrect order?

A.PRT
B.QRT

C.QRS


https://dl.doubtnut.com/l/_98ux9w611aRz
https://dl.doubtnut.com/l/_6EvnWLYQaDeS

D.RS,T

Answer: D

° View Text Solution

36. Which of the following order is/are correct ?

A.Li" < Na™ < K™ :Hydrated radius
B.Na™ < Mg ™% < AI'"®: lonic radius
C.F < CI > Br: Electron affinity

D.CI — OH < Br — OH < I — OH: Acidic character

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_6EvnWLYQaDeS
https://dl.doubtnut.com/l/_uX8MUig6KE2J

37. The following acid have arrange in the order of decreasing strength.

Identify the correct order. CIOH (I)BrOH (II)IOH (III)

AP>Q>R

B.Q>P>R

CR>Q>P

DP>R>Q

Answer: A

o Watch Video Solution

38. Which of the following is/are correct statement(s)?

A. Electron affinity of oxygen is more than that of sulphur

B. If spin quantum number was assigned three different values, the

6th period would have maximum 48 elements


https://dl.doubtnut.com/l/_9dP6GQ36seKd
https://dl.doubtnut.com/l/_4O9i2G5MU4yJ

C. Acidic nature of oxides of group Xlll elements increases down the

group

D. All of the above

Answer: B

° Watch Video Solution

39. Which of the following is an amphoteric oxide?

A.CO

B.NO

C. BeO

D. N203

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_4O9i2G5MU4yJ
https://dl.doubtnut.com/l/_HnmAqmZZmQLT
https://dl.doubtnut.com/l/_p8Bozm1mjHqO

40. Which is an amphoteric oxides?

A. BeO
B. SnO
C. ZnO

D. All of these

Answer: D

o Watch Video Solution

41.The order of basic strength of given oxide:

A. Na20 > MgO > AIQOg > CuO
B. MgO > A1203 > CuO > N(IQO
C.ALOs > MgO > CuO > NayO

D.CuO > NayO > MgO > AI,O;


https://dl.doubtnut.com/l/_p8Bozm1mjHqO
https://dl.doubtnut.com/l/_IRGziYafba8a

Answer: A

° Watch Video Solution

42. Which of the following is neutral oxide?

A. SnO

B. PbO

C. PbO,

D. N;O

Answer: D

° Watch Video Solution

43.The high oxidising power of fluorine is due to :

A. high electron affinity


https://dl.doubtnut.com/l/_IRGziYafba8a
https://dl.doubtnut.com/l/_VFVG5kqL0sgN
https://dl.doubtnut.com/l/_LFhOIZTu0zfW

B. high ionisation energy

C. both (a) and (b)

D. none of the above

Answer: A

° Watch Video Solution

44.The correct statement is:

A. F has more electron affinity than O®
B. Ai>® ion has more hydration energy than Mg>® ion
C. noble gases have positive electron affinity

D. all of the above

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_LFhOIZTu0zfW
https://dl.doubtnut.com/l/_jAOpIxZtedfW
https://dl.doubtnut.com/l/_1D0vxLRvcoSG

45. AB and C are oxides of elements X,Y and Z respectively. X,Y and Z are
in the same period of the periodic table. A gives an aqueous solution
which turns blue litmus red. B reacts with both strong acids and strong
alkalies. C gives an aqueous solution which is strongly alkaline. Which of
the following statement is/are true ?

(P) All the three elements are metals.

(Q) The electronegativites decreases from X to Y to Z.

(R) The atomic radius increases in theorder X <Y < Z.

(S) X,Y and Z could be phosphorus, aluminium and sodium respectively.

A. PQ,R only correct

B. PR only correct

C.Q,S only correct

D. Q,R,S only correct

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1D0vxLRvcoSG

Reasoning Type

1. Assertion: Electron gain enthalpy value of the 3rd peirod p-block
elements of the mordern periodic table are generally more negative than
the 2nd period element of the same group.
Reason: Due to smaller atomic size of the 2nd peirod element, its electron
density is high which eases the addition of electron.
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-1
B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a
correct explanation for Statement-1

C. Statement-1is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_fsCplkcyB47R
https://dl.doubtnut.com/l/_qAuPbsPY7Ba7

2. Statement-1: 'He' has owest ionisation energy among all the elements.

Statement-2: Electron affinity values of metals are generally low white

those of non-metals are high.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-2

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-2

C. Statement-1is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: D

o Watch Video Solution

3. Statement-1: In a period, noble gas has largest atomic radius.

Statement-2: In case of noble gases van der Waal's radius is defined and


https://dl.doubtnut.com/l/_qAuPbsPY7Ba7
https://dl.doubtnut.com/l/_TflMyyK9HyNw

there is much inter electronic repulsions.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-3

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-3

C. Statement-1is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: A

o Watch Video Solution

4, Statement-1: The 5™ period of periodic table contains 18 elements are
32.
Statement-1: n =5,1 =0,1,2,3. The order in which the energy of

available orbitals 4d, 5s and 5p increases is 5s < 4d < 5p and the total


https://dl.doubtnut.com/l/_TflMyyK9HyNw
https://dl.doubtnut.com/l/_jUD52WEyZodm

number of orbitals avaiable are 9 and thus 18 electrons can be

accommodated.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-4

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-4

C. Statement-1is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: A

o Watch Video Solution

5. Assertion: the 4f~ and 5f inner transition series of elements are
placed separately at the bottom of the modern periodic table.
Reason : (i) Position of f-block elements prevents the undue expansion of

the mordern periodic table, ie, maintains its structure.


https://dl.doubtnut.com/l/_jUD52WEyZodm
https://dl.doubtnut.com/l/_0oMXuY4ANnTG

(i) Position of f-block elements preserves the principle of classification by

keeping elements with similar properties in a single column.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-5

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-5

C. Statement-1is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: A

o Watch Video Solution

6. Statement-1: Manganese (atomic number 25) a less favourable electron
affinity than its neighbours on either side.
Statement-2: The magnitude of an element's electron affinity only

depends on the element's valence shell elecronic configuration.


https://dl.doubtnut.com/l/_0oMXuY4ANnTG
https://dl.doubtnut.com/l/_2fRwdA5Q5OJU

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-6

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-6

C. Statement-1is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: C

o Watch Video Solution

7. Assertion: In general, for an element, [E;, < IEy < IE;....
Reason: After the removal of each succesive electron remaining electrons
are held more tightly by the nucleus so removal of next electorn becomes

difficult.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-7


https://dl.doubtnut.com/l/_2fRwdA5Q5OJU
https://dl.doubtnut.com/l/_iqVpmAlgHjPs

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-7

C. Statement-1is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: A

o Watch Video Solution

8. Statement-1: Second electron gain enthalpy of halogens is always

positive.

Statement-2: Fluorine has most negative electron gain enthalpy.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-8

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-8

C. Statement-1is True, Statement-2 is False


https://dl.doubtnut.com/l/_iqVpmAlgHjPs
https://dl.doubtnut.com/l/_LQUyonqT96Yq

D. Statement-1 is False, Statement-2 is True

Answer: C

o Watch Video Solution

9. Statement-1: Third ionisation energy of phosphorous is larger than
sulphur.
Statement-2: There is a larger amount of stability associated with filled s-
and p-sub-shells (a noble gas electron configuration) which corresponds
to having eight electrons in the valence shell of an atom or ion.
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-9
B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a
correct explanation for Statement-9

C. Statement-1is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True


https://dl.doubtnut.com/l/_LQUyonqT96Yq
https://dl.doubtnut.com/l/_tXRRlVENran4

Answer: D

o Watch Video Solution

10. Statement-1: First ionisation energy of O (g) is greater than that of
N(g) whereas vice versa is true for the first ionisation energy of N * (g)
and N(g) respectively.
Statement-2: Electronic configuration of N(g) is more stable than that of
N™(g).
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-10
B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a
correct explanation for Statement-10

C. Statement-1is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: D


https://dl.doubtnut.com/l/_tXRRlVENran4
https://dl.doubtnut.com/l/_3jXcovb4Wd9U

o Watch Video Solution

11. Statement-1: Down the group, electronegativity decreases from B to TI.

Statement-2: Electronegativity of an element depends on its electron

affinity and ionisation energy.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-11

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-11

C. Statement-1is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3jXcovb4Wd9U
https://dl.doubtnut.com/l/_00gMBbaDxHwi

12. Statement-1: Sc¢(Z = 21) is placed as d-block element.

Statement-2: Last filling electron goes into 3d-subshell.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-12

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-12

C. Statement-1is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: A

o Watch Video Solution

13. Statement-1: Na ™ and AI®" are isoelectronic but the magnitude of

ionic radius or AI®" is less than that of Na ™.


https://dl.doubtnut.com/l/_wi4PLTUN2W0J
https://dl.doubtnut.com/l/_n1OnG6X1zv5A

Statement-2: The magnitude of effective nuclear charge of the outer most
shell electrons in AI®" is greater than that of Na .
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-13
B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a
correct explanation for Statement-13
C. Statement-1is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: A

o Watch Video Solution

14. Statement-1: The atomic radii of the elements of the oxygen family are
smaller than the atomic radii of the corresponding elements of the
nitrogen family.

Statement-2: The members of the oxygen family are more electronegative


https://dl.doubtnut.com/l/_n1OnG6X1zv5A
https://dl.doubtnut.com/l/_udVVIUycK2Hy

and thus have lower values of nuclear charge than those of the nitrogen

family.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-14

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-14

C. Statement-1is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: C

o Watch Video Solution

15. Statement-1: Metallic character of first group metals increases down
the group with the decreasing ionisation energy.
Statement-2: The loss and gain of electron(s) can be used in explaining

the reducing and oxidising behaviour of the element respectively.


https://dl.doubtnut.com/l/_udVVIUycK2Hy
https://dl.doubtnut.com/l/_DBTGhECS7Otl

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-15

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-15

C. Statement-1is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: B

o Watch Video Solution

16. Statement-1: Fluorine has a less negative electron gain enthalpy than
chlorine.

Statement-2: There is relative greater effectivebess of 2p-electrons in the
small F atom to repel the additional electron entering the atom than to

3p-electrons in the large Cl atom.


https://dl.doubtnut.com/l/_DBTGhECS7Otl
https://dl.doubtnut.com/l/_zBivq76srY8G

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-16

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-16

C. Statement-1is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: A

° Watch Video Solution

17. Statement-1: Fluorine forms only one oxoacid, HOF,

Statement-2: Fluorine has small size and high electronegativity.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-17


https://dl.doubtnut.com/l/_zBivq76srY8G
https://dl.doubtnut.com/l/_gP547viPTOCl

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-17

C. Statement-1is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: A

o Watch Video Solution

18. Statement-1: Li and Mg shows diagonal relationship.

Statement-2: Li and Mg are diagonal to each other in the periodic table.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-18

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-18

C. Statement-1is True, Statement-2 is False


https://dl.doubtnut.com/l/_gP547viPTOCl
https://dl.doubtnut.com/l/_Wg270vA7SpIZ

D. Statement-1 is False, Statement-2 is True

Answer: B

o Watch Video Solution

19. Statement-1: The decreasing order of acidi character of
COy, N5,O5, SiO5 and SO3 is SO3 > NoOy > COy > Si0,.
Statement-2: Oxides of the metals are generally basic and oxides of the
non-metals are acidic.
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-19
B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a
correct explanation for Statement-19

C. Statement-1is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True


https://dl.doubtnut.com/l/_Wg270vA7SpIZ
https://dl.doubtnut.com/l/_QJ8GLGefgs9r

Answer: B

o Watch Video Solution

20. Statement-1: Oxidising property of F} is greater than Cl,.
Statement-2: (AH)eg (electron gain enthalpy) of F is greater than Cl.
Screen reader support enabled.
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-2
B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a
correct explanation for Statement-2
C. Statement-1is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_QJ8GLGefgs9r
https://dl.doubtnut.com/l/_nvc7IlSxAynY

21. Statement-1: Generally, ionisation enthalpy increases from left to right
in a period.
Statement-2: When successive electrons are added to the orbitals in the
same principal quantum level, the shielding effect of inner core of
electrons does not increase very much to compensate for the increased
attraction of the electron to the nucleus.
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-2
B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a
correct explanation for Statement-2

C. Statement-1is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_1LjoiT14WZKE
https://dl.doubtnut.com/l/_c2UBF30ufXb7

22. Statement-1: Boron has a smaller first ionisation enthalpy than

beryllium.

Statement-2: The penetration of a 2s electron to the nucleus is more than

the 2p electron hence 2p electron is more shielded by the inner core of

electrons than the 2s electrons.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-2

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-2

C. Statement-1is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_c2UBF30ufXb7

23. Assertion: Electron gain enthalpy always becomes less negative as we

go down a group in Modern periodic table.

Reason: The size of the atom increase on going down the group in

Modern periodic table and the added electron would be farther from the

nucleus.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-23

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-23

C. Statement-1is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ep5z3rPHPzjS

24. Assertion: The first ionisation energy of Be is greater than that of B.

Reason: 2p-orbital is lower in energy than 2s-orbital.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-24

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-24

C. Statement-1is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: C

o Watch Video Solution

25. Statement-1: The acidic strength order of hydra acids s
HF < HCI < HBr < HI

Statement-2: The E.N. of halogens are F' > CI > Br > I.


https://dl.doubtnut.com/l/_o6CUi8eq7sOv
https://dl.doubtnut.com/l/_Eb5Hptkuw94t

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-2

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-2

C. Statement-1is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: B

o Watch Video Solution

26. Statement-1: The decreasing order of acidic character of
002, N205, S’LOg and 503 is 503 > N205 > COQ > S’LOQ
Statement-2: As electronegativity difference (E-O) decreases, acidic

character of the oxide increases.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-2


https://dl.doubtnut.com/l/_Eb5Hptkuw94t
https://dl.doubtnut.com/l/_F7rQYysFhsAP

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-2

C. Statement-1is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: A

o Watch Video Solution

27. Statement-1: The ionisation potential of Sn is greater than Pb.

Statement-2: Usually, ionisation energy decreases down the group.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-2

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-2

C. Statement-1is True, Statement-2 is False


https://dl.doubtnut.com/l/_F7rQYysFhsAP
https://dl.doubtnut.com/l/_IEP9qDl9tJDj

D. Statement-1 is False, Statement-2 is True

Answer: D

o Watch Video Solution

28. Statement-1: (I.E.), of an atom is always greater than
(I.E), ;(neI")
Statement-2: ne/Z ratio decreases on successive elimination of electrons.
A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct
explanation for Statement-2
B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a
correct explanation for Statement-2
C. Statement-1is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: A

[ - |


https://dl.doubtnut.com/l/_IEP9qDl9tJDj
https://dl.doubtnut.com/l/_u5QGzw3d4TFc

| @ Watch Video Solution J

29. Statement-1: Nitrogen atom has higher ionization energy than

fluorine atom.

Statement-2: Nitrogen atom has extra stable electronic configuration due

to half filled p-subshell.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-2

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-2

C. Statement-1is True, Statement-2 is False

D. Statement-1 is False, Statement-2 is True

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_u5QGzw3d4TFc
https://dl.doubtnut.com/l/_K1SZtJBYiIMY

Multiple Objective Type

1. Which of the following statements is/are true about the modern form

of periodic table?

A. Third group of periodic table accommodates maximum number of

elements.

B. Due to presence of half filled and fully filled sub shells in electronic

configuration electronegativity of atom increases

C. The element of 13 th group and 7th period will have atomic number

113.

D. Diagonal relationship in 2nd and 3rd period element is found due

to similar charge to size ratio

Answer: A::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_uaVYA9u5phfo
https://dl.doubtnut.com/l/_M40YI9MVAdfT

2. Which of the following orders is correct for the size ?

AMg"T < Nat < F~ < AI
B.Te’” >I~ >Cs" > Ba®"
C.Fe*t < Fe?t < Fet™

D.Mg > AI > Si > P

Answer: A::B::D

° Watch Video Solution

3. In which of the following arrangements, the order is not correct
according to the property indicated against it.

A.Increasing size: Cu’>"™ < Cu’ < Cu

B.Increasing [E,: B< C < N <O

C.Increasing IE;: Na < AI < Mg < Si

D.Increasing IE,: Li < Na < K < Rb


https://dl.doubtnut.com/l/_M40YI9MVAdfT
https://dl.doubtnut.com/l/_EMN2iCMrJFZc

Answer: B::D

° Watch Video Solution

4. Which of the following statement(s) is/are correct?

A. lonization energy may be negative for some elements

B. Second electron gain enthalpy always remains positive for all the

elements

C. Negative value of electron gain enthalpy of fluorine is minimum in

its group

D. lonization energy of Ga is slightly more than Al

Answer: B::D

o Watch Video Solution



https://dl.doubtnut.com/l/_EMN2iCMrJFZc
https://dl.doubtnut.com/l/_43ydVeZl6vQ5

5. lonisation energy of atoms A and B are 350 and 250kcalmol ™
respectively. The electron affinities of these atoms are 70kcalmol ' and
90kcalmol ! respectively then:

A. Electron cloud is more attracted by A

B. Electron cloud is more attracted by B

C. Electronegativity of A is more than B

D. Electronegativity of A is less than B

Answer: A::C

o Watch Video Solution

6. Which of the following statements is/are true for the long form of the

periodic table?

A. it reflects the sequence of filling the electrons in the order of sub

energy level, s,p,d and f


https://dl.doubtnut.com/l/_Pbs3bYeVAfSV
https://dl.doubtnut.com/l/_O50T2ggXVi7h

B. it helps to predict the stable valency states of the elements

C. it reflects trends in physical and chemical properties of elements

D. it helps to predict the relative ionicity of the bond between any two

elements

Answer: A::B::C

o Watch Video Solution

7. Which of the following statements is/are true about the modern form

of periodic table?

A. Properties of the elements are the periodic functions of their

atomic number

B. There are 7 periods

C.There are 8 groups

D. It has separate positions for the isotopes


https://dl.doubtnut.com/l/_O50T2ggXVi7h
https://dl.doubtnut.com/l/_PufaTJ4e3t8d

Answer: A::B

° Watch Video Solution

8.The factors that influence the ionisation energies are:

A. the size of the atom

B. the charge on the nucleus

C. how effectively the inner electron shell screen the nuclear charge

D. stability of electronic configuration

Answer: A::B::C::D

° Watch Video Solution

9. Which of the following statement(s) is/are correct?


https://dl.doubtnut.com/l/_PufaTJ4e3t8d
https://dl.doubtnut.com/l/_LyBbkZYXhQso
https://dl.doubtnut.com/l/_87IQ0zVnA9eJ

A.The second ionization energy of sulphur is greater than that of

chlorine

B. The third ionization energy of phosphorus is greater than that of

aluminium

C.The first ionization energy of aluminium is nearly the same as that

of gallium

D.The second ionization energy of boron is greater than that of

carbon.

Answer: A::B::C::D

o Watch Video Solution

10. lonization energy of an element is:

A.equal in magnitude but opposite in sign to the electron gain

enthalpy of the cation of the element


https://dl.doubtnut.com/l/_87IQ0zVnA9eJ
https://dl.doubtnut.com/l/_17OuXpEdQhy5

B. same as electrin affinity of the element

C.energy required to remove one valence electron from an isolated

gaseous atom in its ground state

D.equal in magnitude but opposite in sign to the electron gain

enthalpy of the anion of the element

Answer: A::C

o Watch Video Solution

11. The properties which are common to both groups 1and 17 elements in

the periodic table are:

A. metallic character increases down the groups

B. reactivity decreases from top to bottom in groups

C. atomic radii increases as the atomic number increases

D. electronegativity decreases on moving down a group


https://dl.doubtnut.com/l/_17OuXpEdQhy5
https://dl.doubtnut.com/l/_vjMAZc98X1pR

Answer: A::C::D

° Watch Video Solution

12. Select the incorrect statement(s).

A.IE(I) of nitrogen atom is less than IE(I) of oxygen atom.

B. Electron affinity of oxygen is less than selenium atom.

C. Electronegativity on Pauling scale is 2.8 times greater than
electronegativity on Muliken scale.

D.The Cr%7 is smaller than Cr3*

Answer: A::C

o Watch Video Solution

13. Which of the following order(s) is/are correct?



https://dl.doubtnut.com/l/_vjMAZc98X1pR
https://dl.doubtnut.com/l/_ESqcHpr7og4p
https://dl.doubtnut.com/l/_4pfSh3kMGW2Y

A0’ < F~ < Na' < Mg*" increasing Zegtective
B. Mg?"t < Na™ < O~ < F~ increasing size
C.O>" < F~ < Na' < Mg?" increasing ionisation energy

D.O*>” < F~ < Na" < Mg*" increasing electron affinity

Answer: A::C::D

o Watch Video Solution

14. Which of the following is/are true order (s)?

A. BT < B< B~ Size
B.I < Br < CI < F Electron affinity
C. 02_ < O~ < O+ Zeffective

D. Na < AI < Mg < SI Ionisation potential

Answer: A::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_4pfSh3kMGW2Y
https://dl.doubtnut.com/l/_gI70uPyyG2wB

15. Poor shielding of nuclear charge by d or f-orbital elements is

responsible for which of the following facts?

A. Atomic radius of Nb(4-d series) is comparable to that of Ta(5-d

series)

B. The 1st ionisation energy of copper is less than that of zinc

C.The value of electron gain enthalpy is more negative for sulphur

than for oxygen.

D. The 1st ionisation energy for gold is greater than that of silver.

Answer: A::D

o Watch Video Solution

16. Select equations having endothermic step:

AS (g9)+e (99— S (9


https://dl.doubtnut.com/l/_gI70uPyyG2wB
https://dl.doubtnut.com/l/_tuJ5Mv8Q7b4g
https://dl.doubtnut.com/l/_ZaMmAqLIzJ1J

B. Ne(g) + e (g9) — Ne (g)
C.N(g) +e (g9) = N (g)

D.AI’* (g) — AI*" (g) + e (g)

Answer: A::B::C::D

° Watch Video Solution

17. Which is not correct order for the properties specified ?

A. I > Br > CI > F (oxidising character)

B.K > Mg > AI > B (metallic character)

CLi<B<Be<(C<O<NC<VPF< Ne (first

enthalpy)

D.Li > Na > K > Rb > C's (chemical reactivity)

Answer: A::C

jonisation

° Watch Video Solution



https://dl.doubtnut.com/l/_ZaMmAqLIzJ1J
https://dl.doubtnut.com/l/_byfzuNp2I3Ox

18. Select the correct statement(s).

A.The normal oxide formed by the element on extreme left is the
most basic

B.The tendency of group IA (i.e, 1st group) to form oxygen rich
compounds increases from top to bottom

C. Oxides of metals are called as basic anhydrides

D.In general metallic oxides (O””) peroxides (O3 ) and super

oxides (O;) are ionic

Answer: A::B::C::D

o Watch Video Solution

19. Degenerate orbital have:


https://dl.doubtnut.com/l/_byfzuNp2I3Ox
https://dl.doubtnut.com/l/_A1KPLYS0SCIk
https://dl.doubtnut.com/l/_AE8hNg6fSKE0

A.n same

B.l same

C. m different

D. s different

Answer: A::B::C

o Watch Video Solution

20. Which of the following pairs were incorrectly arranged in Mendeleev's

Periodic table?

AAr — K
B.Te — I

C.Th — Pa
D.Co — Ni

Answer: A::B::C::D

~ ~


https://dl.doubtnut.com/l/_AE8hNg6fSKE0
https://dl.doubtnut.com/l/_319h67KgGJ4f

| ° Watch Video Solution

21. Which option is correct for atomic radius?

A. Ne > F

B.Ar > CI

C.F > Ne

D.CI > Ar

Answer: A::B

° Watch Video Solution

22. Choose the correct order of ionic size:

A.-Na®™ > Mg*>" > AI3"
B.Na™ < Mg*% < AI*"

CN} >0 >F~


https://dl.doubtnut.com/l/_319h67KgGJ4f
https://dl.doubtnut.com/l/_yIHybMw1HtEr
https://dl.doubtnut.com/l/_e208wz0emaSE

D. P** > Pb > Pb**

Answer: A::C

° Watch Video Solution

23.The ionic radii depends upon the following factors:

A. charge of cation

B. charge of anion

C. shell number of valence shell electron(s) of the ion

D. number of atoms for multiatomic ion

Answer: A::B::C::D

o Watch Video Solution

24. Which of the following is correct order of EA.


https://dl.doubtnut.com/l/_e208wz0emaSE
https://dl.doubtnut.com/l/_LzEm95eg3ZSf
https://dl.doubtnut.com/l/_GIwqdLQVmtIV

AN<C<O<PF

B.E >CI >Br>1

C.CI>F>DBr>1

DC<N<OKF

Answer: A::C

o Watch Video Solution

25. Which of the following is/are correct?

A.For A(g) + e~ — A~ (g)AH mat be negative
B.For A~ (g9) + e~ — A? (g)AH may be negative
C.For A~ (g) + e~ — A*(g)AH must be positive

D.For A™3(g) + e~ — AT2(g)AH must be negative

Answer: A::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_GIwqdLQVmtIV
https://dl.doubtnut.com/l/_07hMh03U1QN7

26. According to Slater's rule, which of the following has correct order of
Zegg?

A.Na > K

B.Li > Na

C.Na < Mg

D.Li < Be

Answer: C::D

o Watch Video Solution

27. Which of the following is/are correctly matcged?

A. E > O (Electronegativity)

B. Mg > AI (Ist ionisation energy)

C. HCI > HI (Thermal stability)


https://dl.doubtnut.com/l/_07hMh03U1QN7
https://dl.doubtnut.com/l/_XDguCAeRN3KF
https://dl.doubtnut.com/l/_TISdCWuGxyHs

D.Diamond > Graphite (Electrical conductance)

Answer: A::B::C

o Watch Video Solution

28. Which of the following statements is/are incorrect ?

A.lonisation energy of A~ is greater than A when A is a halogen
atom.

B. lonisation energy of A is greater than that of A*™ when A is the
number of alkali metals

C. Successive ionisation energy is always increasing for 1st and 2nd
period element

D.Electron affinity value of A" is numerically identical with the

ionisation potential of A~ [for any atom]

Answer: A::B::D


https://dl.doubtnut.com/l/_TISdCWuGxyHs
https://dl.doubtnut.com/l/_DxF9FceY1NkM

° Watch Video Solution

29. Mendleev left the space for elements in periodic table for the

elements:

A . Ga

B. Sc

C.Ge

D.Te¢c

Answer: A::B::C::D

o Watch Video Solution

30. Which of the following properties are the properties of metal?

A. They are sonorous

B. They are in general poor conductor of heat and electricity


https://dl.doubtnut.com/l/_DxF9FceY1NkM
https://dl.doubtnut.com/l/_uB3bqH8eOOV8
https://dl.doubtnut.com/l/_6QkYqo7OgIwf

C. They are malleable and ductile

D. They are hard

Answer: A::C::D

° Watch Video Solution

31. For which of the following species the contribution of s electron to

the shielding constant is 0.3 ?

AHT

B. He

C.Li"

D.H™

Answer: B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_6QkYqo7OgIwf
https://dl.doubtnut.com/l/_fB64ZyNR4ueI
https://dl.doubtnut.com/l/_dYEhNymgDQRO

32. Which of the following represents the correct order of the properties
indicated ?

A.F >0 > N > C (Electronegativity)

B. St > Ti** > K+ (Size)

C. Ni*t < Co®" < Fe** < Mn** (Unpaired electron)

D. HNO3 > HNO, (Acidic strength order)

Answer: A::C::D

o Watch Video Solution

33. Select the element (s) which belongs to d-block but not transition

elements:

A. Zn

B.Cd

C.Hg


https://dl.doubtnut.com/l/_dYEhNymgDQRO
https://dl.doubtnut.com/l/_JpJ5rJhHZxJr

D.PT

Answer: A::B::C

° Watch Video Solution

34.The species having 4 or more unpaired electrons are:

A Fe?t

B.Co®t

C. Mn?+

D. Ni?*

Answer: A::B::C

° Watch Video Solution

35. Which option is/are correct?


https://dl.doubtnut.com/l/_JpJ5rJhHZxJr
https://dl.doubtnut.com/l/_vsbEZD30AXDE
https://dl.doubtnut.com/l/_cxnnnqBYGj5j

A. Atomic radius decreases with increase in Z, ¢
B. The atomic number of 50 elements is present in 5th period
C. Alkaline earth elements are IA group elements

D. Alkali metals are IIA group elements

Answer: A::B

o Watch Video Solution

36. The elements Z = 116 and 119 have been discovered. In which
family/group, would you place these elements and also give the
electronic configuration in each case?

A. Z = 116, oxygen family, configuration = [Rn|5f'6d'07s*7p*

B. Z = 119, alkali metal, configuration = [Uuo]8s"

C. Z = 116, halogen family, configuration = [Rn]5f'*6d'°7s6(2)7p*

D. Z = 119, alkali metal , configuration = [Uuo]8s”


https://dl.doubtnut.com/l/_cxnnnqBYGj5j
https://dl.doubtnut.com/l/_RWzdIkNgyB8s

Answer: A::B

° Watch Video Solution

37. Those elements impart colour to the flame on heating in it, the atoms
of which require low energy for the ionisation (i.e., absorb energy in the
visible region of spectrum). The elements of which of the following
groups will impart colour to the flame?

A2

B.13

C.1

D. 17

Answer: A::C

° Watch Video Solution



https://dl.doubtnut.com/l/_RWzdIkNgyB8s
https://dl.doubtnut.com/l/_StwFH26nSnZ3

38. Which of the following sequences contain atomic numbers of only

representative elements?

A. 3,33,53,87

B. 2,10,22,36

C.717,25,37,48

D. 9,35,51,88

Answer: A::D

o Watch Video Solution

39. Which of the following elements will gain one electron more readily in

comparison to other elements of their group?

A. S(g)

B. Na(g)

C.O(9)


https://dl.doubtnut.com/l/_I1zbxBU8WhFH
https://dl.doubtnut.com/l/_5GXDQiGet5La

D.CI(g)

Answer: A::D

o Watch Video Solution

40. Which of the following statements are correct?

A.Helium has the highest first ionisation enthalpy in the periodic

table

B. Chlorine has less negative electron gain enthalpy than fluorine

C. Mercury and bromine are liquids at room temperature

D. In any period, atomic radius of alkali metal is the highest

Answer: A::C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_5GXDQiGet5La
https://dl.doubtnut.com/l/_Uf7Wec6nogqE

41. Which of the following sets contain only isoelectronic ions?
A Zn?t,Ca®",Ga®t, AT
B.K",Ca*", 8", CI~
c.p3,8*,CI ,K*

D.Ti*", Ar, Cr® T, V3T

Answer: B::C

o Watch Video Solution

42. In which of the following options order of arrangement does not
agree with the variation of property indicated against it?

A AT < Mg2+ < Nat < F~ (increasing ionic size)

B.B < C < N < O (increasing first ionisation enthalpy)

C.I < Br < CI < F (increasing electron gain enthalpy)

D.Li < Na < K < Rb (increasing metallic radius)


https://dl.doubtnut.com/l/_PDLHGXP3bFYs
https://dl.doubtnut.com/l/_AvsLgxGDcQDC

Answer: B::C

° Watch Video Solution

43. Which of the following have no unit?

A. Electrongativity

B. Electron gain enthalpy

C. lonisation enthalpy

D. Metallic character

Answer: A::D

° Watch Video Solution

44.lonic radii vary in

A. inverse proportional to the effective nuclear charge


https://dl.doubtnut.com/l/_AvsLgxGDcQDC
https://dl.doubtnut.com/l/_DtkkKn4jZzF3
https://dl.doubtnut.com/l/_hpPMaZdIdWC1

B. inverse proportional in the square of effective nuclear charge

C.direct proportional to the screening effect

D. direct proportional to the square of screening effec

Answer: A::C

o Watch Video Solution

45. An element belongs to 3rd period and group-13 of the periodic table.

Which of the following properties will be shown by the element?

A. Good, conductor of electricity

B. Liquid, metallic

C. Solid, metallic

D. Solid,non metallic

Answer: A::C

o Watch Video Solution



https://dl.doubtnut.com/l/_hpPMaZdIdWC1
https://dl.doubtnut.com/l/_Ol0KH0j05ruC

46. Which of the following statements are correct?

A.F is the most electronegative and Cs is the most electropositive

element

B. The EN of halogens decreases from F to |

C.The E.A of Cl is higher than that of F through their EN values are in

the reverse order

D. The E.A of noble gases is low

Answer: A::B::C::D

o Watch Video Solution

47. Which of the following statements (s)is/are true?

1

Screening effect

A. lonisation energy o


https://dl.doubtnut.com/l/_Ol0KH0j05ruC
https://dl.doubtnut.com/l/_yaD8VL0PM5cr
https://dl.doubtnut.com/l/_sIyKGx5GQhYB

B. The first ionisation energies of Be and Mg are more than ionisation
energies of B and Al respectively

C. Atomic and ionic radii of niobium and tantanium are almost some

D. Metallic and covalent radii of potassium are 2.3A and 2.03A

respectively.

Answer: A::B::C::D

o Watch Video Solution

48. Which of the following statement(s) is/are true for IA elements?

A.Na is regarded as a typical/representative element

B. Basic character of their oxides increases down the group

C. Among alkali metal ions, degree of hydration is highest in Li

D. In general, electron affinity values decreases from top to bottom in

the group


https://dl.doubtnut.com/l/_sIyKGx5GQhYB
https://dl.doubtnut.com/l/_Iyf69ZtxGc6i

Answer: A::B::C::D

° Watch Video Solution

49. The process(es) requiring the absorption of energy is/are:

ACI — CI™

B.S — S~

CH— H"™

D.Ar — Ar—

Answer: B::D

° Watch Video Solution

50. Predict block of element whose outer electron set of quantum

number n,,m is 6,0,0 respectively:


https://dl.doubtnut.com/l/_Iyf69ZtxGc6i
https://dl.doubtnut.com/l/_mnFyJBSg0Qqb
https://dl.doubtnut.com/l/_GXAiw4bywdTU

A. s-block

B. p-block

C.d-block

D. f-block

Answer: A::C::D

° Watch Video Solution

51. Which of the following are neutral oxide?

A. N,O
B.NO
Cc.CO

D. H,O

Answer: A::B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_GXAiw4bywdTU
https://dl.doubtnut.com/l/_JmiEgSEBW0TM

52. Which of the following statement(s) is/are correct?

A. Th' is transuranic element

B. He' has highest first ionization energy among all elements

C.Li"is lighest metal

D. F' has positive second electron gain enthalpy

Answer: B::C::D

° Watch Video Solution

53. In which of the following pairs, the first atom is larger than the second

?

A Br,CI

B. Na, Mg

C.Sr,Ca


https://dl.doubtnut.com/l/_JmiEgSEBW0TM
https://dl.doubtnut.com/l/_tacEEpGAYx5h
https://dl.doubtnut.com/l/_1P0NnAvwwhs9

D.N, P

Answer: A::B::C

° Watch Video Solution

54. Among the given elements, select those, which are not at the peack of

Lother Meyer's curves?

A. La

B. K

C.CI

D. Xe

Answer: A::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_1P0NnAvwwhs9
https://dl.doubtnut.com/l/_qyNfh8FZz912

55. An element has electronic configuration as
152, 25%2p° 3s23p5, 442, 3d".
Correct statement regarding element is:
A. Element must be Co
B. Element belongs to group number '9" according to the long form of
periodic table
C. Maximum number of electrons in element havingm = + lare6

D. Element has magnetic moment \/15BM

Answer: A::B::C::D

o Watch Video Solution

56. The correct order of radii is:

AN < Be<B

B.F~ <0?> < N3~


https://dl.doubtnut.com/l/_zm3gSYcLgw8B
https://dl.doubtnut.com/l/_d0rlinCcwq8C

C.Na > Li < K

D. Fe?t > Fe3t > Fett

Answer: B::C::D

° Watch Video Solution

57.Choose the correct statement.

A.Be and Al are not in same group

B. All the transition metals correspond to d-block

C. Be and Al are having lot of similarities in their properties

D. The atomic radius gradually decreases from Sc to Zn.

Answer: A::B::C

° Watch Video Solution



https://dl.doubtnut.com/l/_d0rlinCcwq8C
https://dl.doubtnut.com/l/_0qfOPeAVWG3r

58. Which of the following pair of elements are not of same group of

periodic table?

A Li, Na

B. Be, B

C.N, As

D.O, At

Answer: B::D

o Watch Video Solution

59. Which of the following statements are incorrect?

A. The elements after thorium are called transuranium elements

B.P < S8i < Be < Mg < Na, the order of increasing metallic

character

C.The f-block elements are called transition elements


https://dl.doubtnut.com/l/_vB6cdlQRGX3K
https://dl.doubtnut.com/l/_zkQRYCIYYQj7

D. Zn, Cd and Hg are called transition elements

Answer: A::C::D

° Watch Video Solution

60. Which of the following processes involve absorption of energy?

AS(g)+e — S (9
B.Xe(g) + e~ — Xe (9)
CO (9)+e — O* (g

D.CI (g) — CI(g) + e~

Answer: B::C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_zkQRYCIYYQj7
https://dl.doubtnut.com/l/_Yq9s6jr0xCav

61. In which of the following arrangements the order which is correct
according to the property indicated against it.
A AT < Mgt < Na™ < F ~:lIncreasing ionic size
B.B < C < N < O: Increasing first ionisation enthalpy
C.I < Br < F < CTI: Increasing electron gain enthalpy (magnitude
only)

D.Li: < Na < K < Rb: Increasing metallic radius

Answer: A::C::D

o Watch Video Solution

62. which of the following order of ionisation energy is correct?

A.Li > Be(IIl. E.)
B.N > O(IIL. E.)

C.Be < B(III. E.)


https://dl.doubtnut.com/l/_dVjEZ5MCvxzI
https://dl.doubtnut.com/l/_G5FS4TWejJoC

D.F < O(IIL. E.)

Answer: A::C::D

o Watch Video Solution

63. Which of the following statements is/are correct?

A. Elements Ce to Lu are called lanthanides

B.P < S8i < Be < Mg < Na in the increasing order of metallic
character

C.Mg has the largest size and AI®*T has smallest size among
Mg. Mg ™2, AT, AT 3

D.Among P, S, CI, F, phosphorous has least negative electron gain

enthalpy.

Answer: A::B::C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_G5FS4TWejJoC
https://dl.doubtnut.com/l/_NqIDAmSf8qMr

64. Which of the following are endothermic process?

A5 (g9) = S *(g)
B.AI*" (g) — AI*" (g)
C.N(g) = N '(g)

D. NaCI(s) — Na™ (g) + CI (g)

Answer: A::B::C::D

° Watch Video Solution

Comprehension 1

1. The periodicity is related to the electronic configuration. That is, all
chemical and physical properties are a manifestation of the electronic
configuratio of the elements. The atomic and ionic radii generally

decrease in a period from left to right. As a consequence, the ionization


https://dl.doubtnut.com/l/_NqIDAmSf8qMr
https://dl.doubtnut.com/l/_YwXvNuyXiELY
https://dl.doubtnut.com/l/_JeXIzb8JsD28

enthalpes generally increase and electron gain enthalpies become more
negative across a period. In order words, the ionization enthalpy of the
extreme left element in a period is the least and the electron gain
enthalpy of the element on the extreme right is the highest negative. This
results into high chemical reactivity at the two extremes and the lowest
in the centre. Similary, down the group, the increase in ionization
enthalpies and a regular decrease (with exception in some third period
elements) in electron gain enthalpies in the case of main group elements.
The loss and gain of electrons can be co-related with the reducing and
oxidising behaviour, and also with metallic and non-metallic character
respectively of the elements.

The correct order of the metallic character is:

A.Na > Mg > AI > Si

B.Mg > Na > AI > Si

C.AI > Mg > Na > St

D.Si > AI > Na > Mg

Answer: A



https://dl.doubtnut.com/l/_JeXIzb8JsD28

l o Watch Video Solution J

Comprehension

1. The periodicity is related to the electronic configuration. That is, all

chemical and physical properties are a manifestation of the electronic
configuratio of the elements. The atomic and ionic radii generally
decrease in a period from left to right. As a consequence, the ionization
enthalpes generally increase and electron gain enthalpies become more
negative across a period. In order words, the ionization enthalpy of the
extreme left element in a period is the least and the electron gain
enthalpy of the element on the extreme right is the highest negative. This
results into high chemical reactivity at the two extremes and the lowest
in the centre. Similary, down the group, the increase in ionization
enthalpies and a regular decrease (with exception in some third period
elements) in electron gain enthalpies in the case of main group elements.
The loss and gain of electrons can be co-related with the reducing and

oxidising behaviour, and also with metallic and non-metallic character


https://dl.doubtnut.com/l/_JeXIzb8JsD28
https://dl.doubtnut.com/l/_z53Anp1VzgE5

respectively of the elements.

The correct order of the non-metallic character is:

AB>C>58 >N>F

B.S:>C>B>N>F

CF>N>C>B>S1

DDE>N>C>Si >B

Answer: C

o Watch Video Solution

2. The periodicity is related to the electronic configuration. That is, all
chemical and physical properties are a manifestation of the electronic
configuratio of the elements. The atomic and ionic radii generally
decrease in a period from left to right. As a consequence, the ionization
enthalpes generally increase and electron gain enthalpies become more
negative across a period. In order words, the ionization enthalpy of the

extreme left element in a period is the least and the electron gain


https://dl.doubtnut.com/l/_z53Anp1VzgE5
https://dl.doubtnut.com/l/_Fwx81hoiUg64

enthalpy of the element on the extreme right is the highest negative. This
results into high chemical reactivity at the two extremes and the lowest
in the centre. Similary, down the group, the increase in ionization
enthalpies and a regular decrease (with exception in some third period
elements) in electron gain enthalpies in the case of main group elements.
The loss and gain of electrons can be co-related with the reducing and
oxidising behaviour, and also with metallic and non-metallic character
respectively of the elements.

Which of the following statements is incorrect?
A. Oxide of aluminium (AI,O3), and arsenic (AsyO03) are amphoteric
B. Oxide of chlorine (CL,Oy) is less acidic than oxide of nitrogen
(N205)
C. Oxide of carbon (CO,) is more acidic than oxide of silica (5i05).

D. The correct increasing order of basic character of various oxides is

H,0 < CuO < MgO < CaO

Answer: B

| o WMIlak L\ dan Ol ik mn



https://dl.doubtnut.com/l/_Fwx81hoiUg64
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3. The amount of energy required to remove, an electron from the last
orbit of an isolated (free) atom in gaseous state is known as ionisation
energy or first ionisation of the element. Similarly the energy required for
the removal of the electron from the unipositive ion (M " produced
above) is referred to as second ionization energy and thus the third,
fourth etc. The ionisation energy depends on various factors like nuclear
charge, size of atom, type configurations, screening effect and
penetration power of the electrons.

The domination factor responsible for the decreasing ionisation energies

of the elements of moving down the group is:

A. atomic radius
B. type of electron to be removed
C. the valence sheel electron configuration

D. all of the above

Answer: A


https://dl.doubtnut.com/l/_Fwx81hoiUg64
https://dl.doubtnut.com/l/_OIPxGbGctEbR

o Watch Video Solution

4. The amount of energy required to remove, an electron from the last
orbit of an isolated (free) atom in gaseous state is known as ionisation
energy or first ionisation of the element. Similarly the energy required for
the removal of the electron from the unipositive ion (M " produced
above) is referred to as second ionization energy and thus the third,
fourth etc. The ionisation energy depends on various factors like nuclear
charge, size of atom, type configurations, screening effect and
penetration power of the electrons.

Which of the following order is not correct?

A.IE(l) of Be > IE(l) of B but IE(II) of Be < IE(II) of B
B. IE(l) of Be < IE(I) of B but IE(II) of Be < IE(II) of B
C.IE(II) of O > IE(II) of N

D. IE(l) of Mg > IE(l) of Al

Answer: B

f 1


https://dl.doubtnut.com/l/_OIPxGbGctEbR
https://dl.doubtnut.com/l/_uUCK97VO0inl

| o Watch Video Solution

5. Numerous forms of the periodic table have been revised from time to
time. A modern verion, which is most convenient and widely used is the
long or extended from the periodic table. The aufbau principle (electrons
are filled in the progressive order of their increasing energy i.e, by n + |
rule) and the electronic configuration of atom provides a theoretical
foundation for the periodic classification. The horizontal rows are called
periods. There are altogether seven periods. The first period consists of 2
elements. The subsequent periods consist of 8, 8, 18 and 32 elements
respectively. The seventh maximum of 32 elements. Elements having
similar outer electronic configurations in their atoms are grouped in
vertical columns. These are referred to as groups or famillies. According
to the recommendation of IUPAC, the groups are numbered 1 to 18
replacing the older notation of groups O, IA, lIA .... VIIA, VIII, IB, ... VIl B.
Each successive period in the periodic table is associated with the filling
up of next higher principal energy level following aufbua sequence. The
number of elements in each period is twice the number of atomic orbitals

avaliable in the energy level that is being filled. All the elements are


https://dl.doubtnut.com/l/_uUCK97VO0inl
https://dl.doubtnut.com/l/_dWaN4QN569JQ

classified into four blocks, i.e., s-block, p-block, d-block and f-block
depending on the type of atomic orbitals that are being filled with the
last electron of the element.

Elements a,b,c,d and e have the following electronic configurations.

(a) 1s2, 2s%2p*

(b) 152, 25%2p) (6), 3s23p"

(c) 132, 2322p6, 3323191

(d) 1s%, 2s22p5, 3523p°

(e) 132, 2522p6, 3523])5

Which among these will belong to the same group in periodic table?

A.aandc
B.aandb
C.aandb

D.dande

Answer: B

o Watch Video Solution
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6. Numerous forms of the periodic table have been revised from time to
time. A modern verion, which is most convenient and widely used is the
long or extended from the periodic table. The aufbau principle (electrons
are filled in the progressive order of their increasing energy i.e, by n + |
rule) and the electronic configuration of atom provides a theoretical
foundation for the periodic classification. The horizontal rows are called
periods. There are altogether seven periods. The first period consists of 2
elements. The subsequent periods consist of 8, 8, 18 and 32 elements
respectively. The seventh maximum of 32 elements. Elements having
similar outer electronic configurations in their atoms are grouped in
vertical columns. These are referred to as groups or famillies. According
to the recommendation of IUPAC, the groups are numbered 1 to 18
replacing the older notation of groups O, IA, lIA .... VIIA, VIII, IB, ... VIl B.
Each successive period in the periodic table is associated with the filling
up of next higher principal energy level following aufbua sequence. The
number of elements in each period is twice the number of atomic orbitals
avaliable in the energy level that is being filled. All the elements are
classified into four blocks, i.e., s-block, p-block, d-block and f-block

depending on the type of atomic orbitals that are being filled with the


https://dl.doubtnut.com/l/_zLC36HyqIBix

last electron of the element.

If aufbau rule is not followed, Ca-20 will be placed in.......block.

B.p
C.d

D.f

Answer: C

o Watch Video Solution

7. Numerous forms of the periodic table have been revised from time to
time. A modern verion, which is most convenient and widely used is the
long or extended from the periodic table. The aufbau principle (electrons
are filled in the progressive order of their increasing energy i.e, by n + |
rule) and the electronic configuration of atom provides a theoretical
foundation for the periodic classification. The horizontal rows are called

periods. There are altogether seven periods. The first period consists of 2


https://dl.doubtnut.com/l/_zLC36HyqIBix
https://dl.doubtnut.com/l/_E8DKrmsievbp

elements. The subsequent periods consist of 8, 8, 18 and 32 elements
respectively. The seventh maximum of 32 elements. Elements having
similar outer electronic configurations in their atoms are grouped in
vertical columns. These are referred to as groups or famillies. According
to the recommendation of IUPAC, the groups are numbered 1 to 18
replacing the older notation of groups O, IA, IIA .... VIIA, VIII, 1B, ... VIl B.
Each successive period in the periodic table is associated with the filling
up of next higher principal energy level following aufbua sequence. The
number of elements in each period is twice the number of atomic orbitals
avaliable in the energy level that is being filled. All the elements are
classified into four blocks, i.e., s-block, p-block, d-block and f-block
depending on the type of atomic orbitals that are being filled with the
last electron of the element.

What is the position of the element in the periodic table satisfying the

electronic configuration (nl1)d'ns? for n = 42

A. 3rd period and 3rd group
B. 4th period and 4th group

C. 3rd period and 2nd group


https://dl.doubtnut.com/l/_E8DKrmsievbp

D. 4th period and 3rd group

Answer: D

o Watch Video Solution

8. Numerous forms of the periodic table have been revised from time to
time. A modern verion, which is most convenient and widely used is the
long or extended from the periodic table. The aufbau principle (electrons
are filled in the progressive order of their increasing energy i.e, by n + |
rule) and the electronic configuration of atom provides a theoretical
foundation for the periodic classification. The horizontal rows are called
periods. There are altogether seven periods. The first period consists of 2
elements. The subsequent periods consist of 8, 8, 18 and 32 elements
respectively. The seventh maximum of 32 elements. Elements having
similar outer electronic configurations in their atoms are grouped in
vertical columns. These are referred to as groups or famillies. According
to the recommendation of IUPAC, the groups are numbered 1 to 18

replacing the older notation of groups O, IA, IIA .... VIIA, VIII, 1B, ... VIl B.


https://dl.doubtnut.com/l/_E8DKrmsievbp
https://dl.doubtnut.com/l/_EwA3Q2Dskr95

Each successive period in the periodic table is associated with the filling
up of next higher principal energy level following aufbua sequence. The
number of elements in each period is twice the number of atomic orbitals
avaliable in the energy level that is being filled. All the elements are
classified into four blocks, i.e., s-block, p-block, d-block and f-block
depending on the type of atomic orbitals that are being filled with the
last electron of the element.

In MendeleeV's periodic table, silver belongs to IB group. The group to
which silver belongs in long form of periodic table is (Atomic number

=47):

A. first

B. tenth

C. sixteenth

D. eleventh

Answer: D

o Watch Video Solution
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9.The reducing effect of the nuclear charge by the inner electrons for on
outer electron is termed aas shielding (or screening). As a result of
shielding, the outer electrons in an atom always experience less nnuclear
charge than the actual nuclear charge Z. The effective nuclear charge
(Z*) as experienced by an electron is then obtained by subtracting the
total shielding contributions from alll the other electrons (i.e., except the
one under consideration) from the actual nuclear charge.

Z¥=Z—-o0o

Where og=sum of the shielding contributions. The rules for estimating
contributions to o are as follows (Slater's rule) Contribution to shielding

by each electron is :

Electron All Higher Same Group Group<
Grpoup Group Group n—1 n—2
1s 0 0.30 — —

(ns, sp) 0 0.35 0.85 1.00
(nd) or (nf) 0 0.35 1.00 1.00

According to Slater's treatment, the energy of an electron in nth shell of

an atom having atomic number Z is given by the empirical equation

« N\ 2
E = —13.6<Z ) eV

n


https://dl.doubtnut.com/l/_ehjzCbmwb5CT

Z* = effective nuclear charge

Z* for a 1st electron in Fe atom is:

A 2.85

B.25.70

C.25.65

D.3.75

Answer: B

o Watch Video Solution

10. The reducing effect of the nuclear charge by the inner electrons for on
outer electron is termed aas shielding (or screening). As a result of
shielding, the outer electrons in an atom always experience less nnuclear
charge than the actual nuclear charge Z. The effective nuclear charge
(Z*) as experienced by an electron is then obtained by subtracting the
total shielding contributions from alll the other electrons (i.e., except the

one under consideration) from the actual nuclear charge.


https://dl.doubtnut.com/l/_ehjzCbmwb5CT
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Z*=Z-o
Where o=sum of the shielding contributions. The rules for estimating
contributions to o are as follows (Slater's rule) Contribution to shielding

by each electron is :

Electron All Higher Same Group Group<
Grpoup Group Group n—1 n—2
1s 0 0.30 — —

(ns, sp) 0 0.35 0.85 1.00
(nd) or (nf) 0 0.35  1.00 1.00

According to Slater's treatment, the energy of an electron in nth shell of

an atom having atomic number Z is given by the empirical equation

L\ 2
E = —13.6(Z ) eV

n

Z* = effective nuclear charge
The magnitude of first ionisation energy for Na (according to formula
given) is equal to:

A. energy of its 3s electron

B. energy of its 1s electron

C. energy of its 2s electron

D. energy of its 2p electron


https://dl.doubtnut.com/l/_oK3uR68FcGtU

Answer: A

° Watch Video Solution

11. The reducing effect of the nuclear charge by the inner electrons for on
outer electron is termed aas shielding (or screening). As a result of
shielding, the outer electrons in an atom always experience less nnuclear
charge than the actual nuclear charge Z. The effective nuclear charge
(Z*) as experienced by an electron is then obtained by subtracting the
total shielding contributions from alll the other electrons (i.e., except the
one under consideration) from the actual nuclear charge.

Z*=Z-o

Where og=sum of the shielding contributions. The rules for estimating
contributions to ¢ are as follows (Slater's rule) Contribution to shielding

by each electron is :

Electron All Higher Same Group Group<
Grpoup Group Group n—1 n—2
1s 0 0.30 — —

(ns, sp) 0 0.35 0.85 1.00
(nd) or (nf) 0 0.35 1.00 1.00

According to Slater's treatment, the energy of an electron in nth shell of


https://dl.doubtnut.com/l/_oK3uR68FcGtU
https://dl.doubtnut.com/l/_8nw5z5Lc273T

an atom having atomic number Z is given by the empirical equation

L\ 2
E = —13.6(Z—> eV
n

Z* = effective nuclear charge

The size of isoelectronic species —F ~, Na™ and Mg is effected by:
A. nuclear charge
B. valence principal quantum number (n)
C. electron-electron interaction in the outer orbitals

D. none of the above

Answer: A

o Watch Video Solution

12. The reducing effect of the nuclear charge by the inner electrons for on
outer electron is termed aas shielding (or screening). As a result of
shielding, the outer electrons in an atom always experience less nnuclear
charge than the actual nuclear charge Z. The effective nuclear charge

(Z*) as experienced by an electron is then obtained by subtracting the


https://dl.doubtnut.com/l/_8nw5z5Lc273T
https://dl.doubtnut.com/l/_caq6RwozJjoq

total shielding contributions from alll the other electrons (i.e., except the
one under consideration) from the actual nuclear charge.

Z*=Z-—-o

Where o=sum of the shielding contributions. The rules for estimating
contributions to o are as follows (Slater's rule) Contribution to shielding

by each electron is :

Electron All Higher Same Group Group<
Grpoup Group Group n—1 n—2
1s 0 0.30 — —

(ns, sp) 0 0.35 0.85 1.00
(nd) or (nf) 0 0.35  1.00 1.00

According to Slater's treatment, the energy of an electron in nth shell of

an atom having atomic number Z is given by the empirical equation

L\ 2
E = —13.6(Z ) eV

n

Z* = effective nuclear charge

The correct order of radii is:

A Na < Li < K

B.O > S > Se

CCI< F< Iz

D.Fe?t < Fe?' < Fe


https://dl.doubtnut.com/l/_caq6RwozJjoq

Answer: D

° Watch Video Solution

13. The reducing effect of the nuclear charge by the inner electrons for on
outer electron is termed aas shielding (or screening). As a result of
shielding, the outer electrons in an atom always experience less nnuclear
charge than the actual nuclear charge Z. The effective nuclear charge
(Z*) as experienced by an electron is then obtained by subtracting the
total shielding contributions from alll the other electrons (i.e., except the
one under consideration) from the actual nuclear charge.

Z*=Z-o

Where og=sum of the shielding contributions. The rules for estimating
contributions to ¢ are as follows (Slater's rule) Contribution to shielding

by each electron is :

Electron All Higher Same Group Group<
Grpoup Group Group n—1 n—2
1s 0 0.30 — —

(ns, sp) 0 0.35 0.85 1.00
(nd) or (nf) 0 0.35 1.00 1.00

According to Slater's treatment, the energy of an electron in nth shell of


https://dl.doubtnut.com/l/_caq6RwozJjoq
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an atom having atomic number Z is given by the empirical equation

L\ 2
E = —13.6(Z—> eV
n

Z* = effective nuclear charge
Atomic radii of the noble gases are larger than the precedent elements of
the same periods because:
A. atomic radius of noble gas is expressed as van der Waals' radius
B.valence shell electrons are completely filled so there is
interelectronic repulsions
C. both (a) and (b)

D. none of the above

Answer: C

o Watch Video Solution

14. The reducing effect of the nuclear charge by the inner electrons for on

outer electron is termed aas shielding (or screening). As a result of


https://dl.doubtnut.com/l/_5cymlCkY0YG3
https://dl.doubtnut.com/l/_FEbz7zuQw7VE

shielding, the outer electrons in an atom always experience less nnuclear
charge than the actual nuclear charge Z. The effective nuclear charge
(Z*) as experienced by an electron is then obtained by subtracting the
total shielding contributions from alll the other electrons (i.e., except the
one under consideration) from the actual nuclear charge.

Z*=Z—-o

Where o=sum of the shielding contributions. The rules for estimating
contributions to o are as follows (Slater's rule) Contribution to shielding

by each electron is :

Electron All Higher Same Group Group<
Grpoup Group Group n—1 n—2
1s 0 0.30 — —

(ns, sp) 0 0.35 0.85 1.00
(nd) or (nf) 0 0.35  1.00 1.00

According to Slater's treatment, the energy of an electron in nth shell of

an atom having atomic number Z is given by the empirical equation

L\ 2
E = —13.6(Z ) eV

n

Z* = effective nuclear charge

Which of the following statements is correct?

A. Metallic radius refer to metals only is greater than covalent radius.


https://dl.doubtnut.com/l/_FEbz7zuQw7VE

B. Metallic radius refer to metals only and is smaller than covalent

radius

C. Generally covalent radius refer to non-metals as well as metals in

bonded state (covalent bond).

D. Atomic radii of noble gases are expressed as van der Waal's radii

which are smaller than metallic radii.

Answer: A

° Watch Video Solution

15. The reducing effect of the nuclear charge by the inner electrons for on
outer electron is termed aas shielding (or screening). As a result of
shielding, the outer electrons in an atom always experience less nnuclear
charge than the actual nuclear charge Z. The effective nuclear charge
(Z*) as experienced by an electron is then obtained by subtracting the
total shielding contributions from alll the other electrons (i.e., except the

one under consideration) from the actual nuclear charge.


https://dl.doubtnut.com/l/_FEbz7zuQw7VE
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Z*=Z-o
Where o=sum of the shielding contributions. The rules for estimating
contributions to o are as follows (Slater's rule) Contribution to shielding

by each electron is :

Electron All Higher Same Group Group<
Grpoup Group Group n—1 n—2
1s 0 0.30 — —

(ns, sp) 0 0.35 0.85 1.00
(nd) or (nf) 0 0.35  1.00 1.00

According to Slater's treatment, the energy of an electron in nth shell of

an atom having atomic number Z is given by the empirical equation

L\ 2
E = —13.6(Z ) eV

n

Z* = effective nuclear charge
Which one among the following sets of ions represents the collection of
isoelectronic species?

A.S?,CI ,K™", Ca*",Sc*"

B.N3",0% ,Nat, Mg**, A"

CK*',CI ,Mg*", AI*", S+

D. (a) and (b) both


https://dl.doubtnut.com/l/_tHu5CKg1z8Rk

Answer: D

° Watch Video Solution

16. The amount of energy required to remove the most loosely bound
electron from an isolated gaseous atom is called as first ionization energy
(IEy). Similarly the amount of energies required to knock out second,
third etc. electrons from the isolated and IE5 > IEy > IFE;.

(i) Nuclear charge (ii) Atomic size (iii) penetration effect of the electrons
(iv) shielding effect of the inner electrons and (b) electronic
configurations (exactly half filled and completely filled configurations are
extra stable) are the important factors which affect the ionisation
energies. Similarly, the amount of energy released when a neutral isolated
gaseous atom accepts an extra electron to from gaseous anion is called
electron affinity.

(X(9) +e (9) = X~ (g) + energy

A positive elecrton affinity idicates that the ion X~ has a lower more
negative energy than the neutral atom X. The second electron affinity for

the addition of a second electron to an initially neutral atom is negative


https://dl.doubtnut.com/l/_tHu5CKg1z8Rk
https://dl.doubtnut.com/l/_7CIeSyDq6pEC

because the electron replusion outweights the nuclear attraction, e.g.,

Exothermic

O(g) +e~ —— O (9), E, = + 141kJmol ™~ ..(i)

O (g) + e~ 2™ B 780kJmol~ .(ii)

The electron affinity of an element depends upon (i) atomic size (ii)
nuclear charge and (iii) electronic configuration. In general, in a group,
ionisation energy and electron affinity decrease as the atomic size
increases. The members of third period have some higher (e.g., S and Cl)
electron affinity values than the members of second period (e.g., O and F)
because second period elements have very small atomic size. Hence, there
is tendency of electron-electron repulsion, which resultss in less evolution

of energy in the formation of correcsponding anion.

The first ionisation energy of Na, Mg, AI and Si are in the order of:

A.Na < Mg > AI < Si
B. Na > Mg > AI > Si
C.Na < Mg < AI < St

D. Na > Mg > AI > Si

Answer: A

| 1


https://dl.doubtnut.com/l/_7CIeSyDq6pEC

| o Watch Video Solution

17. The amount of energy required to remove the most loosely bound
electron from an isolated gaseous atom is called as first ionization energy
(IEy). Similarly the amount of energies required to knock out second,
third etc. electrons from the isolated and IE5 > IFEy > IFE;.

(i) Nuclear charge (ii) Atomic size (iii) penetration effect of the electrons
(iv) shielding effect of the inner electrons and (b) electronic
configurations (exactly half filled and completely filled configurations are
extra stable) are the important factors which affect the ionisation
energies. Similarly, the amount of energy released when a neutral isolated
gaseous atom accepts an extra electron to from gaseous anion is called
electron affinity.

(X(9) +e (g9) = X (g) + energy

A positive elecrton affinity idicates that the ion X~ has a lower more
negative energy than the neutral atom X. The second electron affinity for
the addition of a second electron to an initially neutral atom is negative
because the electron replusion outweights the nuclear attraction, e.g.,

Exothermic

O(g) +e- ——— 0 (9), E, = + 141kJmol~ ..(i)


https://dl.doubtnut.com/l/_7CIeSyDq6pEC
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Excothermic

O (9 +e — ,E, = — 780kJmol ™~ ..(ii)

The electron affinity of an element depends upon (i) atomic size (ii)
nuclear charge and (iii) electronic configuration. In general, in a group,
ionisation energy and electron affinity decrease as the atomic size
increases. The members of third period have some higher (e.g., S and Cl)
electron affinity values than the members of second period (e.g., O and F)
because second period elements have very small atomic size. Hence, there
is tendency of electron-electron repulsion, which resultss in less evolution
of energy in the formation of correcsponding anion.

Which one of the following statements is incorrect in relation to

ionisation enthalpy?

A. lonization enthalpy increase for each successive electron.

B.The greatest increase in ionization enthalpy is experienced on

removal of electron from core of noble gas configuration

C.End of valence electrons is marked by a big jump in ionization

enthalpy


https://dl.doubtnut.com/l/_pwAVgLamTtHT

D. Removal of electron from orbitals bearing lower n value is easier

than from orbital having higher n value.

Answer: D

° Watch Video Solution

18. The minimum amount of energy which is required to remove an
outermost electron from any isolated neutral gaseous atom is known as
first ionisation energy. These are the following factors which effect

ionisation energy.

1

Principal quantum number

(i) lonisation energy o
(ii) lonisation energy o< Zcsf

(iii) If orbitals are fully filled or half filled so stability will be more and
ionisation energy will be high.

(iv) If penultimate electron will effectively shield the nucles, ionisation
energy will be less and vice versa.

Which of the following has maximum Ist ionisation energy?


https://dl.doubtnut.com/l/_pwAVgLamTtHT
https://dl.doubtnut.com/l/_x9ksmETaLK4z

A . He

B. Mg

C.N

D. Na

Answer: A

o Watch Video Solution

19. The ionisation energy (IE;) of an atom is defined as the energy
needed to remove an electron from gaseous atom in its ground state.
The 2nd ionisation energy (IE,) is the additional energy needed to
remove the 2nd electron and so on. The successive ionisation energy of
any species is increasing always.

Which represents the correct order of first ionisation potential of third

period elements?

A.Na > Mg > Ai > Si


https://dl.doubtnut.com/l/_x9ksmETaLK4z
https://dl.doubtnut.com/l/_9U5EQlrVpbaW

B.Na < Mg < AI < Si

C.Na < Si < AI < Mg

D.Na < AI < Mg < Si

Answer: D

o Watch Video Solution

20. The ionisation energy (IE;) of an atom is defined as the energy
needed to remove an electron from gaseous atom in its ground state.
The 2nd ionisation energy (IEs) is the additional energy needed to
remove the 2nd electron and so on. The successive ionisation energy of
any species is increasing always.

In the graph below elements of period given with their ionisation energy.


https://dl.doubtnut.com/l/_9U5EQlrVpbaW
https://dl.doubtnut.com/l/_ksPa7pprd8YX

Select the one which represents an alkali metal:

>

Z

10n energy
ary units

ﬁrgt ionisat
in arbity

Atomic number

B.Y
C.z

D.L

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ksPa7pprd8YX

21. An atom is assumed to tbe spherical in shape and thus, the size of
atom is generally given in terms of radius of the sphere and is called
atomic radius. It is usually defined as the distance between the centre of
the nucleus and outermost shell where electron are present. The exact
measure of atomic radius is not easy due to following reasons:

(i) The atom does not have well defined boundary. the probability of
finding the electron is never zero even at large distance from the nucleus.
(ii) It is not possible to get an isolated atom. the electron density around
an atom is affected by the presence of neighbouring atoms, i.e., the size
of the atom changes in going from one set of environement to another.
(iii) the size of an atom is very small, of the order of about 1.2 Aje.,
1.2 x 10~ Pm.

An estimate of the size of the atom can, however, be made by knowing
the distance betweent he atoms in the combined state. the distance
between the atoms, i.e, bond length are generally measured by the
application of techniques such as X-ray differaction, electron diffraction,
infrared spectroscopy, nuclear magnetic resonance spectroscopy, etc.

However, bond lengths change with different type of bonding. Three


https://dl.doubtnut.com/l/_i4dFiTv0kfZY

types of radius are commonly used, i.e,

(a) Covalent radius (b) crystals radius (c) Vander waal's radius

Choose incorrect option regarding atomic radius

AF <CI  <H~™

B.N>~ >0 > F~

c.Cr’t < cr*t

D. Fe?t > Fe3t

Answer: C

o Watch Video Solution

22. An atom is assumed to tbe spherical in shape and thus, the size of
atom is generally given in terms of radius of the sphere and is called
atomic radius. It is usually defined as the distance between the centre of
the nucleus and outermost shell where electron are present. The exact
measure of atomic radius is not easy due to following reasons:

(i) The atom does not have well defined boundary. the probability of


https://dl.doubtnut.com/l/_i4dFiTv0kfZY
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finding the electron is never zero even at large distance from the nucleus.
(ii) It is not possible to get an isolated atom. the electron density around
an atom is affected by the presence of neighbouring atoms, i.e,, the size
of the atom changes in going from one set of environement to another.
(iii) the size of an atom is very small, of the order of about 12 Aje,
1.2 x 10~ Pm.

An estimate of the size of the atom can, however, be made by knowing
the distance betweent he atoms in the combined state. the distance
between the atoms, i.e, bond length are generally measured by the
application of techniques such as X-ray differaction, electron diffraction,
infrared spectroscopy, nuclear magnetic resonance spectroscopy, etc.
However, bond lengths change with different type of bonding. Three
types of radius are commonly used, i.e,

(a) Covalent radius (b) crystals radius (c) Vander waal's radius
Atomic radius of atoms in a period decreases with the increases in Z.¢;

which of the following is incorrect order of atomic radius ?

A.Li >Be >B>C

B.Na < Mg < AI < Si


https://dl.doubtnut.com/l/_1NlxCVVTG3f6

CSi>P>S8>CI

D.K > Ca

Answer: B

° Watch Video Solution

23. An atom is assumed to tbe spherical in shape and thus, the size of
atom is generally given in terms of radius of the sphere and is called
atomic radius. It is usually defined as the distance between the centre of
the nucleus and outermost shell where electron are present. The exact
measure of atomic radius is not easy due to following reasons:

(i) The atom does not have well defined boundary. the probability of
finding the electron is never zero even at large distance from the nucleus.
(ii) It is not possible to get an isolated atom. the electron density around
an atom is affected by the presence of neighbouring atoms, i.e., the size
of the atom changes in going from one set of environement to another.
(iii) the size of an atom is very small, of the order of about 12 Ajie,

1.2 x 10 9m.
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An estimate of the size of the atom can, however, be made by knowing
the distance betweent he atoms in the combined state. the distance
between the atoms, i.e, bond length are generally measured by the
application of techniques such as X-ray differaction, electron diffraction,
infrared spectroscopy, nuclear magnetic resonance spectroscopy, etc.
However, bond lengths change with different type of bonding. Three
types of radius are commonly used, i.e,

(a) Covalent radius (b) crystals radius (c) Vander waal's radius

Choose incorrect option regarding atomic size

AZr=Hf
B.Fe = Co = N3
C.Y = La

D. All of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Q1TZhh0sorU3

24. An atom is assumed to be spherical in shape and thus, the size of
atom is generally in term of radius of the sphere and is called atomic
radius. It is usually defined as the distance between the centre of the
nucleus and outermost shell where electron or electrons are present. The
exact measure of atomic radius is not easy due to following reasons :

(@) The atom does not have well defined boundary. The propability of
finding the electron is never zero even at large distance from the nucleus.
(b) It is not distances from to get an isolated atom. The electron density
around an atom is affected by the presence of neighbouring atoms, i.e,,
the size of the atom changes in going from one set of environment to
another.

(c ) The size of an atom is very small, of the order of abouit 1.2, ie,
1.2 x 10~ Pm.

An estimate of the size of the atom can, however, be made by knowing
the distance between the atoms in the combined state. The distance
between the atoms, i.e, bond lengths are generally measured by the
application of techniques such as X-ray diffraction, electron diffraction,

infrared spectroscpy, nuclear magnetic resonance spectroscopy, etc.


https://dl.doubtnut.com/l/_fYankKFNEdOe

However, bond length change with different type of bonding. Three types
of radius are commonly used, i.e.,

(a) Covalent radius (b) Crystal radius

(c) van der Waal's radius

Which of the following set of ions have the same value of screening

constant for the valence electron, calculated from Slater's rule?

A Li*,Nat K+

B.Na™t, Mg?*, AI®*"

CF ,CIlI ,Br~
D.F~—,0% , 8%~
Answer: B

o Watch Video Solution

25. Some of the properties which depend on electronic configuration
elements are - atomic radii, ionisation potential, and electronegativity etc.

In period, the ionisation energy is lowest for the:


https://dl.doubtnut.com/l/_fYankKFNEdOe
https://dl.doubtnut.com/l/_h883jXAmNEAg

A.noble gases

B. halogens

C. alkaline earth metals

D. alkali metals

Answer: D

o Watch Video Solution

26. Some of the properties which depend on electronic configuration
elements are - atomic radii, ionisation potential, and electronegativity etc.
The values of electronegativity of atoms A and B are 120 and 4
respectively. The percentage ionic character of A-B bond is:

A. 50 %

B.72.2%

C.55.3%

D.43.0 %


https://dl.doubtnut.com/l/_h883jXAmNEAg
https://dl.doubtnut.com/l/_AG9l713bWE9A

Answer: B

° Watch Video Solution

27. In the modern period table, elements are arranged in order of
increasing atomic number which is related to the electric configuration.
Depending upon the type of orbitals receving the last electron, the
elements in the periodic table have been diviced into four blocks viz s,p,d
and f. The modern periodic table consists of 7 periods and 18 groups.
Each period being with the filling of a new energy shell. In according with
the Aufbua principle, the seven periods (1 to 7) have 2,8, 8, 18, 18, 32 and
32 elements respectively. The seventh period is still incomplete. To avoid
the periodic table being too long, the two series of f-block elements,
called lanthanodis and actionoids are placed at the bottom of the main
body of the periodic table.

The last element of p-block in 6th period is represented by the outermost

electronic configuration.

A. 7s*7p°


https://dl.doubtnut.com/l/_AG9l713bWE9A
https://dl.doubtnut.com/l/_jOyWR9IpqHzS

B.5f146d107s27p°
C. 4f5d6s%6p°

D. 4f5d1%6s26p"

Answer: C

o Watch Video Solution

28. In the modern period table, elements are arranged in order of
increasing atomic number which is related to the electric configuration.
Depending upon the type of orbitals receving the last electron, the
elements in the periodic table have been diviced into four blocks viz s,p,d
and f. The modern periodic table consists of 7 periods and 18 groups.
Each period being with the filling of a new energy shell. In according with
the Aufbua principle, the seven periods (1 to 7) have 2,8, 8, 18, 18, 32 and
32 elements respectively. The seventh period is still incomplete. To avoid
the periodic table being too long, the two series of f-block elements,

called lanthanodis and actionoids are placed at the bottom of the main


https://dl.doubtnut.com/l/_jOyWR9IpqHzS
https://dl.doubtnut.com/l/_9GM4xmEOU5HJ

body of the periodic table.
Which of the elements whose atomic numbers are given below, cannot be
accommodated in the present set up of the long form of the pariodic
table?

A. 107

B. 118

C.126

D. 102

Answer: C

o Watch Video Solution

29. In the modern periodic table, elements are arranged in order of
increasing atomic numbers, which is related to the electornic
configuration. Depending upon the type of orbitals receiving the last
electron, the elements in the periodic table have been divided into four

blocks, viz, p,d and f. The modern periodic table consists of 7 periods and


https://dl.doubtnut.com/l/_9GM4xmEOU5HJ
https://dl.doubtnut.com/l/_QXjtiTEcVMtP

18 groups. Each period begins with the filling of a new energy shell. in
accordance with the Aufbau principal, the seven periods (1 to 7) have
2,8,8,18,18,32 and 32 elements respectively. The seventh period is still
incomplete. To avoid the periodic table being too long, the two series of f-
block elements, called lanthanoids and actinoids, are placed at the
bottom of the main body of the periodic table

The electronic configuration of the element which is just above the

element with atomic number 43 in the same group is
A. 15%225%2p%35%3p%3d° 45>
B. 1522522p93523p°3d 5453 4p"
C. 15%25%2p°3523p%3d%44>

D. 15%25?2p53523p°3d " 45>

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_QXjtiTEcVMtP

30. In the modern periodic table, elements are arranged in order of
increasing atomic numbers, which is related to the electornic
configuration. Depending upon the type of orbitals receiving the last
electron, the elements in the periodic table have been divided into four
blocks, viz, p,d and f. The modern periodic table consists of 7 periods and
18 groups. Each period begins with the filling of a new energy shell. in
accordance with the Aufbau principal, the seven periods (1 to 7) have
2,8,8,18,18,32 and 32 elements respectively. The seventh period is still
incomplete. To avoid the periodic table being too long, the two series of f-
block elements, called lanthanoids and actinoids, are placed at the
bottom of the main body of the periodic table

The elements with atomic numbers 35,53 and 85 are all

A.noble gases

B. halogens

C. heavy metals

D. light metals


https://dl.doubtnut.com/l/_OAjAWwXd2Agv

Answer: B

° Watch Video Solution

31. lonisation energies three hypothetical elements are given below (in

kJ/mole) :

I II 117
X 122 340 1890
Y 99 931 1100
Z 118 1220 16552

Which of the following pairs represents elements could be of the same
group?

A Y,Z

B. X,Y

C.X,Z

D. X,Y,Z

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_OAjAWwXd2Agv
https://dl.doubtnut.com/l/_uhAigUNteDi0

32. lonisation energies three hypothetical elements are given below (in

kJ/mole) :

I II 117
X 122 340 1890
Y 99 931 1100
Z 118 1220 16552

What could be the value of the first electron affinity of Z* " in
KJmol~'?

A. 118

B. 1220

C.1652

D.734

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_uhAigUNteDi0
https://dl.doubtnut.com/l/_4nSkN4VoZRF3

33. lonisation energies three hypothetical elements are given below (in

k)/mole) :

I II 117
X 122 340 1890
Y 99 931 1100
Z 118 1220 16552

Energy (in kJ/mole) required for the process Z — Z%" 4 2e will be:

A.118
B. 1220
C.1338

D. 2872

Answer: C

° Watch Video Solution

34. In 1931, Pauling defined the electronegativity of an atom as the
tendency of the atom to attract electrons to itself when combined in a

compound. The implication is that when a covalent bond is formed, the


https://dl.doubtnut.com/l/_hNUr5CUwJKog
https://dl.doubtnut.com/l/_Jmp0AgpkUBRn

electrons used for bonding need not be shared equally by both atoms. If
the bonding electrons spend more time around one atom, that atom will
have a 0 — charge, and consequently the other atom will have a 0 +

charge. In the extreme case, where the bonding electrons are round one
atom all of the time, the bond is ionic. Pauling and others have attempted
to relate the electronegativity difference between two atoms to the
amount of ionic character in the bond between them.

Mulliken

In 1934, Mulliken suggested an alternative approach to electronegativity
based on the ionization energy and electron affinity of an atom. Consider
two atoms A and B. If an electron is transferred from A to B, forming ions
AT and B, then the energy change is the ionization energy of atom
A(I4) minus the electron affinity of atom B(Ejp), that is Iy — Ep.
Alternatively, if the electron was transferred the other way to give B
and A~ ions, then the energy changed would be Iz — I4.If A" and B~
are actually formed, then this process require less energy, and

(I — E) < (Ig — Ey)

Rerranging (I4 + E4) < (I4 — EB)

Now with respect to electronegativity for the same change,


https://dl.doubtnut.com/l/_Jmp0AgpkUBRn

E. Ny < E. Ng.
Thus Mulliken suggested that electronegativity is proportional to
I.E+ E. A and could be regarded as the average of the ionization

energy and the electron affinity of an atom.

(I + E)

Electronegativity = 2

Mulliken used | and E values measured in electron volts, and the values
were about 2.8 times alrger than the Pauling values. It is to be noted that
I. E.and E. A values are defined for singular gaseous atoms.
For the reaction A(g) +e~ — A" (g)AH, = AH.,. The enthalpy
change will be equal to (magnitude wise):

A.AH.4of A (9)

B. AH; g of A(g)

C.AHg N OfA(g)

D.AH; g OfAf(g)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Jmp0AgpkUBRn

35. In 1931, Pauling defined the electronegativity of an atom as the
tendency of the atom to attract electrons to itself when combined in a
compound. The implication is that when a covalent bond is formed, the
electrons used for bonding need not be shared equally by both atoms. If
the bonding electrons spend more time around one atom, that atom will
have a 0 — charge, and consequently the other atom will have a 9 +
charge. In the extreme case, where the bonding electrons are round one
atom all of the time, the bond is ionic. Pauling and others have attempted
to relate the electronegativity difference between two atoms to the
amount of ionic character in the bond between them.

Mulliken

In 1934, Mulliken suggested an alternative approach to electronegativity
based on the ionization energy and electron affinity of an atom. Consider
two atoms A and B. If an electron is transferred from A to B, forming ions
A" and B, then the energy change is the ionization energy of atom
A(I4) minus the electron affinity of atom B(Epg), that is I, — Ep.
Alternatively, if the electron was transferred the other way to give B™

and A~ ions, then the energy changed would be Ig — I4.If A™ and B~


https://dl.doubtnut.com/l/_qmUBKtngLzxb

are actually formed, then this process require less energy, and

(Isa — Ep) < (Ip — E4)

Rerranging (I4 + E4) < (I4 — EB)

Now with respect to electronegativity for the same change,
E. N4y < E. Np.

Thus Mulliken suggested that electronegativity is proportional to
I.E+ E. A and could be regarded as the average of the ionization

energy and the electron affinity of an atom.

(I + E)

Electronegativity = 2

Mulliken used | and E values measured in electron volts, and the values
were about 2.8 times alrger than the Pauling values. It is to be noted that
I. E.and E. A values are defined for singular gaseous atoms.

For a reaction A(g) + B(g)rarAB(S) the enthalpy change for the
recation will be [assuming AB(s) to be an ionic compound] If

I.E4+E. Ay <IEg+E. Ap

A. AH[.E_A + AHegA + AHI.EAB(S)
B. AHegA + AHI.EB + AHL.EAB(S)

C. I. EA + E. AB + AHLEA_Bg


https://dl.doubtnut.com/l/_qmUBKtngLzxb

D.I.E&;+'11-AB'+‘AL-Emﬂﬂ

Answer: C

° Watch Video Solution
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36.

In above graph element F is:

A. oxygen
B. nitrogen
C.fluorine

D. neon

Answer: A

[


https://dl.doubtnut.com/l/_qmUBKtngLzxb
https://dl.doubtnut.com/l/_MwGbmptUVuAk

| ) Watch Video Solution J

37. The amount of energy released when an electron is added to an
isolated gaseous atom to produce a monovalent anion is called electron
affinity of first electron affinity or electron gain enthalpy. The first
electron affinity is given a negative sign as the addition of an electron to
a neutral atom is an exoergic process. The addition of electron to A~
requires energy to overcome the force of repulsion. Thus, the second
electron affinity is an endoergic process. The magnitude of electron
affinity depends on a number of factors such as (i) atomic size (ii)
effective nuclear charge (iii) screening effects (iv) half and fully filled
orbitals and (v) shape of orbital. In general, electron affinity increase as
the atomic radii decrease in a period. However, there are exceptions when
the atoms have stable configuration. In a group, electron affinity
decreases as the size increases. However, the members of 3rd period have
somewhat higher values than the members in the 2nd period of the same
subgroups.

Which of the following has least electron affinity?


https://dl.doubtnut.com/l/_MwGbmptUVuAk
https://dl.doubtnut.com/l/_9JjG8tQuKxsJ

A. Oxygen

B. Argon

C. Nitrogen

D. Boron

Answer: B

o Watch Video Solution

38. The amount of energy released when an electron is added to an
isolated gaseous atom to produce a monovalent anion is called electron
affinity of first electron affinity or electron gain enthalpy. The first
electron affinity is given a negative sign as the addition of an electron to
a neutral atom is an exoergic process. The addition of electron to A~
requires energy to overcome the force of repulsion. Thus, the second
electron affinity is an endoergic process. The magnitude of electron
affinity depends on a number of factors such as (i) atomic size (ii)

effective nuclear charge (iii) screening effects (iv) half and fully filled


https://dl.doubtnut.com/l/_9JjG8tQuKxsJ
https://dl.doubtnut.com/l/_3JNUsV4l1zib

orbitals and (v) shape of orbital. In general, electron affinity increase as
the atomic radii decrease in a period. However, there are exceptions when
the atoms have stable configuration. In a group, electron affinity
decreases as the size increases. However, the members of 3rd period have
somewhat higher values than the members in the 2nd period of the same
subgroups.

The electron affinities of halogens are:

F= —332,CI= —349,Br = — 324, 1 = — 295kJmol 1 The

higher value of Cl as compared to that of F'~ is due to:

A. higher atomic radius of F
B. smaller electronegativity of F
C. weaker electron repulsion in Cl

D. more vacant p-subshell in CI

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_3JNUsV4l1zib

39. The amount of energy released when an electron is added to an
isolated gaseous atom to produce a monovalent anion is called electron
affinity of first electron affinity or electron gain enthalpy. The first
electron affinity is given a negative sign as the addition of an electron to
a neutral atom is an exoergic process. The addition of electron to A~
requires energy to overcome the force of repulsion. Thus, the second
electron affinity is an endoergic process. The magnitude of electron
affinity depends on a number of factors such as (i) atomic size (ii)
effective nuclear charge (iii) screening effects (iv) half and fully filled
orbitals and (v) shape of orbital. In general, electron affinity increase as
the atomic radii decrease in a period. However, there are exceptions when
the atoms have stable configuration. In a group, electron affinity
decreases as the size increases. However, the members of 3rd period have
somewhat higher values than the members in the 2nd period of the same
subgroups.

Which of the following species has the highest electron affinity?

AF~

B.O™


https://dl.doubtnut.com/l/_o1ksfx4B5K8w

C.Na™*

D.O

Answer: D

° Watch Video Solution

40. The properties of the elements (atomic/ionic radii, electron gain
enthalpy, ionization enthalpy, electronegativity, valence,
oxidising/reducing power, acid/base character, etc.) which are directly or
indirectly related to their electronic configirations are called periodic
properties. These properties show a regular gradation on moving from
left to right in a period or form top to bottom in a group. Down a group,
the atomic/ionic radii, metallic character and reducing character increase
while ionization enthalpy and electronegativity decrease. Along a period
from left to right, atomic/ionic and metallic character decrease while
ionization enthaloy, electronegativity, non-metallic character and oxiding
power increase. However, electron gain enthalpy becomes less negative

down a group butmore negative along a period. In contrast, inert gases


https://dl.doubtnut.com/l/_o1ksfx4B5K8w
https://dl.doubtnut.com/l/_aTMY9Ht9Q1IS

have positive electron gain enthalpies which do not show may regular
trend.
Which of the following isoelectronic ions has the lowest first ionization
enthalpy?

AK™T

B.Ca?*

C.CI™

D. S~

Answer: D

o Watch Video Solution

41. The properties of the elements (atomic/ionic radii, electron gain
enthalpy, ionization enthalpy, electronegativity, valence,
oxidising/reducing power, acid/base character, etc.) which are directly or
indirectly related to their electronic configirations are called periodic

properties. These properties show a regular gradation on moving from


https://dl.doubtnut.com/l/_aTMY9Ht9Q1IS
https://dl.doubtnut.com/l/_78dD9AgIEQH8

left to right in a period or form top to bottom in a group. Down a group,
the atomic/ionic radii, metallic character and reducing character increase
while ionization enthalpy and electronegativity decrease. Along a period
from left to right, atomic/ionic and metallic character decrease while
ionization enthaloy, electronegativity, non-metallic character and oxiding
power increase. However, electron gain enthalpy becomes less negative
down a group butmore negative along a period. In contrast, inert gases
have positive electron gain enthalpies which do not show may regular
trend.

The outermost electronic configuration of the most electronegative

elements is:

A. ns2np3
B. ns2np4
C. ns2np5

D. nsznp6

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_78dD9AgIEQH8

42. The properties of the elements (atomic/ionic radii, electron gain
enthalpy, ionization enthalpy, electronegativity, valence,
oxidising/reducing power, acid/base character, etc.) which are directly or
indirectly related to their electronic configirations are called periodic
properties. These properties show a regular gradation on moving from
left to right in a period or form top to bottom in a group. Down a group,
the atomic/ionic radii, metallic character and reducing character increase
while ionization enthalpy and electronegativity decrease. Along a period
from left to right, atomic/ionic and metallic character decrease while
ionization enthaloy, electronegativity, non-metallic character and oxiding
power increase. However, electron gain enthalpy becomes less negative
down a group butmore negative along a period. In contrast, inert gases
have positive electron gain enthalpies which do not show may regular
trend.

Amomgst the following elements (whose electronic configurations are

given below) the one having the highest ionization enthalpy is :

A.[Ne]3s*3p*


https://dl.doubtnut.com/l/_78dD9AgIEQH8
https://dl.doubtnut.com/l/_Q3uqLXvjpHsw

B. [Ne]3s%3p®
C. [Ne]3s*3p

D. [Ar]3d'%4s4p*

Answer: B

o Watch Video Solution

43. The properties of the elements (atomic/ionic radii, electron gain
enthalpy, ionization enthalpy, electronegativity, valence,
oxidising/reducing power, acid/base character, etc.) which are directly or
indirectly related to their electronic configirations are called periodic
properties. These properties show a regular gradation on moving from
left to right in a period or form top to bottom in a group. Down a group,
the atomic/ionic radii, metallic character and reducing character increase
while ionization enthalpy and electronegativity decrease. Along a period
from left to right, atomic/ionic and metallic character decrease while

ionization enthaloy, electronegativity, non-metallic character and oxiding


https://dl.doubtnut.com/l/_Q3uqLXvjpHsw
https://dl.doubtnut.com/l/_XNSsVWa0a0Vq

power increase. However, electron gain enthalpy becomes less negative
down a group butmore negative along a period. In contrast, inert gases
have positive electron gain enthalpies which do not show may regular
trend.
Tick the correct order of second ionization enthalpy in the following:
AF>0>N>C
BO>F>N>C

CO>N>F>C

DLC>N>0>F

Answer: B

o Watch Video Solution

44. A quantitative measure of the tendency of an element to lose electron
is given by its ionization enthalpy. It represents the energy required to
remove an electron from an isolated gaseous atom (X) in its ground

state. In other words, the first ionization enthalpy for an element X is the


https://dl.doubtnut.com/l/_XNSsVWa0a0Vq
https://dl.doubtnut.com/l/_anAUPJuwTc1o

enthalpy change (A;H) for the reaction depicted.

X(g) = X" (g) +e

The ionization enthalpy is expressed in units of kJmol ~!. We can define
the second ionization enthalpy as the energy required to remove the
second most loosely bound electron: it is the energy required to carry
out the reaction,

X" (9) = X*"(g) +e”

Consider following statements for the two uncharged gaseous species
Species -1 = 152, 2s! Species -2 = 152, 2p!

(P) Species-1is ground state, species-2 is excited state of same atom

(Q) Species-1is excited state, species-2 is ground state of same atom

(R) lonization of species-1is easier as compared to species-2

(S) lonization of species-2 is easier as compared to species-1

Select correct statement(s)
A.PandR
B.QandR

C.PandS

D.QandS


https://dl.doubtnut.com/l/_anAUPJuwTc1o

Answer: C

o Watch Video Solution

45. Born Haber cycle helps to determine lattice enthalpy of ionic
compound as well as electron gain enthalpy of different elements. Based

on the diagram drawn, answer the questions given below.

[5() +ererererssemasnmsasansrasn s

........................
.................................

45 veeere -
Mg*(g) +2CL (@) ... e
40 "Mg*(g) + 2C1 (&) |

35 ecosrerernmrnssnansanesasanes
' 2C1 L eessmmsmasasseses
I 30 Mg(g) + 2CHg) e

Energy -ll---lll--l--l-n--l--!nl--.---l------l_l 111111
P LR Nl T

10 gy Vi T .

-----------
------------------------------------------------
.....
--------------------------------------------------------
--------

ae esssevsmAseEmAsEElAEIARTESEEEAsSeAmERmEERARmsAmIENRes
s
ssaeane

What is the value of IE; of Mg + 1E; ofMg*?

A. 25 K]

B.5 k|


https://dl.doubtnut.com/l/_anAUPJuwTc1o
https://dl.doubtnut.com/l/_1lb0fQnjRp3r

C.30k

D.20 kJ

Answer: C

° Watch Video Solution

46. Born Haber cycle helps to determine lattice enthalpy of ionic
compound as well as electron gain enthalpy of different elements. Based

on the diagram drawn, answer the questions given below.

P GRS o
Mg*(g) + 2C1 (8

DB cererrmeiriinieaae Méé 1-2-(é) .........................

Bnergy 20 R T

(kJ) 15 rerereecnercnrmiineineieeaes

----------------------------------------------------------------
----------------------------------------------------------------

What is the electron gain enthalpy of CI(g)?


https://dl.doubtnut.com/l/_1lb0fQnjRp3r
https://dl.doubtnut.com/l/_6vFPWNb0nE5B

A. —5kJ

B. —25kJ

C. —20kJ

D. —10kJ
Answer: D

o Watch Video Solution

47. Nitrogen can form many oxides with oxygen, and thus is said to
exhibit variable valency. Similary, sulphur, phosphours and carbon can
exhibit variable valency.

Which sequence of compounds is according to the increasing order of

the oxidation state of chlorine?

A CIQ, CIQO, 01203, CI205, CI207, NH4CI

B.CI,, C1,0, C1,03, C1,07, CL,05

C.CL, CLO, CL0s, CL,05, CI,07


https://dl.doubtnut.com/l/_6vFPWNb0nE5B
https://dl.doubtnut.com/l/_TYyqOEMd8eMz

D.Cl,, CL,03, CI,07, CI,

Answer: C

o Watch Video Solution

48. The size of any species depends on various factors such as nature of
charge, magnitude of charge/oxidation state, effective nuclear charge,
electronic configuration etc.
It has been observed that size of Indium (In) = Thallium (TI). This can be
attributed to:

A. actinoid contraction

B. lanthanoid contraction

C.both (a) and (b)

D. scandide contraction

Answer: B

| o Watch Video Solution


https://dl.doubtnut.com/l/_TYyqOEMd8eMz
https://dl.doubtnut.com/l/_Hx5ycCJUW8Qo

49. lonisation energies of unknown elements are given below :

Element IE(in kcal /mol)
I II III
M 209 548 919
N 100 735 1101
O 119 1092 1653
P 1500 2017 2320

Which amongst them is expected to be a noble gas?

A M
B.N
C.O

D.P

Answer: D

o Watch Video Solution

Comprehension 2



https://dl.doubtnut.com/l/_Hx5ycCJUW8Qo
https://dl.doubtnut.com/l/_ZFw7FKzleR2t
https://dl.doubtnut.com/l/_variUh19AUIQ

1. The amount of energy required to remove, an electron from the last
orbit of an isolated (free) atom in gaseous state is known as ionisation
energy or first ionisation of the element. Similarly the energy required for
the removal of the electron from the unipositive ion (M ™ produced
above) is referred to as second ionization energy and thus the third,
fourth etc. The ionisation energy depends on various factors like nuclear
charge, size of atom, type configurations, screening effect and
penetration power of the electrons.

Which of the following statements is correct?

A. lonisation energies of elements decrease along the period.

B. lonisation energies of the Il A group element are less than that of

the corresponding IlIA group elements

C. lonisation energies of group 15 elements are less than that of the

corresponding group 16 elements.

D. lonisation energy of Ga is greater than Al.

Answer: D



https://dl.doubtnut.com/l/_variUh19AUIQ

| ° Watch Video Solution J

Comprehension 3

1. Numerous forms of the periodic table have been revised from time to

time. A modern verion, which is most convenient and widely used is the
long or extended from the periodic table. The aufbau principle (electrons
are filled in the progressive order of their increasing energy i.e, by n + |
rule) and the electronic configuration of atom provides a theoretical
foundation for the periodic classification. The horizontal rows are called
periods. There are altogether seven periods. The first period consists of 2
elements. The subsequent periods consist of 8, 8, 18 and 32 elements
respectively. The seventh maximum of 32 elements. Elements having
similar outer electronic configurations in their atoms are grouped in
vertical columns. These are referred to as groups or famillies. According
to the recommendation of IUPAC, the groups are numbered 1 to 18
replacing the older notation of groups O, IA, lIA .... VIIA, VIII, 1B, ... VIl B.

Each successive period in the periodic table is associated with the filling


https://dl.doubtnut.com/l/_variUh19AUIQ
https://dl.doubtnut.com/l/_zMGiPHAwmQUV

up of next higher principal energy level following aufbua sequence. The
number of elements in each period is twice the number of atomic orbitals
avaliable in the energy level that is being filled. All the elements are
classified into four blocks, i.e., s-block, p-block, d-block and f-block
depending on the type of atomic orbitals that are being filled with the
last electron of the element.

The element with atomic number 56 is likely to have the same outer shell

configuration as the element with atomic number.

A 12

B.18

C.14

D. 20

Answer: A::D

° Watch Video Solution

Comprehension 4


https://dl.doubtnut.com/l/_zMGiPHAwmQUV

1. The reducing effect of the nuclear charge by the inner electrons for on
outer electron is termed aas shielding (or screening). As a result of
shielding, the outer electrons in an atom always experience less nnuclear
charge than the actual nuclear charge Z. The effective nuclear charge
(Z*) as experienced by an electron is then obtained by subtracting the
total shielding contributions from alll the other electrons (i.e., except the
one under consideration) from the actual nuclear charge.

Z*=7—o0o

Where o=sum of the shielding contributions. The rules for estimating
contributions to o are as follows (Slater's rule) Contribution to shielding

by each electron is :

Electron All Higher Same Group Group<
Grpoup Group Group n—1 n—2
1s 0 0.30 - -

(ns, sp) 0 0.35  0.85 1.00
(nd) or (nf) 0 0.35  1.00 1.00

According to Slater's treatment, the energy of an electron in nth shell of

an atom having atomic number Z is given by the empirical equation

.\ 2
E = —13.6(Z ) eV

n

Z* = effective nuclear charge


https://dl.doubtnut.com/l/_ZkPEX7RSq5nU

Among the following, which electron of Fe atom experience minimum

attraction from nucleus? (Atomic number of Fe = 26)

A. 3d

B. 4s

C.2s

D. 2p

Answer: B

° Watch Video Solution

Comprehension 5

1. The amount of energy required to remove the most loosely bound
electron from an isolated gaseous atom is called as first ionization energy
(IEy). Similarly the amount of energies required to knock out second,
third etc. electrons from the isolated and I E5 > IEy > IF;.

(i) Nuclear charge (ii) Atomic size (iii) penetration effect of the electrons


https://dl.doubtnut.com/l/_ZkPEX7RSq5nU
https://dl.doubtnut.com/l/_WabCJgN1Jre0

(iv) shielding effect of the inner electrons and (b) electronic
configurations (exactly half filled and completely filled configurations are
extra stable) are the important factors which affect the ionisation
energies. Similarly, the amount of energy released when a neutral isolated
gaseous atom accepts an extra electron to from gaseous anion is called
electron affinity.

(X(g9) +e (9) = X (g) + energy

A positive elecrton affinity idicates that the ion X~ has a lower more
negative energy than the neutral atom X. The second electron affinity for
the addition of a second electron to an initially neutral atom is negative
because the electron replusion outweights the nuclear attraction, e.g.,

Exothermic

O(g) +e~ ——— 0 (9), E, = + 141kJmol ™~ ..(i)

Excothermic ..
O (99 +e — ,E, = — 180kJmol ~ ..(ii)
The electron affinity of an element depends upon (i) atomic size (ii)
nuclear charge and (iii) electronic configuration. In general, in a group,
ionisation energy and electron affinity decrease as the atomic size
increases. The members of third period have some higher (e.g., S and Cl)

electron affinity values than the members of second period (e.g., O and F)

because second period elements have very small atomic size. Hence, there


https://dl.doubtnut.com/l/_WabCJgN1Jre0

is tendency of electron-electron repulsion, which resultss in less evolution
of energy in the formation of correcsponding anion.
Identify the least stable ion amongst the following:

A Li~

B. Be™

C.B~

D.C™

Answer: B

° Watch Video Solution

Comprehension 6

1. The minimum amount of energy which is required to remove an

outermost electron from any isolated neutral gaseous atom is known as
first ionisation energy. These are the following factors which effect

ionisation energy.


https://dl.doubtnut.com/l/_WabCJgN1Jre0
https://dl.doubtnut.com/l/_srC454rI90f5

1

Principal quantum number

(i) lonisation energy o<
(ii) lonisation energy o< Z¢y

(iii) If orbitals are fully filled or half filled so stability will be more and
ionisation energy will be high.

(iv) If penultimate electron will effectively shield the nucles, ionisation
energy will be less and vice versa.

Choose the correct order of Ist ionisation energy

A Ne < F

B.O >N

C.Na > Al

D. Mg > Al

Answer: D

° Watch Video Solution

Comprehension 7



https://dl.doubtnut.com/l/_srC454rI90f5

1. The ionisation energy (IE;) of an atom is defined as the energy needed
to remove an electron from gaseous atom in its ground state. The 2nd
ionisation energy (IE,) is the additional energy needed to remove the
2nd electron and so on. The successive ionisation energy of any species is
increasing always.

Generally, the first ionisation energy increase along a period. But there

are some exceptions. One which is not an exception is:

A.Nand O
B.Na and Mg
C. Mg and Al

D.Be and B

Answer: B

o Watch Video Solution

Comprehension 8



https://dl.doubtnut.com/l/_7qQItx14iXtv
https://dl.doubtnut.com/l/_CxcytAAMpdqJ

1. An atom is assumed to tbe spherical in shape and thus, the size of atom
is generally given in terms of radius of the sphere and is called atomic
radius. It is usually defined as the distance between the centre of the
nucleus and outermost shell where electron are present. The exact
measure of atomic radius is not easy due to following reasons:

(i) The atom does not have well defined boundary. the probability of
finding the electron is never zero even at large distance from the nucleus.
(i) It is not possible to get an isolated atom. the electron density around
an atom is affected by the presence of neighbouring atoms, i.e,, the size
of the atom changes in going from one set of environement to another.
(iii) the size of an atom is very small, of the order of about 1.2 Aje.,
1.2 x 10~ "m.

An estimate of the size of the atom can, however, be made by knowing
the distance betweent he atoms in the combined state. the distance
between the atoms, i.e, bond length are generally measured by the
application of techniques such as X-ray differaction, electron diffraction,
infrared spectroscopy, nuclear magnetic resonance spectroscopy, etc.
However, bond lengths change with different type of bonding. Three

types of radius are commonly used, i.e.,


https://dl.doubtnut.com/l/_CxcytAAMpdqJ

(a) Covalent radius (b) crystals radius (c) Vander waal's radius

The correct order of effective nuclear charge Z,;; is

AB<C<N<O<PF
BB=C=N=0=F
CB>C>N>0>F

D. none of these

Answer: A

° Watch Video Solution

Comprehension 9

1. Some of the properties which depend on electronic configuration
elements are - atomic radii, ionisation potential, and electronegativity etc.

The element with maximum electrongativity belongs to :

A. period 2, group 17


https://dl.doubtnut.com/l/_CxcytAAMpdqJ
https://dl.doubtnut.com/l/_HDd4Gl1elb2Z

B. period 3, group 18

C. period 4, group 17

D. period 2, group 16

Answer: A

° Watch Video Solution

Comprehension 10

1. In the modern period table, elements are arranged in order of

increasing atomic number which is related to the electric configuration.
Depending upon the type of orbitals receving the last electron, the
elements in the periodic table have been diviced into four blocks viz s,p,d
and f. The modern periodic table consists of 7 periods and 18 groups.
Each period being with the filling of a new energy shell. In according with
the Aufbua principle, the seven periods (1 to 7) have 2,8, 8, 18, 18, 32 and

32 elements respectively. The seventh period is still incomplete. To avoid


https://dl.doubtnut.com/l/_HDd4Gl1elb2Z
https://dl.doubtnut.com/l/_njbhKPWFNfxf

the periodic table being too long, the two series of f-block elements,
called lanthanodis and actionoids are placed at the bottom of the main
body of the periodic table.
The element with atomic number 57 belongs to:

A. s-block

B. p-block

C.d-block

D. f-block

Answer: C

° Watch Video Solution

Comprehension 11

1. lonisation energies three hypothetical elements are given below (in

k)/mole) :


https://dl.doubtnut.com/l/_njbhKPWFNfxf
https://dl.doubtnut.com/l/_xB495gneBIfJ

I II 117
X 122 340 1890
Y 99 931 1100
Z 118 1220 16552

Which of the following is likely to be 2nd group element?

A X
B.Z
c.Y

D.XandY

Answer: A

° Watch Video Solution

Comprehension 12

1. In 1931, Pauling defined the electronegativity of an atom as the

tendency of the atom to attract electrons to itself when combined in a

compound. The implication is that when a covalent bond is formed, the


https://dl.doubtnut.com/l/_xB495gneBIfJ
https://dl.doubtnut.com/l/_E8aUEIDyeSAw

electrons used for bonding need not be shared equally by both atoms. If
the bonding electrons spend more time around one atom, that atom will
have a 0 — charge, and consequently the other atom will have a 0 +

charge. In the extreme case, where the bonding electrons are round one
atom all of the time, the bond is ionic. Pauling and others have attempted
to relate the electronegativity difference between two atoms to the
amount of ionic character in the bond between them.

Mulliken

In 1934, Mulliken suggested an alternative approach to electronegativity
based on the ionization energy and electron affinity of an atom. Consider
two atoms A and B. If an electron is transferred from A to B, forming ions
A" and B, then the energy change is the ionization energy of atom
A(I4) minus the electron affinity of atom B(Epg), that is I, — Ep.
Alternatively, if the electron was transferred the other way to give B™"
and A~ ions, then the energy changed would be Iz — I4.If A" and B~
are actually formed, then this process require less energy, and

(I4 — Ep) < (Ig — Ea)

Rerranging (I4 + E4) < (I4 — Ep)

Now with respect to electronegativity for the same change,


https://dl.doubtnut.com/l/_E8aUEIDyeSAw

E. Ny < E. Ng.
Thus Mulliken suggested that electronegativity is proportional to
I.E+ E. A and could be regarded as the average of the ionization

energy and the electron affinity of an atom.

(I + E)

Electronegativity = 5

Mulliken used | and E values measured in electron volts, and the values
were about 2.8 times alrger than the Pauling values. It is to be noted that
I. E.and E. A values are defined for singular gaseous atoms.

We have X atoms of A. if all the atoms gain one electron each the energy
released is aeV. If Y atoms of A lose one electron each, then the energy
absorbed is beV. Then the electronegativity of A on the Mulliken scale will

be:

Answer: B

f ) |


https://dl.doubtnut.com/l/_E8aUEIDyeSAw

_ ° Watch Video Solution I

Comprehension 13

- g (D)
o B
— _5_ ()}
7
V) ()
T T T T T T 1 T T —>

1 Atomic number

Find the number of non metals in above graph, except noble gas. If
AB,C,E,F,G and H are 2nd period-elements.

A5

B.6

C.7

D.8



https://dl.doubtnut.com/l/_E8aUEIDyeSAw
https://dl.doubtnut.com/l/_pVwtreUsEvyX
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Comprehension 14

1. The amount of energy released when an electron is added to an
isolated gaseous atom to produce a monovalent anion is called electron
affinity of first electron affinity or electron gain enthalpy. The first
electron affinity is given a negative sign as the addition of an electron to
a neutral atom is an exoergic process. The addition of electron to A~
requires energy to overcome the force of repulsion. Thus, the second
electron affinity is an endoergic process. The magnitude of electron
affinity depends on a number of factors such as (i) atomic size (ii)
effective nuclear charge (iii) screening effects (iv) half and fully filled
orbitals and (v) shape of orbital. In general, electron affinity increase as
the atomic radii decrease in a period. However, there are exceptions when
the atoms have stable configuration. In a group, electron affinity
decreases as the size increases. However, the members of 3rd period have
somewhat higher values than the members in the 2nd period of the same

subgroups.


https://dl.doubtnut.com/l/_pVwtreUsEvyX
https://dl.doubtnut.com/l/_TMraOQmPXiJd

Which one of the following arrangements represents the correct order of

electron gain enthalpy (with negative spin) of the given atomic species?

AF<CI<O<S

B.S<O<C(CI<PF

CO<S<F<C(CI

DCI<F<S<O

Answer: C

° Watch Video Solution

Comprehension 15

1. The properties of the elements (atomic/ionic radii, electron gain
enthalpy, ionization enthalpy, electronegativity, valence,
oxidising/reducing power, acid/base character, etc.) which are directly or
indirectly related to their electronic configirations are called periodic

properties. These properties show a regular gradation on moving from


https://dl.doubtnut.com/l/_TMraOQmPXiJd
https://dl.doubtnut.com/l/_waxZql9slLNa

left to right in a period or form top to bottom in a group. Down a group,
the atomic/ionic radii, metallic character and reducing character increase
while ionization enthalpy and electronegativity decrease. Along a period
from left to right, atomic/ionic and metallic character decrease while
ionization enthaloy, electronegativity, non-metallic character and oxiding
power increase. However, electron gain enthalpy becomes less negative
down a group butmore negative along a period. In contrast, inert gases
have positive electron gain enthalpies which do not show may regular
trend.

If the ionic radii of K™ and F' ~ are about 1.34A each, then the expected

value of atomic radii of K and F should be respectively:

A.2.31 and 0.64A
B.2.31 and 1.34A
C.0.64 and 2.31A

D.1.34 and 1.34A

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_waxZql9slLNa

Comprehension 16

1. A quantitative measure of the tendency of an element to lose electron

is given by its ionization enthalpy. It represents the energy required to
remove an electron from an isolated gaseous atom (X) in its ground
state. In other words, the first ionization enthalpy for an element X is the
enthalpy change (A; H) for the reaction depicted.

X(g) > X" (g9) te”

The ionization enthalpy is expressed in units of kJmol ~'. We can define
the second ionization enthalpy as the energy required to remove the
second most loosely bound electron: it is the energy required to carry
out the reaction,

X" (9) — X*F(g) +e”

Largest energy is required for which change?

A. SC(g) — SC?—g)

+ +2
B. Sc(g) — Sc(g)


https://dl.doubtnut.com/l/_waxZql9slLNa
https://dl.doubtnut.com/l/_KCZcVhjIFWaA

+2 +3
C. Sc(g) — Sc(g)

+3 +4
D. Sc(g) — Sc(g)

Answer: D

o Watch Video Solution

Comprehension 17

1. Born Haber cycle helps to determine lattice enthalpy of ionic compound

as well as electron gain enthalpy of different elements. Based on the

diagram drawn, answer the questions given below.


https://dl.doubtnut.com/l/_KCZcVhjIFWaA
https://dl.doubtnut.com/l/_VGEUoiLsXIt5
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What is the lattice enthalpy for the formation of MgC1,?

A. —20kJ
B. —40kJ
C. —15kJ

D. +40kJ

Answer: A

° Watch Video Solution

Comprehension 18


https://dl.doubtnut.com/l/_VGEUoiLsXIt5

1. Nitrogen can form many oxides with oxygen, and thus is said to exhibit
variable valency. Similary, sulphur, phosphours and carbon can exhibit
variable valency.
Amongst the following, select those which are most likely to be neutral.
A.CO, N;O, NO
B.COy, NOjy, N,O3
C.S0,, CO, N,O,

D. 503, N205, COZ

Answer: A

o Watch Video Solution

Comprehension 19

1. The size of any species depends on various factors such as nature of

charge, magnitude of charge/oxidation state, effective nuclear charge,


https://dl.doubtnut.com/l/_hTjQX5stO5wL
https://dl.doubtnut.com/l/_NWqmITv2d44H

electronic configuration etc.

Select the order of size which are correct?

AO>0 >0
B.B > Be > Li
C.Mg > Mgt > Mg**

D.Sc < T3

Answer: C

° Watch Video Solution

Comprehension 20

1. lonisation energies of unknown elements are given below :

Element IE(in kcal /mol)
I II III
M 209 548 919
N 100 735 1101
O 119 1092 1653
P 1500 2017 2320



https://dl.doubtnut.com/l/_NWqmITv2d44H
https://dl.doubtnut.com/l/_crqs2fohmIpm

Which pair of elements may represent same group?

A. M,N

B.N,O

C.OP

D. M,P

Answer: B

° Watch Video Solution

Match The Column Type

1. Match the following columns



https://dl.doubtnut.com/l/_crqs2fohmIpm
https://dl.doubtnut.com/l/_EDzf5N9EmZUB

| &P Watch Video Solution I

2. Match the following columns

° Watch Video Solution

3. Match the following columns

° Watch Video Solution



https://dl.doubtnut.com/l/_EDzf5N9EmZUB
https://dl.doubtnut.com/l/_3V0Slpkf5kWM
https://dl.doubtnut.com/l/_vtjXagNdU9Et

Match the following columns
o Watch Video Solution
Match the following columns

° Watch Video Solution



https://dl.doubtnut.com/l/_Abf1q5QXwCJb
https://dl.doubtnut.com/l/_miHHghCDEM3q

6. Match the Column-l to Column-Il ;

o Watch Video Solution

7. The first (AH;) and second (AH) ionisation enthalpies (in
kJmol_l) and the (AHeg) electron gain enthalpy (in kJmol_l) of a

elements are given below:



https://dl.doubtnut.com/l/_5HhNRBjExk0B
https://dl.doubtnut.com/l/_dDqhzdOLIbdq

Based on the above information match the following columns.

o Watch Video Solution

8. Match the following columns

o Watch Video Solution



https://dl.doubtnut.com/l/_dDqhzdOLIbdq
https://dl.doubtnut.com/l/_a4ve6Ex7byH2

9. Column-l contains some increasing orders of various species and

column-ll has the properties of the elements/ions.

° Watch Video Solution

10. Column-l contains the atomic number of few elements and column-lli

has the properties of the elements/salts.

o Watch Video Solution



https://dl.doubtnut.com/l/_vUURqvDcKNwi
https://dl.doubtnut.com/l/_SL9BF7ihg7Qw

1. Match the following columns

o Watch Video Solution

12. Match the values of 1st and 2nd ionisation energy and electron gain
enthalpy given in the column-l with types of elements/compounds given

in column-ll


https://dl.doubtnut.com/l/_SL9BF7ihg7Qw
https://dl.doubtnut.com/l/_KWshlJnQ5XIB
https://dl.doubtnut.com/l/_y0FapfUeUqwc

o Watch Video Solution

13. Match the following columns



https://dl.doubtnut.com/l/_y0FapfUeUqwc
https://dl.doubtnut.com/l/_GTLBcHWmymqv

| ¥ vvatcn video solution ]

14. Match the following columns

° Watch Video Solution

15. Match the following columns

o Watch Video Solution



https://dl.doubtnut.com/l/_GTLBcHWmymqv
https://dl.doubtnut.com/l/_k8pwDW34R9EO
https://dl.doubtnut.com/l/_YLeHfl7IxxfB
https://dl.doubtnut.com/l/_RzrJvQHrOEr6

16. Match the following Columns

o Watch Video Solution

° Watch Video Solution



https://dl.doubtnut.com/l/_RzrJvQHrOEr6
https://dl.doubtnut.com/l/_XhU3ZhiE9DxY

18. Match the following columns

° Watch Video Solution

19. Match the correct ionisation enthalpies electron gain enthalpies of

the following elements.

o Watch Video Solution



https://dl.doubtnut.com/l/_KWrg4hM1QxcG
https://dl.doubtnut.com/l/_kZmVj8WHf5Ti

20. Match the following columns

o Watch Video Solution

21. Match the following columns

o Watch Video Solution



https://dl.doubtnut.com/l/_YgpVj1P43J9I
https://dl.doubtnut.com/l/_bMhfRubd69WV

22. Match the order of species in column-l with properties in column-Il.

o Watch Video Solution

23. Match the following columns

o Watch Video Solution



https://dl.doubtnut.com/l/_5v3pNE0y0pbD
https://dl.doubtnut.com/l/_u5ZHNHTfc3hi

24. Match column-ll (atomic number of elements) with column-II (position

of element in periodic table).

o Watch Video Solution

25, Match the following columns

o Watch Video Solution



https://dl.doubtnut.com/l/_u5ZHNHTfc3hi
https://dl.doubtnut.com/l/_6er9fh7hNeSo
https://dl.doubtnut.com/l/_BeDZjoIQTRa7

26. Match the following columns

o Watch Video Solution

1. 0.5 moles of gaseous non-metallic X = anions (having positive electron

affinity) requires 806.4 kJ energy to get completely converted into
gaseous X T ions. Calculate Pauling's electronegativity of the elements X.
Use Avogardo's no = 6 x 10% and 1leV = 1.6 x 10 1J.

[Use the fact that, Pauling's electronegativity

Mulliken’s electronegativity

= 78 and Mulliken's  electronegativity

Ionisation energy+ Electron affinity
2



https://dl.doubtnut.com/l/_BeDZjoIQTRa7
https://dl.doubtnut.com/l/_Hw1zktePWWZe
https://dl.doubtnut.com/l/_2DXWqxS1IAaU

l @ View Text Solution J

2. 1.0g of Mg atom (atomic mass = 24.0amu) in the vapour phase
absorbs 50.0kJ energy. Find the composition of the final magnesium, if
the first and the second IE of Mg are 740kJmol ' and 1450kJmol ~*

respectively.

o Watch Video Solution

3. Find the sum of total number of 5f-electrons in Th and Ac.

o Watch Video Solution

4. Find the total number of species having two unpaired electrons from

the following species Fe* ™, Cr, Cr3 ", Ti?*, Mn?*,V3+

o Watch Video Solution



https://dl.doubtnut.com/l/_2DXWqxS1IAaU
https://dl.doubtnut.com/l/_6AvFI0HB6Cs9
https://dl.doubtnut.com/l/_RzMzvMl3GFOM
https://dl.doubtnut.com/l/_tLRLqZhYCPpJ
https://dl.doubtnut.com/l/_CA8eF2r9AV9z

5. If internuclear distance between A atoms in Ay is 10A and between B
atoms in By is 2A, then calculate internuclear distance between A and B

(Electronegativity difference between A and B has negligible value).

o Watch Video Solution

6. Find the number of p-block elements from the following atomic

numbers given below. 83 79 42 64 37 54 34

o Watch Video Solution

7. Find the total number of 6 period elements from the given atomic

numbers? 81, 63, 80, 50, 54, 48, 86

o Watch Video Solution

8. Find the total number of paramagnetic species among the following?

St Fet, Mn?t,Co* T, Co’t, Crt  Fet, Mn®t, Cr T, Zn® T, Tit?



https://dl.doubtnut.com/l/_CA8eF2r9AV9z
https://dl.doubtnut.com/l/_kfBwU5CV5v8w
https://dl.doubtnut.com/l/_qqOUboF1f9vs
https://dl.doubtnut.com/l/_MbFeBdXJFEm3

| ° Watch Video Solution

9. What is the group number of Ba in periodic table?

° Watch Video Solution

10. Select the number of elements which are called transition metals.

B, Sc, Al, Pd, Os, Zr, Rb, Ba, Fr

° Watch Video Solution

1. Among the following species, how many have their ionic size greater
than O~ ?

Se’” F~,N3,P3~

° Watch Video Solution



https://dl.doubtnut.com/l/_MbFeBdXJFEm3
https://dl.doubtnut.com/l/_dPGs3O1pcmvv
https://dl.doubtnut.com/l/_NvtyoRlUhmwG
https://dl.doubtnut.com/l/_ehAv3fGANLm7

12. Among the following find out the total number of d-block elements.

La, Pd, Ni, Cd, Cs, Bi, Sn, Zr, K

° Watch Video Solution

13. Number of oxides which is/are more basic as compared to Na,O.

LizO, KzO, 0520, szO, MgO

° Watch Video Solution

14.Bond length of A-A bond is 124 pm and bond length of B-B bond is 174
pm. Calculate the bond length (in pm) of A-B bond in AB molecule if

percent ionic character of A-B bond is 19.5 %

° Watch Video Solution



https://dl.doubtnut.com/l/_ucKUgZti2elq
https://dl.doubtnut.com/l/_NLJ2PjKrt4M3
https://dl.doubtnut.com/l/_OudwelujB7Ry

15. Find the number of chemical species in which outer shell 'd' orbital is
having more than five electrons.

Ac, Cd, Zn, Sn, Cr, Pt, Ag

° Watch Video Solution

16. Find the number of transition elements in the following:

Zn,Cd, Hg, Pt,U, Sn

° Watch Video Solution

17. According to Hannay-Smith formula, if E.N difference between A and B

is 2.1, then A-B molecule is expected to have x% ionic character, find 10

value to the next integer.

° Watch Video Solution



https://dl.doubtnut.com/l/_GaYKDpufkoU9
https://dl.doubtnut.com/l/_bBesbfqYqWsA
https://dl.doubtnut.com/l/_4vjIqKdkYIcl

18. The element with the lowest atomic number that has a ground-state

electronic configuration of (n — 1)d°ns? is located in......period.

o Watch Video Solution

19. Find the total number of correct orders among the following.
(a) Order of electron affinity: S > O~

(b) Order of ionic radius: AI3t < Mg¢*" < O~

(c) Order of electronegativity: Si < P < C < N

(d) Order of atomicradius: O < C < § < Se

(e) Order of second ionization energy: C < N < F < O

(f) Order of ionicradii: S>~ < CI~ < K+ < Ca®**

o Watch Video Solution

20. Period number of Sc = z
Modern periodic table group number of T'I = x (according to 1 to 18

convention) Find the value of y-x


https://dl.doubtnut.com/l/_DX7UoQbEwZJT
https://dl.doubtnut.com/l/_SHyjOTwoVEdg
https://dl.doubtnut.com/l/_KziOeV3VUVJD

° Watch Video Solution

21.A" (g) — A(9)AH = — 2eV

2A(g9) — 2A* (g)AH = z Find the value of x in eV.

° Watch Video Solution

22. Number of unpaired electrons in Mn ™" = a
Number of d-subshell electrons in Cr = b
Number of f-subshell electrons in Hf (Atomic no = 72) = c Find the value of

C—-—b+a

° Watch Video Solution

23. The oxidation state of fluorine in Fj is x. Find value of |x|.

° Watch Video Solution



https://dl.doubtnut.com/l/_KziOeV3VUVJD
https://dl.doubtnut.com/l/_kIlfzmXe1Xz9
https://dl.doubtnut.com/l/_pQBOokQDSKmC
https://dl.doubtnut.com/l/_Ub0A6wtxzcHF
https://dl.doubtnut.com/l/_oq8vqlnvDMVO

24. Among the following number of elements, which are transition
elements are:

Ce, Nd, Sm,Yb, Ru, Th,U, Np, Am

° Watch Video Solution

25. The number of different possible oxidation states of fluorine in the

molecules [Fy, OF,, Oy Fy, HF| = t Find the value of t

° Watch Video Solution

26. How many of the following species have lower IE; value compared to
F?

CI~,Br ,0 , I

° Watch Video Solution



https://dl.doubtnut.com/l/_oq8vqlnvDMVO
https://dl.doubtnut.com/l/_FOMyvEBFmmC9
https://dl.doubtnut.com/l/_7JGXb7OVjvpR

27. The number of oxides which are expected to be neutral amongst the
oxides of nitrogen (viz. NO, NO, NO3, NyOy4, N;Os5) = x The number
of oxides which are expected to be more basic with respect to NiO

amongst MgO, SrO, K5O = y. Find the value of x+y.

o Watch Video Solution

28. What is the value of (n + [) for the unpaired e~ in an atom of an
element which is present in the 3rd period and seventeenth group of the

periodic table.

o Watch Video Solution

29. A monoatomic anion of unit charge contain 45 neutrons and 36
electrons. What is the atomic mass number of element and in which
group of periodic table does it lie? Write your answer as 1002 if answer is

10,2.
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https://dl.doubtnut.com/l/_CeeJkmRI1gu7
https://dl.doubtnut.com/l/_n4OKohmYI0iO
https://dl.doubtnut.com/l/_dlhafqB0yaDk
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30. If 3¢~ can be accomodated in each orbital then how many elements

will be present in the 7th period of periodic table?

° Watch Video Solution

31. How may elements will be present in the 12th period of periodic table.

° Watch Video Solution

32. Identify the number of pairs which have higher electronegativity
difference as compared to difference of Cs and F, Na and |, Li and F, H and

F,l1and Cl,Cadn O,Ba and S, C and Si.

° Watch Video Solution



https://dl.doubtnut.com/l/_dlhafqB0yaDk
https://dl.doubtnut.com/l/_nm8ZZUFklukB
https://dl.doubtnut.com/l/_RX1kciwhQIHC
https://dl.doubtnut.com/l/_NSrVzgQMk4ZR

